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<?xml version="1.0" encoding="UTF-8"?>
<MCCT INZOOIODUVOI ITSVersion="XML_l. 0" xsi:schemalocation="urn:hl7-org:v3 MCCI_IN2001000¥01. xsd” xmlns urn: th—org v3”
xmlns:xsi="http://www. w. ore/2001/XMLSchema—instance™
<id extension="N. 1. 2" root="2. 16. 840. 1, 113883, 3.089.2.1.3.22 />
{l— N.1.2: Batch Number —>
{creationTime value="20101214151617"/>
{l-~ N.1.5: Pate of Batch Transmission —>
{responseModeCode 'code="D"/> . v
{interactionld extension="MCCI_INZ00100UVO1l”,Toot="2.16.840. 1.113883.1.6%/>
{name code="N.1.17 codeSystem="2, 16.840, 1. 113883.3.989.2.1.1.1* codeSystemVersion="1.017/>
<4— N. 1.1: Type of Messages in Batch —> : .
{l— Message #1 —>
<PORR_ING49016UV>
<id extension="N.2.7.1" root="2.16.840.1.113883.3.988.2.1.3.1"/>
{l=— N.2.r.1: Message Identifier —>
 creationTime value="20101214151617°/>
<}— N.2.r.4: Date-of Message Creation —>
CinteractionId extension="PORR_IND49016UV" root= 2 16 840, 1, 113883 1. 6 "/
{processingCode code="P"/>
(process1ngModeCode code="1"/>
<acceptAckCode code="AL"/>
<receiver typeCode="RCY™>
<device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N.2,r.3" root="2.16.840. 1, 113883, 3.989.2. 1. 3.12"/>
<1— N.2.1.3: Message Receiver Identifier --) .
{/device>
{/receiver>
. {sender typeCode— SND™>
{device classCode="DEV" determlnerCnde— INSTANCE™>
<id extension="N.2.r.2" root="2.16.840. 1. 113883. 3.989.2.1.3.11"/>
<l— N.2.7.2: Message Sender Identifier —>
{/device>
{/sender>
{contrélActProcess classCode="CACI” moodCode="EVN">
{code code="PORR_TE049016UV" codeSysten="2. 16. 840 1.113883.1.18 /)
<!— HL7 Trigger Event ID -
(effectiveTime value=720101214151617" />
¢l— (.1.2: Date of Creation —>
<subjeet typeCode="SUBF">
{investigationEvent classCode="TNVSTG" moodCDde— EVN">
<id extensien="C.1.1” root="2, 16,840, 1. 113883.3.989.2.1.3.1"/>

-

wmo s e &l— @rlr 1i- Sender! s- {case)-Safety-Report-Unique—Tdentifier —)- e - e

<id extension="C.1.8. 1" root="2.16.840.1.113883.2.989.2.1.3.2"/>
¢!— €. 1.8.1: Worldwide Unique Case Identification Number —>
<id extension="J2. Ib” root="2.16.840. 1. 113883. 3. 980.5.1.3.2.3. 1"/>
<d— eeeyz. b HINES (BB —
{code code="PAT_ADY_EVNI” codESYStem— 2.16.840.1, 113883, 5,4"/>
{textPH. 1</ text>
{I— H,1: Case Narrative Including Clinical Course. Therapeutlc Measures, Outcome and Additional Relevant
. Information —> -

<statusCode code="active”/y
<I— B@aJ2.7.1 BT, RETES ~>
{effectiveTime>

<{low value="20090101"/>

<l— C.1.4! Date Report Was First Received from Source —>
{feffectiveTime> .
<availabilityTime value="20090101"/>
{1— C.1.5: Date of Most Recent Information for This Report —>
{reference typeCode="REFR™>

{document c¢lassCode="DOC" moodCode="EVN">

<code code="1" codeSystem="2. 16. 840, 1. 113883, 3.989. 2. 1. 1. 27" codeSystenVersion="1. 0"



displayName="documentsHeldBySendér” />
<titledC. 1.6, L. 1. 1</ title>
¢!— C.1.6.1.r.1: Documents Held by Sender (repeat as necessary) 1 —> -
<{text mediaType= app11catlon/pdf representation="B64">C. 1.6, L. r. 2</text>
<I—C 16 Lr.2: Included Documents 1 ——>
/document>
{/reference>
" <reference typeCode="REFR™>
<document classCode="DOC" moodCode="EVN">
- <code code="1" codeSystem="2.16. 840, 1. 113883, 3,989. 2. 1.1. 27" codeSystemYersion="1. 0
displayName=" documentsHeldBySender />
<titledC. 1.6 L r. 1</titled
. ¢|-— C.1.6.1.7.1: Documents Held by Sender (repeat as necessary) #2 —> -
<text mediaType="image/jpes” representat1on— "B64” compression="DF">C. 1. 6.1, . 2{/text>
<I—C. 1.6 1r2: Included Documents #2 —
</document>
</reference>
" <reference typeCode="REFR">
<document classCode="DOC” moodCode="EVN">
Ccode code="2" codeSystem="2, 16.840. 1. 113883, 3. 989, 2. 1. 1. 27" codeSystemVersion="]. 0"
displayName="1iteratureReference”/> : -
. <{title>J2.17.r</title>
<1— 8eeJz. 17.r HB MROIE 1 —> :
{text medialype=" application/pdf” representation= “B64"™ )C 4. 1. 2¢/texty
('—~ C.4.r.2: Included Documents #1 —>
<bibliographicDesignationText>C. 4. r. 1</b1blxograph1cDes1gnationText>
<l— C.4.r.1: Literature Reference(s) #1 —>
<{participation typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
{representedOrganization classCode="0RG" determlnerCode—'INSTANCE >
<aslocatedEntity- classCode="LOCE™>
" ¢location classCode="COUNTRY” determinerCode="TNSTANCE”> .
¢code code="J2.15.1" codeSystem="1.0.3166, 1.2 27/>
{l-- @OBJZ. 15.r AFEH #1 —>
¢/location> '
, </asLocatedEntity>
- </representedOrganization>
{/assignedEntity> )
{/participation> .
{/document> , : N
{/reference> '
¢referencé typeCode="REFR™>
{document c¢ldssCode="DOC” moodCode="EVN">
{code code="2" codeSystem~ 2,16, 840, 1. 113883. 3, 98%. 2. 1. 1. 27° codeSystemVersIon— 1. 0
dlsplayName— 1iteratureReference”/>
. <title>J2.17.r{/title>
C<l— @eagz. 17.r BB HIEOCLA B2 — .
<text mediaType="application/pdf” representat1on- 364 »odor. 2</text>
<!— C.4.r.2: Included Documents #2 —>
<bibliographicDesignationText>C. 4. r. 1(/blbllographches1gnat1onText>
¢!— C.4.r.1: Literature Reference(s) #2 —>
{participation typeCode="AUT™>
(assignedBntity classCode="ASSIGNED™>
{represented0rganization classCode="0RG" determlnerCode- INSTANCE™>
<asLocatedEnt1ty classCode="LOCE™>
{location classCodes"COUNTRY” determ1nerCnde— INSTANCE >
<code code="J2.15.1" codeSystem="1.0. 3166.1.2.2"/>
<|— @@@J2.15. v AX%E #2 —
</locationy :
{/asLocatedEntity>-
{/representedOrganization>
¢/assignedEntity>
{/participation>
{/document>
{/reference’
{component typeCode="COMP">
CadverseEventAssessment classCode="INVSTG” moodCode="EVN">
. <subjectl typeCode="SB]">
{primaryRole classCode="INVSB]">



<playerl classCode="PSN" determinerCode="INSTANCE">
<{name>D. 1{/name>
{l~~ D.1: Patient (name or initials} —-)
<adm1n1strat1veGenderCode code=" D 57 codeSysten="1.0.5218"/>
== D.5 Sex —>’
<birthTime value= 20090101'/)
<l-— D.2.1: Date of Birth —>
{deceasedTime value="20090101"/>
¢{{~=D.9.1: Date of Death —>
<asIdent1f1edEnt1ty ¢lassCode="IDENT">
{id estension="D.1.1.1" root="2. 16. 840. 1. 113883 3 989 2.1.3.7/0 .
{l— D.1.1.1: Patient Medical Record Number(s) and Source(s) of the Record Number (GP Medical
Record Bumber) —> - . .
: {code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989.2. 1. 1. 4" codeSystemVersion="1. 0"
displayName="GP” /> ’ .
¢/asldentifiedEntity>
. <asldentifiedEntity classCode="IDENT™>
<id extension="D.1.1.2" root="2. 16.840.I. 113883. 3. 989.2. 1. 3 8"/
. ¢l— D.1.1.2: Patient Medical Record Number(s) and Source(s) of the. Record Number (Spec1a11st
Record. Number) —>
. <code code="2" codeSystem=" 2 16. 840 1.113883. 3. 989, 2 1.1.47 codeSystemVers1on= 1.0"
" displayName="Specialist”/> ’
{/asldentifiedEntity>
<asIdentifiedEntity c¢lassCode="IDENT"> .
" <id extension="D. 1.1.3” root="2.16.840.1,113883. 3. 989, 2.1.3.9"/> M
<!—— D.1.1.3: Patient Medical Record Number(s) and Source(s) of the Record Number (Hospltal Record
-Number) —>
{code code- 3" codeSystem‘ 2.16,.840:1.113883.3.989.2,1. 1. 4 codeSystemVer51on= 1.07
dlsplayName— Hospital Record”/»
{/asldentifiedEntity>
{asldentifiedEntity classCode=" 1DENT” >
<id extemsion="D. 1. 1.4" root="2.16.840. 1. 113883, 3. 984. 2. 1. 3. 10" />
. LDl 4 Patient Medical Récord Niumber (s) and Source(s) of the Record Number (Invest1gat10n
Number) —>
{code code="4" codeSystem— 2.16.840.1.113883.3.989.2.1. 1. 4" codeSystemVer31un— 1.0"
dlsplayName— Investigation”/> -
</asldentifiedintity> '
<role classCode="PRS™>
<epde codes"PRN” codeSystem="2. 16. 840. 1. 113883. 5. 1117/>
{associatedPerson classCode="PSN” determinerCode="INSTANCE™>
<name>D, 10, 1</name>
- . <l— D.10.1: Parent Identification —>
t {administrativeGenderCode code="D. 10, 6" codeSyster="1.0.5218"/>
<!— D.10.6: Sex of Parent —
<birthTime value="20090101"/>
{l— D.10.2.1: Date of Birth of Parent —->
- </associatedPerson>
{subject0f2 typeCode="SBI">
<observation classCode="0BS" moodCode="EYN">
{code code="3" codeSystem="2.16, 840. 1. 113883. 3. 989. 2. 1. 1. 197 codeSystemVersion="1.1"
displayName="age” /> . .
: ¢value xsi:type="PQ" value="10" unit="D.10.2, 2b"/>
{I— D.10. 2. 2a: Age of Parent (number) —>
<{I— D.10.2.2b: Age of Parent (unit) —=>
</ohservation®
</subjectOf2>
{subject0f2 typeCode— SBI*>
<observation classCode="0BS” moodCode="EVN">
. {code code="22" todeSystem=" 2. 16. 840, 1, 113883, 3. 989 2.1.1.19" codeSystemVer51on— 117
displayName="1astMenstrualPeriodDate™/>
<value xsiltype="TS" value="20050101"/>
¢1— D.10.3: Last Menstrual Period Date of Parent —>
{/observation>
{/subjectOf2> R
{subject0f2 typeCode="SB]">
- {observation classCode="0BS” moodCode="EVN™>
. {code code="7" codeSystem="2. 16. 840, 1. 113?83.3.989.2.1.1.19' codeSystemVersion="1.1"
displayName="bodyWeight”/> ‘ C
L <value xsi:type="PQ" value="50" unit="kg"/>



"¢1—— D.10.4: Body Weight (kg) of Parent —>
</observation?
- {/subject0f2>
{subject0f2 typeCode="SB]">
{observation classCode="0BS" moodCode="EVN">
: i ] (code code="17" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1 197 cadeSystemVer51on— 1.17
displayNatie="height”/>
- <value xsi:type="PQ" value="160" wnit="cm"/>
<!— D.10.5: Height (cm) of Parent —>
- {/observation?
{/subject0f2>
<subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="] EVN"> - :
. ¢code code="1" codeSystem="2. 6. 840, 1.113883. 3.989.2. 1. 1. 20 codeSystenVersion=" 1 0"
displayName=”relevantHedicaIHistoryAndConcurrentCond1t1ons />
{componént typeCode="COMP">
<observation classCode="0B5" moodCode="EVN™>
<code code="D. 10.7.1.r.1b" codeSystem="2. 16. 840. 1. 113883. 6, 163
" codeSystenYersion="D.10.7.1.r.1a"/>
{d— D, 10. 7. 1.x. 1a: MedDRA Version for Medical History #1 —>
<= D,10.7. L. 1. 1b: Medical History (disease / surgical procedure/ ete.) (MedDRA code) #1 -

LeffectiveTime xsi:type="IVL_T8">
<low value="200901017/>
¢!— D.10.7.1.1.2: Start Date #1 —>
<high value="20090101"/>
<1-— D,10.7. 1.r.4: End Date #1 —>
</effectivelime>
{putboundRelationship2 typeCode— COMP™>
{observation classCode="0BS" moodCode="EVN"> -
<code code="10" codeSystem="2, 16.840: 1. 113883, 3.989. 2.1.1.19” codeSystemVersion="1.1"

displayName="comment”/> B . .
<value xsi:type="ED">D, 10.7. L. r.5¢/value>
¢{l— D.10.7.1l.r. 5! Comments #1 —>
{/obgervation>
¢/outboundRelationship2>
{inboundRelatienship typeCode="REFR™>
N . <observation classCode="0BS" moodCode="EVN"> _
. {code code— 13" codeSystem="2. 16. §40. 1. 113883. 3. 989 2 l 1. 19" codeSystemVersion="1.1"
displayName="continuing”/> )
¢value xsi:type="BL” value="true"/»
<l— D.10.7.1.r. 3: Continuing #1 —>
‘ </observation>
" </inboundRelationship>
. ¢{/observation>
{/component>
{component typeCode="COMP“>
¢chservation classCode="| DBS moodCode=" EVN >
{eode code="D. 10. 7 1.1 1567 codeSystem— 2. 16. 840, 1. 113883. 6. 163"
codeSystemVerslon— "D.10.7. L.r. 1a"/>
¢J— D.10.7.1.r. lat MedDRA Yersion for Medical History #2 ——>
{1~ [.10.7. 1. r. 1b: Medical History (disease / surgical procedure/ ete.) (MedDRA code) #2 -

¢effectiveTime xsi:type="IVL_TS™>

Clow value="20080101"/>

¢<I-—— D.10.7.1.r.2: Start Date #2 —>

<high value="200901017/

<= D.10.7.1.1,4: End Date #2 —>
{feffectiveTime> _ :
{outhoundRelationship2 typeCode="COMP™> -

{observation classCode="0OBS" moodCode= "EVN"> . .
. <code code="10" codeSystem="2. 16, 840. 1. 113883. 3.989. 2. 1.1, 19" codeSystemVersion="1:l’
displayName="comment” /> ,
' Cvalue xsi:type="ED">D. 10.7.1.r.5</value>”

<l— D.10.7.1.1.5: Comments #2 —>

{/observation>
</outhoundRelationship2>
<inboundRelationship typeCode="REFR">

(observation classCode="0B3" moodCode="EVN">



. <code code="13" codeSystem="2. 1. B40. 1. 113883.3.989. 2.1, 1. 19" codeSystenVersion="1. 1
displayName="continuing”/> -
<value xsi:type="BL” value="true”/>
¢l-= D.10.7.1.r.3: Continuidg #2 —>
{/observationd
</inboundRelationship>
</observation>
{/component?
{component typeCode="COMP™>"
<observation classCode="0BS" moodCode="EVN™>
{code code="18" codeSysten="2. 15 840. 1. 113883. 3.989. 2, 1 1.19" codeSystemVers1on— .17
dlsplayName— historyAndConcurrentConditionText”/> !

. <value xsi:type="ED">D.10.7. 2</value> .
{!— D.10.7.2: Text for Relevant Med1cal History and Concurrent.Conditions of Parent —»
{/observation>
{/component>
{/organizer>
’ </subJect0f2> o

<subject0f2 typeCode="SBI">
{organizer classCode="CATEGORY" moodCode="EVN"> :
{code code="2" codeSystem="2.16. 840,1. 113883.3.989, 2. 1. 1. 20" codeSystemVersion="1.0"
displayName="drugHistory”/>
{component typeCode="COMP">
{substanceAdministration ¢lassCode="SBADM” moodCode="EVN">
{effectiveTime xsi:type="IVL TS">’
<low value="20090101"/> ) ‘
<l— D.10.8.r.4: Start Date #1 —>.
<high value="20000101"/> - .
¢!— D.10.8.r.5: End Date #1 —> .
{/effectiveTimer .
{consumable “typeCode="CSM">
<instanceOfKind classCode="INST">
<kind0fProduct classCode="MMAT” determinerCode="KIND">
<code code="D, 10, 8.r. 2b" codeSystem="TBD-MPID" codeSystemVersion="D. 10. B.1. 2a°/>
<!— D, i0.8.1.2a: MPID Version Date / Number #1 —>-
{!=~ D.10.8. 1. 2b: Medicinal Product Identifier (MPID) #1 —>
{name>D. 10. 8. r. 1</name> '
<]l— D.10.8.7.1: Name of Drug as Reported i1 —>
</k1nd0fProduct)
</instance0OfKind> ]
</consumable> Ty
<outhoundRelationship2 typeCode="RSON">
{observation classCode="0B5" moodCode="EVN">
. <code code="19" codeSystem— 2. 16, B40, 1. 113883. 3, 989, 2 1. 1 19" codeSystemVersion="1.1"
displayName="indication”/>
. {value xsiitype="CE” code="D. 10.8.r.6b" codeSystem="2. 16.840. 1. 113883. 6. 163"
codeSystemVersion="D. 10. 8. r. 6a” /> ' . ) ) .
¢!— D.10.8,r, 6a> MedDRA Version for Indication #1 —>
<I— D.10.8.r1.6b: Indication (MedDRA code) #I —>
- {/observation>
{/outboundRelationship2> - .
<outboundRelaticnship2 typeCode="CAUS™>
<observation classCode="0BS" moodCode="EVN"> .
{code code="29" codeSystem="2.16.840. 1. 113883, 3.989, 2.1. 1. 197 codeSystenVersjon="1.1"
displayName="reaction”/> ) )
. {value xsi:type="CE” code="D. 10.8.r. 7Th” bodeSystem="2.16. 840. 1. 113883, 6. 163"
codeSystemVersion="D. 10. 8. r. 7a"/> ! . ' - ’ .
<l— D.10.8.r.7a: MedDRA Version for Reaction #1 —> -
<l~= D.10.8.1.7b: Reactions {MedDRA code) # —>
{/observation>
</outboundRelationship2>
{/substanceAdministration>
{/component>
{component typeCode="COMP“>
{substanceAdministration classCode- "SBADM” moodCode="EVN™>
{effectiveTime xsi:iype="IVL_TS">
<low value="20090101"/> =,
<l==D.10.8.1.4: Start Date #2 —>
<high value=’20090}01”/)



(t--D.10.8.1.5: End Date #2 ~—>
. {/effectiveTime> -
I <consumable typeCode="CSM" ) . . i
(instance0fKind classCode="INST">
<kindDfProduct classCode="MMAT" determinerCode="KIND"> » :
<code code="D. 10, 8. r. 3b” codeSystem="TBD-PhPID" codeSystemVersion="D: 10 8.r.3a"/>
¢!— D.10.8.r. 3a: PhPID Version Date / Number #2 —> '
<I— D.10.8.r. 3b: Pharmaceutical Product Identifier (PRPID) #2 —>
<name>D. 10. 8. ri 1{/name>
<!—.D.10.8.r.1: Name of Drug.as Reported #2 -->
{/kind0fProduct> R '
</instance0fKind> - .
{/consumable> ’ ' N
* <outhoundRelationship? typeCode="RSON">
{ohservation classCode="0BS” moodCode="EVN">
o {code code— 19" codeSystem— 2. 16 840,1.113883,3.989.2.1.1.19" codeSystemVers1on— 11"
displayName="indication”/>
. {value xsi:type="CE" code="D. 10, 8. 1. 6b” codeSystem= 2.16.840. 1. 113883, 6. 1637
codeSystemVersion="D. 10. 8, r. 62" /> . :
. .{l— D.10.8.r.6a: MedDRA Version for Indication #2 —>
¢!— D.10.8.r.8b: Indicatjon (HedDRA code) #2 —>
</observation>
(/outboundRelat1onsh1p2>
<outboundRelatidnship? typeCode="CAUS™>
{chservation classCode="0BS” moodCode="EVN">
. {code code="29" codeSystem="2, 16, 840. I.113883.3.989.2.1.1.19" codeSystemVersion="1.1"
displayName="reaction”/> _ - . . . v
<valué xsi:type="CE" code="D.10.8. r.7b" codeSystem="2.16.840. 1. 113883, 6, 163"
codeSystemVersion="D; 10,8.r. 7a"/> : : ) : )
: ¢!— D.10.8.r.Ta: MedDRA Version for Reaction #2 —> .

<!— D.10.8.r. 7b: Reactlnns (MedDRA code) #2 —>
{/observation>

{/outboundRelationship2>
{/substanceAdministration>
{/component>
{/organizer> - : ’ ~
{/subjectOf2> \
{/role> ’
{/playerl>
<subjeetOf1 typeCode="SB]™>
<researchStudy classCode="CLNTRL" moodCode="EVN">»
" <id extension="C,5.3" root="2.16.840. 1. 113883.3.989.2. 1. 3 575
¢l— C.5.3: Sponsor Study Mumber -=>
code code="C.5.4" codeSystem="2, 16. 840. 1. 113883 3.989,2,1.1.87 codeSystemVer51on— 1.0"/>
“¢l= C,5.4: Study Type Where Reactlun(s) / Event(s) Were Observed —>
CtitledC. 5. 2¢/titled , -
{!— C.5.2: Study Name —>
Cauthorization typeCode="AUTH">
{studyRegistration classCode="" AT moodCode="EVN">
- &id extension="C.5.1.r.1" root="2.16. B840, 1.113883.3.989.2,1.3. 6’/)
¢1—- C.5 1.r.1: Study Registration Number #1 —>
Cauthor typeCode="AUT"> s
{territorialAuthority classCode="TERR™> .
{governingPlace classCode="COUNTRY” determinerCode=" INSTANCE™>
{code code="C.5.1.1.2" codeSysten="1.0.3166,1.2.2"/>
¢l €.5,1.r.2: Study Registration Country #l —>
{/governingPlace>
{/territorialAuthority>
{/author> . - -

{/studyRegistration> o . .
{/authorization? ) -
<authorization typeCode="AUTH">-

{studyRegistration classCode="ACT” moodCode="EVN">

{id extension="C.5.1.r.1" root="2. 16, 840, 1. 113883. 3. 989. 2. 1. 3.6"/>
¢l=-~ C.5.1.x.1 Study Registration Mumber #2 —>
<author typeCode="AUT™>
(territorialAuthority classCode="TERR™>
<governingPlace classCode="COUNTRY” daterminerCode="INSTANCE">
{code code="C.5.1.x. 2" codeSystem="1.0.3166.1.2,2"/>



<|—— C.5.1.r.2! Study Registration Country #2 —>

{/governingPlace>
</territorialAuthority>
{/author> .
{/studyRegistration>
</authorization>
{/researchStudy>
{/subjectOf1> ' .

© {subject0f2 typeCode="SB]"> -
{observation ¢lassCode="0BS” moodCode="EVN™>
) <code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1 197 codeSystemVers1on— 1.1
displayName="age”/>
. <value xsi:type="PQ" value="10" unit="D.2.2b"/>
<!— D.2.2a: Age at Time of Onset of Reaction / Event (number) —)
£I— D.2.2b: Age at Time of Onset of Reaction / Event (unlt) —
</observation>
{/subject0f2>
¢{subject0f2 typeCode="SB]">
{observation classCode="0BS" moodCode="EVN">
{code code="18" codeSystem="2. 16.840. 1. 113883.3.980.2.1. 1, 19" codeSystemVerslon— .1
displayName="gestationPeriod” />
<value. xsi:type="PQ” value="10" unit="D. 2. 2.1b"/>

<1— D.-2,2 la: Gestation Period When Reaction / Event Was Observed in the Foetus (humber) —>
<!— D.2.2,1b: Gestation Period When Reaction / Event Was Observed in the Foetus (unit) —

{/observation®
{/subject0f2’
{subjectOf2 typeCode="SBJ">
{observation classCode="0BS" moodCode="EVN" )
+<code code="4". codeSystem="2. 16, 840. I, 113883, 3, 980. 2. 1. 1. 19" codeSystemVersion="1.1"
dlsplayNale— ageGroup />
. <{value xsi: type— "CE” code="D. 2. 3" codeSystem="2. 16.840. 1. 113883, 3.989. 2: 1. 1.9~
cndeSystemVer51on— 1.0%/> : a
¢l— D, 2.3: Patient Age Group (as per reporter) —>
</observat10n> E
</subject0f2> : _ : ‘
{subject0f2 typeCode="SB]™> :
{observation classCode="0BS" moodCode="EVN"> . ]
<code code="7" codeSystem="2.16.840.1.113883.3.989.2.1.1.19' codeSystenVersion="1. 1"
dlsplaythem budyWelght > . . ‘
{value xsi:type="PQ” value— 48.2" unit= kg'/)
<I— D.3: Body Weight (kg) —>
</cbservation> .
</sub1ect0f2>
<subject0f2 typeCode="SBI">»
<observation classCode="0BS" moodCode="EVN"> .
<code code="17" codeSystem="2.16.840.1. 113883.3.989.2.1, 1. 19" codeSystemVersinn=”1,1”

-

displayName="height”/> )
. <value xsi:type="PQ" value="152" unit="cm"/>
<l— D.4: Height (cm) ~->
{/observation>
{/subjectQf2> .
{subjectOf2 typeCode="SB]"> . .
{observation classCode="0B5" moodCode="] EVN >
{code code="22" codeSystem="2. 16.840. 1. 113883. 3. 989 2,1.1,19" codeSystemVerslon— 1.1"
-djsplayName="1astMenstrualPeriodDate”/> i
<value xsi:type="TS” value» 20090101’/) '
¢l-- D.&: Last Menstrual Period Pate ——)
{/observatien>
{/subjéct0f2>”
{subject0f2 typeCode— SBI">
{organizer classCode="CATEGORY” moodCode- EVN™>
<code code="1" codeSysten="2. 16, 840, 1. 113883. 3. 989, 2. 1. 1. 20 cndeSystemVerslon— 1,07
displayName="relevantMedicalHistoryAndConcurrentConditions”/>
<component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN” >

{code code="D.7,1.1.1h" codeSystem=" 2.16.840. 1. 113883. 6. 163" cndeSystemVersion=”D.7.l.r.1a’/>

{I~—D.7. 1.r.1a: MedDRA Version for Medical History #l —>

<d—D.7. 1.r. 1b: Medical History (disease / surglcal procedure / etc.) (MedDRA code) #—>

<effectiveTine xsi:type="IVL_TS™>



{low value="200901017/>
{d— D.7.1. 1. 2: Start Date #1 —>
<high value="20090101"/>
(== D.7.1.r. 4! End Date 1 —>
{/effectiveTime>
{outboundRelationship2 typeCode="COMP">
<observation classCode="0BS" moodCode="EVN">
: <code code="10" codeSystem="2. 16. B40. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment”/> - . :
) {value xsi:type="ED">D.7.1.r.5¢/value>
¢|— D.7.1.r.5: Comments §1 -->
¢/observationy .
{/outboundRelationship2>
<outhoundRelationship2 typeCode="EXPL">
<observation classCode="0BS" moodCode="EVN"> .
4code code="38" codeSystem="2. 16.840. 1, 113883.3.989.2.1.1, 19" codeSystenVersion="1.1"
displayName="faumilyHistory”/> .
<value xsi:type="BL" value="true”/>
Ad—D0.7,1.r.6: Fanily Hlstory #1 —>
{/observation>
</outboundRelationship2>
{inboundRelationship typeCode="REFR"> ’ : : .
{observation classCode="0BS" moodCods="EVN">
. (code code="13" codeSystem— 2. 16. 840. 1. 113883, 3. 989, 2 1. 1 19" codeSystemVersion="1.17
displayName="continuing”/>
{value xsi:type="BL” velue="true”/>
{!— D.7.1.r.3: Continuing #1 —>
¢/observation>
{/inboundRelationship>
</observation>
{/component> .
{component typeCodeﬂ COMP™>
{observation classCode="0B5" moodCode="EVN™>
{code code="D.7.1.r.1b" codeSysten="2. 16. 840.1. 113883, 6. 163" codeSystemVersion="D.7:1.r.la”/)
¢}— D.7.1.r. 1a: MedDRA Version for Medical History §2 —>
<l— D.7.1.r. 1b: Medical history (disease / surgical procedure / ete.) (MedDRA code) §2 —>
. {effectiveTime xsi:type="IVL_TS">
low value="20090101"/>
¢}~ D.7.1.r.2: Start Ddte #2 —>
<high value="200801017/> - i
<{— D.7.1.r.4: End Date #2 —>
¢feffectiveTimed>
<outboundRelationship2 typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
] <code code="10" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment” /> . Lo - :
<value xsi:type="ED">D.7.1.1. 5¢/value
¢l— D, 7.1L.1. 5 Comments #2 —>
- ¢/observation
{/outboundRelationship2>
<outboundRelationship2 typeCode="EXPL">
{observation ¢lassCode="0B3" moodCode="EVN™>
{code code="38" codeSystem="2, 16. 840. 1. 113883. 3. 989, 2. 1. 1, 19" codeSystemVersion="1.1"
displayName="familyHistory”/> -
¢value xsiltype="BL” value="true”/>
UﬂDJJJﬁ.hthwmw#2">
: {/observation>
{/outboundRelationship2>
<inboundRelaticnship typeCode="REFR" >
{observation classCode="0BS” moodCode="EVN" >
{code eode="13" codeSystem="2. 16. 840 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="continuing”/> . N - .
<value xsi!type="BL” value="true”/>
v &l=-D,7.1.r.3: Continuing §2 —>
{/cbservation>
{/inboundRelationship>
{fobservationd
¢/component> -
<component typsCode="COMP">



{observation classCode="0BS” moodCode="EVN™> '
<code code="18" codeSystem="2. 16. 840. 1, 113883. 3. 989, 2. 1. 1. 19" codeSystemVEISIOn— .17
displayName=" h1storyAndConcurrentCondlt1onText /> -
<value xsiitype="ED">D.7.2¢{/value} -
. {l— D.7.2: Text for Relevant Medical History and Concurrent Cond1t10ns (not including reaction.
/ event) —>
{/observation>
</component>
{component typeCode=" CDMP > :
{observation classCode="0BS” moodCode="EVN"}
: {code code="11" codeSystem="2. 16. 840. 1, 113883, 3.989. 2. 1. 1. 19” codeSystemVersion="1.1"
d1splayName— concomitantThetrapy”™/>
<value xsi:type="BL" value="true"/>
<I— D.7.3: Concomitant Therapies —
{/ohservation) -
</component>
K/organizer>
<&/subject0f2>
{subject0f2 typeCode="SBI">
<organizer classCode="CATEGORY” moodCode="EVN™> °
] {code code="2" codeSystemr 2. 16. 840. 1. 113883. 3. 989. 2, 1. L 20" codeSystemVersion="1. 07
dlsplayName— drugﬂlstory il
{component typeCode— COMP™> . .
{substanceAdministration clagsCode="SBADM" moodCode="EVN” >
. <effect1veT1me xs5i:type="IVL_TS™>
<low ‘value="20090101"/>
{l— D.8.r.4: Start Date #1 —>
<high value=" 20090101 )
<l— D.8.1.5: End Date #1 —>
effectiveTime>
{consumable typeCode="CSM™>
{instance0fKind classCode="INST">
" <kindOfProduct classCode="MMAT" determimerCode=" "KINDT> -
{eode code="D.8.r. 2b" codeSysten="TED-MPID" codeSystemVer51on— D.B.r.2a"/>
<|— D.8.r.2a: MPID Version Date / Nuwber §1 —>
<l-- D.8.r.2b: Medicinal Product Tdentifier (MPID) #1 -->
<{name>D. 8. 1. 1{/name>
¢l— D.B.x.1: Name of Drug as Reported #1 —>

v

</kind0fProduct>
</instance0fKind> )
{/consunable> oo BN
{outboundRelationship2 typeCdde— RSON"> - - '
{observation classCode="0BS" moodCode="EVN"> .

{code code="19" codeSystem="2.16.840. 1. 113883,3.989.2.1.1.19" codeSystemVersion="1. 1"
displayName="indication”/> : ) .
<value xsi:type="CE" code="D.8.r.6b" codsSystem="2.16.840; 1. 113883. 6. 163"
codeSystemVersion="D. 8. r.6a"/> Lo
{I— D.8.r.6a: MedDRA Version for Indication #1 ~-> |
<l-- D.8,r.6b: Indication (HedDRA cnde) #l —>

{/observation®
{/outboundRelationship2>
<outboundRelationship2 typeCode="CAUS">
{observation classCode="0BS" moodCode="EVN"> .
{code code="29" codeSystem="2.16.840. 1. 113883. 3.989. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/> : ’
! *{value xsi:type="CE" code— D.B.xr. 7b" codeSystem— 2. 16 B40, 1. 113883. 6. 163"
codeSystemVer31on— D.8.x.7a"/>
d-=D. 8.r. 7a: MedDRA Version for Reactlon # —>
{1— D.8.r. 7h: Reaction (MedDRA code} #1 —> ’
{/observation®
</outboundRelationship2>
{/substanceAdministration .
<{/component > ’
{component typeCode="COMP">
{substanceAdministration classCode="SBADM" moodCode="EVN">
<effectiveTime xsi:type="IVL_TS">
<low ‘value="20090101"/>
¢{l— D.8.r.4: Start Date #2 —
<high value="20000101"/>



¢}— D.8.1r.5: End Date #2
</effectiveTime>
{consumsble typeCode="CSM™>
{instance0fKind classCode="INST">
- <kindOfProduct classCode="MMAT" determinerCode="KIND">
{code code="D,B,r.3b" codeSystem="TBD-PhPID" codeSystemVersion="D. 8. r.3a"/>
- €l—D.8.1.3a: PhPID Version Date / Number —>
{I— D.8.7.3b: Pharmaceutical Product Identifier (PhPID) #2 ——
<name>D. 8. r. 1{/name>
N |- D.8.r.1: Name of Drug as Reported #2 —> _
{/kind0fProduct>
{/instance0fKind>
{/consumable>
<outboundRelationship2 "typeCode="RSON"> -
{observation classCode="0BS” moodCode="EVN"> )

. <code. code="19" codeSysten="2.16. 840. 1. 113883. 3. 889. 2. . 1. 19”. codeSystenVersion="1.1""
displayName="indication”/> : ) : )
' . {value xsi:type="CE” code="D.8.r.6b" codeSystem="2.16.840. 1. 113883, 6. 163"

codeSystemVersion="D.B.r.6a"/> _ - . s :
R <)== D.8,1.6a: MedDRA Versiow for Indiecation #2 —>
<l— D.8.1.6b: Indication (MedDRA codé) #2 —>
</observation? - '
{/outboundRelationship2> . )
<outhoundRelatienship2 typeCode="CAUS” > ) . . .
"Cobservation classCode="0BS" moodCode="EVN"> :

{code code="29" codeSystem="2.16.840.1, 113883.3.989.2,1.1. 19" codeSystemVersion="1.1"
displayName="reaction”/> . :
: <¢yalue xsi:type="CE” code="D.8.r.7b" codeSystem="2. 16.840.1, 113883. 6. 163"
codeSystenVersion="D. 8.1.7a"/> '~ :

yo <!j- D.8.r.Ta: MedDRA Version for Reaction #2 —->
<|— D.8.1.7h: Reaction (MedDRA code) #2 —>
{/observation>

</outboundRelationship2>
{/substanceAdministration>
</component> '
{/organizer>
- {/subject0f2>
<subject0f2 typeCode="SBI">
{observation classCode="0B5" moodCode="EVN™>
<code code="32" codeSystem="" 2. 16, 840. 1. 113883.3.989.2. 1. 1. 19 codeSystemVer51on— 1. 1
disp]ayName='reportedCause0fDeath />
<value xei:type="CE” code="D.9.2.7.1b" codeSysten="2, 16. 840, 1.113883.6.163”
codeSystemVerszon— D..9.2.r. 1a">
<|— D.9.2.r.1a: HedDRA Version for Reported Cause(s) uf Death #1 —
<|— D.9.2 r.1b: Reported Cause(s) of Death (MedDRA code) #1 —> -
{originalText>D. 8, 2, r. 2{/originalText> ’

<—D.9.%r1.2: Reported Cause(s) of Death (free text) #1 -
{/value> .
. {/observation?
</subject0f2>

<subject0f2 typeCode="SB]">-
{ohservation classCode="0BS" moodCode="EVN" )
" eode code="32" codeSystem="2.16.840.1. 113883;3,989,2.1. L. 19 codeSystenVersion="1.1"
dlsplayName— "reportedCause0fDeath”/>
{value xsi:type= “CE” code— D, 9.2, r. 1b"- codeSystem— 2.16. 840 1.113883. 6. 163™
’ codeSystemVersion="D.9.2.1.1a™> ~ .
¢f==D.9.2.7.1a: MedDRA Vers1on for Reported Cause(s) of Death #2 —>
{I— D.9.2. 1. 1b! Reported Cause(s) of Death (MedDRA code) #2 —>
CoriginalText>D, 9, 2. r. 2{/originalText>
U—DJJJJ-anwCMﬂ&)ﬁﬂmm(ﬁwtﬂﬂ#2“>
<{/valde>
{fobservation?
{/subject0f2> |
{subject0f2 typeCode="SB]">
<observation classCode="0BS" moodCode- EVN™>
{code code="5" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
d1sp1ayName— autopsy” />
<yalue xsiitype="BL” value="true”/>
¢|— D.9.3 Was Autopsy Done? —



<uutboundRelationshiﬁ2 typeCode="DRIV">
{observation classCode="0BS" moodCode="EVN"> .
' <code code="8" codeSystem="2. 16. 840. 1. 113883. 2. 989. 2. 1 1.197 codeSystemVerslon~ 1.17
displayName="causeOfDeath”/> :
{value xsiitype= "CE” code="D. 9. 4 r. 1b” codeSystem— 2. 16. 840 1.113883. 6. 163
codeSystemVersion="D. 9. 4. 1. 1a">
. <1— D.9.4.r.1a: HedDRA Version for Autopsy—-determined Cause(s) of Death #1 —>
<}—= D. 9. 4.r.1b Autopsy-determined Cause(s) .of Death (MedDRA code) Bl —>
<originalText>D.8.4.r. 2</originalText>
- D9.4r2: Autopsy—determlned Cause(s) of Death (free text) #l —
{/value>
* : {/observation>
’ {/outboundRelationship2> )
<outboundRelationship2 typeCode="DRIV">
{observation classCode="0BS” moodCode="EVN">
* Leode' code="8" -codeSystem="2. 16. 840. 1. 113883: 3. 989, 2. 1 1.19" codeSystenVersion=" 1 1"
dlsplayName— causeOfDeath Wi
‘{value xsi: type— “CE” code— D.9.4.r. 1b7 codeSYstemh 2,16, 840, 1. 113883. 6. 163"
'codeSystemVer51on— D.9, 4. r.1a"> |
<I— D.9.4.r. 1a: MedDRA Vers1on for Autopsy-determined Cause(s) of Death #2 —>
¢l== D.9.4. 1. 1b Autopsy-determined Cause(s) of Death (MedDRA code) #2 —>
{originalText>D. 9. 4. 1. 2¢/original Text>
{I—D9.4r2: Autopsy—determ1ned Cause(sy of Death (free text) #2 -
</value> . -
{/observation> . :
{/outboundRelationship2>
-</oh§ervation>
</subject0f2> .
{subject0f2 typeCode- SB]™>
{observation classCode="0BS" moodCodé=" EVN > -
{id root="154eb8B9-058b-45f2—-a02f-42d4d6f4667F" />
, <code cods="28" cudeSystem— 2.16. 840, 1. 113883, 3,989, 2. 1. 1. 19" codeSystemVers1on~ 1. 1
displayName="reaction”/>
{effectiveTime xsiitype="IVL_TS™>
{low value="20090101"/>
“{!—'E.i. 4 Date of Start of Reaction / Event #1 —>
<high value="200901027/> - ’
¢l—— E.1i.5: Date of End of Reaction / Event #1 —> .
{feffectiveTimed ' ’
] ’ {value xzsi:type="CE” code="E. 1,2, 1b" codeSyster="2. 16. 840. 1. 113883. 6. 163"
. codeSystemVersion="E. i. 2. 1a">
. «l== E.i.2 1a: MedDRA Version for Reaction / Event #1 -
{l=- E.i. 2. 1b: Reaction / Event (MedDRA code) H1 —>
{originalText language="E.1i.l.1b">E.i.1: la{/originalText>
<l=~ E.i. 1. la: Reaction / Event as Reported by the Primary Source in Native Language #1 -—)
- ¢|— E.i.1.1b: Reaction / Event as RepDrted by the Prlmary Spurce Lahguage #1 —> ’
{/value>
<location typeCode=" LOC ?
{locatedEntity classCode="LOCE">
{locatedPlace classCode="COUNTRY” determlnerCode~ INSTANCE™> -
{code code="E.i.9" codeSystem="1,0.3166.1.2.27/>,
<!— E.i.9: Identification of the Country Where the Reaction / Event Occurred #1 -
</locatedPlace’
{/locatedEntity>
</location> .
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
<code code="30" codeSystem— 2. 16, 840. 1. 113833 3.989.2.1. 1. 19 codeSystemVer51on— 1.1
d1splayName— reactlonForTranslat1on />
Cvalue xsiitype= "ED"E. i. 1. 2¢/value>
{J—E.il2 Reagtlon / Event as Reported by the Primary Source for Translation 1 —
{/cbservation> ’
<{/outboundRelationship2>
{outboundRelationship2 typeCode— PERT M
{observation classCode="0BS” moodCode="EVN">
{code code="37" codeSystem="2, 16, 840, 1. 113883 3.989.2.1. 1. 19 codeSystemVersion="1.1"
displayName="termHighlightedByReporter”/>
<value xsittype="CE” code="E.i.3.1” codeSystem="2,16.840. 1. 113883. 3,989, 2. 1. L. 10"
codeSystenVersion="1.0"/> t.



)=~ E.i.3.1: Term nghllghted by the Reporter #1 -
{/cbservation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0B3" moodCode="E¥N">
{code code="34" codeSystem="" 2 16.840.1.113883.3.989.2. 1. 1. 19" codeSystemVersion="1.1"
dlsplayName- resultsInDeath™/> -
{value xsi!type="BL” value— true” /> .
¢l=~ E.i.3.2a: Results in Death #1 —> . RS
{/observation? :
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™> .
{observation classCode="0BS" moodCode="EVN">
{code code="21" codeSystem="2. 16. 840. 1.113883.3.989.2. 1.1, 19 codeSystemVersion="1, 17
dlsplayName— isLifeThreatening”/> ] D
<value xzsi:type="BL" nullFlaver="NI"/>
¢l— E.i.3.2b: Life Threatening #1 —>
. </observation>
{/outboundRelationship2> .
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™> )
{code code="33" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 17
displayName="requiresInpatientHospitalization”/> : ’
{value xsi:type="BL" value="true”/>
¢{l— E.i.3.2¢c: Caused / Prolonged Hospltal1sat10n #1 —>
</observationd
</outboundRe1at10nsh1p2>
<outboundRelat10nsh1p2 typeCode="PERT">
<observation classCode="0BS” moodCode="E¥N"> . ..
{code code="35" codeSysten="2. 16, 840. 1. 113883, 3 089; 2.1, 1. 19 codeSystemVersion=’1.1’
displayName="resultsInPersistent0rSignificantDisability”/> - B
’ {value xsi:type="BL* nullFlavor="NI"/>
{l—E.i,3.2d: Dlsabllng / Incapacitating #1—>
¢/observation>
</outboundRelationship2>
<outhoundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
{code code="12" codeSystem="2. 16, 840. 1. 113883, 3,989, 2. 1. 1. 19° codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefect”/>
~ <value xsi‘type="BL" nullFlaver="NI"/>
{{— E.i. 3. 2e: Congenital Anomaly / Birth Defect #1 -=>
" ¢/observation?
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" mwoodCode="EVN"> .
{code’ code="26" codeSysten="2. 16, 840. 1. 113883 3,989.2, 1, 1. 19" codeSystemVersion="1.1"
d1splayName— othérMedicallyImportantCondition” /> ,
{value xsi:type="BL” value="true”/>.
{1— E.i.3.2f: Other Medically Important Condition #1 —>
{/observation>
</outboundRelationship2>
, ' {outboundRelatienship2 - typeCode="PERT"> .
’ ’ {observation classCode="0BS" moodCode="EVN"> .
{code code="27" codeSyster="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 197 codeSystemVersion="1.1"

displayName="outcome”/> -
{value xsi:type=”CE” code="E.i.7" codeSystem=‘2.16.840.1.113883.3.989.2p1.l.11'
codeSystemVersion="1.07/> .
: ¢l— E.i.7: Outcome of Reactlon / Event at the Time of Last Gbservatlon #1 —>
" ¢/abservation> . .
{/outboundRelationship2> -
<outboundRelationship2 typeCode="PERT™> .
{observation classCode="0BS” moodCode="EVN">
<code code="24" codeSystem="2. 15. 840. 1. 113883. 3. 989, 2. 1. 1. 19" cndeSystemVer51on— .17
displayName=" med1calConflrmat1onByHealthFrofe5510nal b2
<value xsi:type="BL" value="true”/>
{l— E.i.8: Medical Confirmation by Healthcare Professional #1 —>
{/observation?
</outboundRelaticnship2>’
{outboundRelationship2 typeCode="PERT">

.



]

{observation classCode="0BS" moodCode="EVN™> ] .
{code code="11" codeSystem="2. 16. 840. 1. 113883, 3. 989. 5. 1. 3. 2. 1. 10" codeSystenVersion="1, 0"
displayName="7x1 « EE&1"/>
{value xsi:type="CE" code="J2, 14. 1" codeSystem="2.16, 840, 1, 113883. 3. 989.5.1.3.2. 18"
codeSystenVersion="1.0"/> .
' <I— @@eyz. 14.1 ki - B #1 —>
{/observation>
{/outboundRelationship?> ~ . -
</observation> -~
<{/subject0f2>
{subject0f2 typeCode="SBJ">
{observation classCode="0BS" moodCode="EVN">
{id root="2baa28d6~c9e8-4chic-93e5-5b860b314220" />
{code code="29" codeSyster="2. 16. 840, 1. 113883 3.989.2.1,1.197 codESystemVersion="1.1’
dlsplayName— reaction”/>
<effect1veT1me xsittypes"IVL_TS™>
<low value="20090101"/> -
. €I- E.i.4: Date of Start of Reaction / Event #2 —>
{width value="24" unit="E.i.6b"/>
<!~ E.i.6a: Duration of Reaction / Event (number) #2—>
¢!— E.i.6b: Duration 'of.Reaction / Event (unit) #2 —
¢feffectiveTimed -
{value xsi:type="CE” code="E.i.2.1b" codeSystem=”2.16.84D,1.113883.6.163”
codeSystemVersion="E. 1.2, 1a"> ~ i
d~~ E.i. 2. 1a:- MedDRA Version for Reaction / Event #2 —
¢|— E.i.2 1b: Reaction / Event (MedDRA code) H2 —>
<originalText language="E.i. 1. Ib">E.1i. 1. la$/originalText>
<l— E.i.L la7 Reaction / Event as Reported by the Primary Source in Native Language #2 —>
<!— E.i. 1. 1b: Reaction / Event as Reported by the Primary Source Language #2 —>
{/value> - .
<location typeCode="LOC™>
. {locatedEntity classCode="LOCE” > ) ’
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
<code code="E.i.9" codeSystem="1.0.3166.1.2.2"/> "
<l— E i.0: Ident1flcat10n of the Country Where the Reaction / Event Dccurred #2 -—
" <flocatedPlace>
{/locatedEntity>
" {/location®
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
<code code="30" codeSystem=" 2 16, 840. 1. 113883 2.989.2,1.1.19”7 codeSystemVer51on— L1
dxsplayName— react1onForTranslatlun'/>
" {value xsi:type= ED >E.i. 1. 2(/va1ue>
<I— E.i.1.2! Reaction / Event as Reported by the Prlmary Source for Translatlon H#2 >
¢/observation?
{/outboundRelatienship2d>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
. <code code="37" codeSystem="2. 16. 840. 1. 113883. 3.989.2. 1. 1. 19 codeSystemVersion="1. 1"
displayName="ternHighlightedByReporter”/>
{value xsi:type="CE" code='E.i‘3.1' codeSystem="2. 16. 840, 1. 113883, 3,989. 2. 1. 1. 10"
codeSystemVersion="1. 0°/> ' : .-
: : ) {!1— E.i.3.1:Term nghllghted by the Reporter #2 —>
</observation>
{/outboundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
<observation classCode="0BS” moodCode=" EVN M
{code code="34" codeSystem="2. 16. 840. 1. 113883. 3. 089. 2. 1 1.19” codeSystemVersion="1.1"
displayName="resultsInleath”/>
<value xsi:type="BL" value="true”/>
¢l=~ E.i.3.2a: Results in Death #2 —>
<{/observation>
</outboundRelat1onship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN"> . . .
<code code="21" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2, 1. 1. 19” codeSystemVersion="1.1"
displayName="isLifeThreatening”/>
{value xsi:type="BL” nullFlavor="NI"/>
<{)— E. i.3.2b: Life Threatening #2 —>



. ¢/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="] PERT ?
<observation classCode="0BS” moodCode="EVN">
) - <code code="33" codeSystem="2. 16.840. 1. 113883.3.989. 2. 1. 1 19" codeSystenVersion="1.1"
displayName="requiresIinpatientHospitalization®/>
¢value zsi:type="BL" value="true”/> )
¢l— E.i.3.2c: Caused / Prolonged Hospitalisation #2 —
{/observation>
{/outboundRelationship2>
{outboundRelationship2? typeCode="PERT*>
<observation classCode="0BS" moodCode="EVN™> ’ .
{code code="35" codeSystem="2, 16, 840, 1. 113883. 3, 989 2.1.1.19" codeSystemVersion="1.1"
dlsplayName— resultsInPers1stent0rSlgn1f1cant915ah111ty »
¢value xsi:type="BL” nuilFlavor="NI"/> .
¢l— E.i.3.2d: Disabling / Incapacitating #2 —> ) b
. {fobservation>
(/outbuundRelat1onsh1p2)
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN"> . )
Ccode code="12" codeSystem="2. 16. 840, 1, 113883, 3.989. 2. 1. 1. 18" codeSystemVersion="1.1"
displayNams="congenitalAnomalyBirthDefect )
<value xsi:type="BL” nullFlavor— NI o
<le= E.i.3.2e: Congen1ta1 Anomaly / Birth Defect #2 -=>
{/observation> |
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{cbservation classCode="0BS” moodCode="EVN"> .
{code code="26" codeSystem="2. 16. 840, 1. 113883 3.989. 2 1.1.19" codeSystemVersion="1.1"
displayName="otherMedicallyImportantCondition®/>
<value xsi:type="BL”. value="true”/>
{1— E.i.3.2f: Other Medlcally Important Condition H#2 -=>
{/observation>
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT">
Kobservation e¢lassCode="0BS" moodCode="EVN">
_<code code="27" codeSyster="2. 16. 840. 1. 113883, 3. 989, 2, 1, 1. 19" codeSystenVersion="1.1"

displayName="outcome” /> . ]
' : <value xsiitype="CE" code="E.i.7" codeSystem="2.16.840. 1.113883,3.989.2.1.1.11"
codeSystemVersion="1.0"/>
{}~- E.i.7: Qutcome of Reaction / Event at the Time of Last Observation #2 —>
. {/observation> . ,
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT” > .
<observation classCode="0BS" moodCude— EVN">
{code code="24" codeSystem="2. 16.840. 1. 113883. 3,989.2.1. 1. 19" codeSystemVerslon- 1.1
displayName="medicalConfirmationByHealthProfessional”/>
(value xsi:type="BL" value="true”/> )
<|— E.i.8: Medical Confirmation by Healthcare Professional #2 -~>
" {/observation>
{/outhoundRelationship2> )
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moocdCode="EVN™>
<code code="11" codeSystem‘ 2. 16. 840.1. 113883. 3. 989.5.1.3.2.1.10 codeSystemVer31on— .07

displayName="340 « BL50"/> .
. {value xsi:type="CE” code="J2.14.i" codeSystem=" 2.16.840.1. 113883.3.989,5.1.3.2.1.8"
codeSystemVersion="1.9"/> .
<l— @8872.14. 1 HH0 - BERD #2 —
{/obsérvation>
</cutboundRelationship2>
{/observation?
{/subject0f2>
<subject0f2 typeCode=" SBJ >
{observation classCode="0BS" moodCode="EVN">
¢id Toot="3aB626cb-9f 1b-1ea8~Ba0f—e0f£34430adf” />
{code code="29" codeSystem— 2.16.840.1.113883.3.989.2, L. 1. 19" codeSystemVersion="1.1"
d1splayName— reaction”/>
(effectiveTime xsi:type="IVL_TS™>
<width value="24" unit="E.i.6b"/>



<l— E.i.6a: Duration of Reaction / Event (number) #3 —>
{!-~ E.i.6b: Duration of Reaction /-Event (unit) #3 —)
<high value="20101201"/> -
{l— E.i.b: Date of End of Reaction / Event #—
{/effectiveTime>
{value xsi:type= CE code="E. i. 2. 1b” codeSystem— 2.16. 840. 1, 113883. 6. 163”7

codeSystenVersion="E. i. 2. Ia™>

<I— BE.i.2.1a! MedDRA Version for Reaction / Event #3 —>
<{I— E.i.2 1b: Reaction / Event (MedDRA code) #3 —)
<eriginalText language="E.i.l1.1b">E. {i.1.1a<{/originalText>
¢l-= E.{i.1. 1a: Reaction / Event 'as Reported by the Primary Source in Native Language #3 —>
<!— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #3 —>
{/value>
<locat1on typeCode="LOC">
<10catedEnt1ty classCode="LOCE™> -
{locatedPlace classCode="COUNTRY” determinerCode=" INSTANCE >
.Scode code="E.i.9” codeSystem="1.0. 3166, 1. 2. 2°/>
{1— E.i.9: Identification of the Country Where the Reaction / Event Occurred #3 —>

{/locatedPlace>
</10catedEnt11y>
<{/location>
<outboundRelationship2 typeCode="PERT"> .
<observatien ¢lassCode="0BS”" moodCode="EVN"> b

{code code="30" codeSystem="2. 16.840.1.113883.3.989.2.1.1.19" codeSystemVers1on— .17

dlsplayName— reactlunForTranslat1on />

{value xsi!type="ED"JE.i. L. 2¢/value> '
<|— E.1i. L2 Reaction / Event as Reported by the Primary Source for Translatlon H3 ——>
/observation>
{/ctitboundRelationship2>
CoutboundRélationship2 typeCode="PERT">
<{observation classCode="0BS” moodCode="EVN™>
{code code="37" codeSydtemF 2. 16.840. 1.113883:3.989. 2. 1. 1. 19 codeSystemVerslun— L1"

dlsplayName— termnghl1ghtedByReporter’/)

codeSystemVersinnﬁ'l.0'/>

<value xsi:type="CE" code="E.i. 3. l codeSystem— 2 16. 840. 1. 113883, 3. 989. 2. 1 1. 10

<!— E.i.3.1:Term Highlighted by the Reporter #3 —
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode— PERT >
<observation classCode="0BS” moodCode="EVN">
Seode code="34" codeSystem‘ 2. 16. 840 1.113883.3.989. 2. 1. 1. 197 codeSystemVersion="1.1"

displayName="resultsInDeath”/>

displayName="isLifeThreatening”/>

<{valie xsi:type="BL" value— “true” />
~ «l—E.i.3.2a: Results in Death #3 —>
{/observation>
{/outboundRelationship2>
(outboundRelationshipz typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
<code code="21" codeSystém="2, 16.840, 1. 113863. 3. 989 2.1.1. 19" codeSystemVersion="1:1"
<value xsi:type="BL” nullFlavor="NI1"/>
<}—E, i3 2: Life Threatenlng #3 —>
{/observation> -
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™> .
{code code="33" codeSystew="2.16.840. 1. 113883. 3. 989 2.1. 119" codeSystemYersion="1.1"

displayName= requlresInpatlentHospltal1zat1on />

<value xsi:type="BL" value="true”/> ' '
<l—— E.1i.3. 2¢! Caused / Brolonged Hospitalisation #3 ——>
</observation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT">
<obgervation classCode="0BS” moodCode="EVN">
{code code="358" codeSyster="2. 16. 840, 1, 113853. 3. 989. 2. 1. 1. 19”7 codeSystemVersion="1.1"

displayName="resultsInPersistentOrSignificantDisability”/>

{value xsi:type="BL” nullFlavor="NI"/> -
¢1— E.i.3.2d: Disabling / Incapacitating #3 -
{/observationd



</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<ohservation classCode="0BS” moodCode="EVN">
{code code="12" codeSystem="2. 16.B40. 1. 113883, 3. 989 2.1.1. 19 codeSystenVersion="1.17
d1splayName- congen1talAnomalyBlrthDefect”/)
<{yalue xs1 ‘type="BL” nullFlavor="NI"/> -
¢|— E.i.3.2e! Congenital Anomaly / B1rth Defect #3 —>
{/observation>
¢/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<chservation classCode="0BS" moodCode="EVN™>
. - <code code="26" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2 1. 1. 19 codeSystemVersion=" 1 17
dlsplayName— "otherMedicallylmportantCondition ">
<yalue xsi: ltype= “BL* value=" true />
¢l— E.i.3.2f: Other Medically Important Condition #3 ——)
</ohservation>
</outhoundRelationship2> - .
{outhoundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="27" codeSystenh 2. 16, 840, 1. 113883. 3. 989. 2. 1 1. 19" codeSystemVersion="1.1"
- displayName="outcome”/>
) . ¢value xsi:type="CE” code="E.i.7~ codeSystem='2.16.340.1.113833.3.989.2.1.1.11’
codeSystenVersion="1.0"/> ’
T ¢l— E. i 7: Outcome of Reaction / Event at the Time of Last Observation #3 —>
{/observation>
<{/outboundRelaticnship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
~ <code code="24" codeSysten="2. 16. 840. 1. 113883 3.989.2.1.1. 197 codeSystemVer51un— .17
displayName="medicalConfirmationBylealthProfessional”™/>
: <yalue x5i:type="BL" value="true”/> .
{}— E.1i.8: Medical Confirmation by Healthcare ‘Professional #3 -->
{/observation>
</outhoundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<obseryation ¢lassCode="0BS" mocdCode="EVN">

<code code="11" codéSystem="2. 16. 840. 1. 113883. 3.989.5,1.3, 2. 1. 107 codeSystemVers1on— 1.¢"

displayName="545 * BEEL&@"/>
. {value xsi: ‘type= "CE” code="J2.14. 1" codeSyster="2. 16. 840. 1. 113883, 3. 989.5.1.3.2.1.8

codeSystemVersion="1,0"/> i .

Cl— @anTz. 14. 1 ek - EEE #3 — .

{/observation> . v
<{/outboundRelationship2>
{/observation>
{/subject0f2>

<subject0f2 typeCode="SB]">
<observation -classCode="0BS" moodCode="EVN">
¢id root="2e99840f-(08b4~499c-B0ff-dd8415Ff4£f8a5" /> '
{code code="29" codeSystemr 2. 16, 840 1 113883.3.989.2.1.1.19” codeSystemVersioﬁ='1.l"
displayName="reaction”/>
CeffectiveTime xsi:type="SXPR_TS™>
<comp xsi:type="IVL_TS">

<low value="200901017/>
¢l— E.1i.4: Date .of Start of Reaction / Event #i4 ——>
-<high value="20101201"/>
¢{!— E.i.5: Date of End of Reaction / Event #4 -

" ¢/comp> )
{comp xsiitype="IVL_TS" operator="4">
(width value="24" unit="E.i,667/> :

¢{i— B.i.6a: Duration of Reaction / Event (number) #4 —>
¢l— B.i.6b: Duration of Reaction / Event {unit) #4 —>
</comp>
{/effectiveTime>
{value xsi:type="CE" code="E.1i. 2.1b" codeSystem— 2. 16 840, 1, 113883, 6. 163"
codeSystemVers1on— E.i.2.1a">
¢)— E.i.2 la: MedDRA Version for Reaction / Event #4 —
¢)— E.i.2 1b: Reaction / Event (MedDRA code) #4 —>
{originalText language="E.i.l.1b">E. 1. L 1a(/or1g1na1Text>
¢l— E.i. 1. 1a: Reaction / Event as Reported by the Prlmary Source in Native Language #4-——)



{!— E.i.1.1b: Reaction / Event as Reported by the Prlmary Source Lsnguage $#4 —>
</value>
{location typeCode="LOC">
{locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">

{code’ code="E. 1. 97 codeSysterm="1, 0. 3166. 1. 2.2°/> '
{l=-Ei09: Identification of the Country Where the Reaction / Event Oceurred #4 —->
</locatedPlace> .
(/lucatedEnt1ty>
¢/location>
<outboundRelationship2? typeCode="PERT"> ) ’ - - .

{observation classCode="0BS* moodCode="EVN">
{code code="30" codeSystemF 2.16. 840, 1. 113883. 3.989.2. 1. 1. 19" codeSystemVer31on— 117
displayName="reactionForTranslation”/>
<value xsi:type="ED"}E.1i. L. 2¢/valued
<J—E.ilLz2: Reactlon / Event as Reported by the Pr1mary Source for Translation #4 -
{/observation> .
</outhoundRe1atlonsh1p2) . ’ . _ d
<outboundRelationship2 typeCode="PERT"> .
{observation classCode="0BS” moodCode="EVN">-
{code code="37" codeSystem="2.16.840.1, 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion=" 1 1"
displayName="termHighlightedByReporter”/> _ ,
. <value xsiitype="CE" code="E.i.3.1" codeSystem="2.16.840.1.113883.3,980.2.1.1.10" .
codeSystemVersion="1. 0" /> ' - : : -
: ’ <!— E.i.3.1:Term Highlighted by the Reporter #4 —>
{/obseryation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT"> -
Lobservation classCode="0BS™ moodCode="" EVN ? . o
{code code="34" codeSystem="2. 16. 840. 1. 113883. 3, 989, 2. 1. 1. 19” codeSystemVersion="1.1%
displayName="resultsInDeath”/> : .
» <value xsiitype="BL" value="true”/> ]
<|— E.i.3.2a! Results in Death #4 —>
. </cbservation> N
{/outboundRelationship2>
<outboundRelationship2 typeCode="] PERT >
{observation classCode="0BS” moodCode="EVN">
: {code code="21" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2, 1. 1, 19" codeSystemVersion="1.1"
dlsplayName— isLifeThreatening”/>
. <value xsi:type="BL” nullFlavor=" NI/
¢l— E.i.3.2b: Life Threatening #4.~->
{/observation}
</outboundRelationship2> )
<outboundRelationship2? typeCode="PERT"> -
<observation clagsCode="0BS” moodCode="EVN"> .
<code code="33". codeSysten="2. 16. 840. 1. 113883. 3, 089, 2. I. 1. 19" codeSystemVersion="1.1"
dlsplayName— requlresInpat1entHusp1tal1zat10n /> : ' .
<{value xsi: type— "BL" value="true /)
<l-— E.1.3.2c! Caused / Prolonged Hospltallsatlon # —>
{/observation>
{/outboundRelationship2>
<outbpundRelationship? typeCode="PERT">
<observation classCode=" OBS moodCode="EVN">
{code code="35" codeSystem= "2, 16. 840.1. 113883, 3, 989 2.1, 1 19" codeSystemVersion="1.1"
‘d1splayName- resultsInPerslstent0r81gn1f1cantDlsab111ty'/> .
<value xsi:type="BL" nullFlavor="NI"/>
¢1— E.i.3.2d: Disabling / Incapacitating #4-—>
{/observation>
(/outboundRelatlonsh1p2>
(nutboundRelat1onsh1p2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>'
<code code="12" codeSystem— 2. 16. 840. 1. 113883. 3. 989, 2. 1. L. 19" codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefect”/>
{value xsi:type="BL" nullFlavor— NL"/>
¢l— E.i. 3.2e: Congenital Anomaly / Birth Defect #4 —>
{/observation>
. </eutboundRelationship2>
<{cutboundRelationship2 typeCode="PERT™>
Cobservation classCode="0BS” moodCode="EVN">



<code .code="26" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystenVersion="1.1"
dlsplayName— "otherMedicallyInportantCondition”/>
.<value xsi:type="BL” value="true”/>
<l-- E.i.3.2f: Other Medlcally Important Condition #4 —>
{/observation>
<{foutboundRel ationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN"> :
. {code code="27" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2:1.1. 19 codeSystemVerslon— 1. 17
displayName="outcome”/> .
: {value xsi:type="CE" code?'E.i.7' codeSystem='2.16.840.1.113883.3.989.2;1.1.11’
" codeSystenVersion="1.0"/> ' . o
¢l-- E.i.7: Outcome of Reaction / Event at the Time of Last Observation #4 —>
{/observation>
</outhoundReldtionship2>
(oufboundRelationshipZ'typeCode—”PERT')
{observation classCode="0BS” moodCode="EVN">
. {code code="24" codeSystem="2. 16. 840, 1. 113883. 3. 989 251 19 codeSystemVersion="1.1"
dlsplayName— “nedicalConfirmationByHealthProfessional”/>
{value xsi:type="BL™ value="true”/>
¢l== E.i.8: Medical Confirmation by Healthcare Professional #4 —>
. ¢{/observation> ' .
<{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
. <code code="11" cheSystem='2.16.840.1.113883.3.939.5.1.3.2.1.10” codeSystemVersion="1.0"
displayName="740 - BEm"/> : .
e ] <value xeitype="CE” code="]2.14.i" codeSystem="2.16.840.1.113883,3.989.5.1.3.2. 1.8"
codeSystemVersion="1.0%> - . :
; <|— @8aJ2. 14. i R - B 44 —>
{/observation>
{/outboundRelationship2>
{/cbservation?
{/subject0f2>
<subject0f2 typeCode="SBJ">
<observation classCode="0B5" moodCade="EVN">
<id root="1071064c-cf10-4a3b-83cl-34f9ddbTeatd” />
. <code code="29" codeSysten="2.16. 840. 1, 113883. 3. 989, 2. 1. 1. 19" codeSystenVersion="1. 1"
displayName="reaction”/>
<{effectiveTime xsi: type- IVL_TS™>
{low value="20090101"/>
¢l-~ E. i.4: Date of Start of Reaction / Event #5 —>
{feffectiveTime> . .
{value xsi:type="CE” cnde— E 1 2.1b" codeSystem='2.16.84D.i.113883.6.163’
" codeSystemVersion="E.i.2.1a™>
¢|— E.i.2.1a: MedDRA Version for Reaction / Event #5 =>
¢l— E.i.2.1b: Reaction / Event {(MedDRA code} #5 —>
CoriginalText language="E.i.l.1b">E. i. 1. la$/originalText>
¢!— E.i.l.1a: Reaction / Event as Reported by the Primary Source in Native Language #5 ~>
¢l— E.i.1.1b: Reaction / Event as Reported by the Pr1mary Source Language #5 ——)
</value>
<location typeCode="LOC"> -
(locatedEntity classCode="LOCE™> .
¢locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="E.i.9” codeSystem="1.0.3166.1.2.2"/>
¢l== E. i.9: Identification of the Country Where the Reaction / Event Uccurred #5 —>
</locatedPlace>
{/locatedEntity>
{/locationd ]
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
Leode code="30" codeSystem="2. 16. 840, I, 113883.3.989.2.1. 1. 19" podeSystemVersion='1.l”
displayName="reactionForTranslation”/> ’
<value zsi:type="ED™E. i, 1. 2¢/value>
¢}— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #5 ——>
{/ohservation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">



{code ecode="37" codeSystem="2. 16 840, 1. 113B83. 3. 989. 2 1.1.197 codeSystemVers1on— L1”

displayName="termHighlightedByReporter”/>

codeSystenVersion="1. 07/>
- <!— E.i,3.1:Term Highlighted by the Reporter #5 —> ’
{/observation>
{/outboundRel ationship2>
<outboundRelationshipZ? typeCode="PERT">

" {observation classCode="0BS" moodCode="EVN"> -

{code code="34" codeSystem="2, 16, 840, 1. 113883, 3. 989. 2.1. 1. 19" codeSystemVersion="1. 1

displayName= “resultsInDeath”/>
{value xsi:type="BL" value— true”/>
¢(!— E:i.3.2a: Results in Death #5 —>
{/cbservation>
</outboundRelationship2>
* {outhoundRelationship2 iypeCode=’PERT’>
<observation classCode="0BS" moodCode="EVN™> .

{value xsi'type="CE" code="E.i.3.1" codeSystem= 2.16.840.1.113883.3,989, 2. 1. 1. 10"

”

{codé code— 21" codeSystem— 2.16. 840. 1. 113883. 3. 989 2.1.1.19" codeSystemVersion="1.1"

d1splayName- isLifeThreatening”/>"
’ {value xsi:type="BL" nullFlavor="NI"/>
{l=~ E.1i.3.2b: Life Threatening #5 —>
</observation)
</outboundRe1at10nsh1p2>
<outboundRelationship2 typeCode“ PERT >
{observation classCode="0BS” moodCode="EVN">

{code code="33" codeSystemF 2.16.840.1.113883.3.989. 2. 1. 1. 19" codeSystemVeréion=’1.1'

displayName=" requ1resInpat1entHospltallzatlon e
{value xsi:type="BL" value="tfrue /)'
“¢l=— E.i.3.%¢: Caused / Prolonged Hospltallsat1on #5 -->
{/observation>
</outboundRelationship2> )
<outboundRelationship2 typeCode="PERT"> -
{observation classCode="0BS” moodCode="EVN">

{eode code="35" codeSysten="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"

displaythe=fresultsInPerSistentOrSignificaﬁfDisabi1ity'/> -
- {value xsi:type="BL” nuillFlavor="NI"/>
{l— E.i.3.2d: D1sah11ng / Incapacitating #56 —
{/observation>
{/outboundRelationshin2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">

{code code="12" codeSystem="2. 16. 840 1.113883. 3.989.2.1. 1. 19” eodeSystemVersion="1.1"

displayName=" congenltalAnomalyB1rthDefect 1y . -
{value xsi:type="BL" nullFlavor="NI"/> '
{!—E.i.3.2e: Congen1tal Anomaly / Birth Defect #5, ——)
{/ohservation>
¢/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{6bservation classCode="0BS” moodCode="EVN"> °

" <code code="26" codeSysten="2. 16. 840. 1. L13883. 3. 989. 2. 1. 1 19 codeSystemVersion=b1.1'

" displayName="otherMedicallyImportantCondition”/>
{value xsi:type="BL" value="true”/>
{I— E.i.3,2f: Other Medically Important Condition # —>
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN™>

" displayName="outcome”/> . i
. ; ) - <value xsiitype=”CE”'code='E.i.7" codeSystem="2, 16, 840. 1. 113883. 3.989.2. 1. 1. 11"
codeSystemVersion="1. 0"/> -

© <l— E.i.7: Outcome of Reaction / Event at the Time of Last Obsérvation #5 —>

¢/observationd ,

. </outboundRelationship2> . ] ] L
{outboundRelationship2 typeCode="PERT"> :
{observation classCode="0BS” moodCode="EVN">

{code code="24" codeSystem="2. 16. 840, 1, 113883. 3. 989. 2 1.1. 19 cedeSystemVersion="1.1"

displayName=7medicaiConflrmat1onByHealthProfesslonal />
<value xsi:type="BL" value="true”/>

<code code="27" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"



- <1—E.i. 8 Medical Conflrmatlon by Healthcare Profess1onal #5 -
</observation> .
{/outboundRelationship2> ]
{outhoundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
<code code="11" codeSystem="2.16. 840.1. 113883. 3.989.5. 1. 3. 2. 1. 10" codeSystemVer51on~ 1.07
"displayName="5%n - BE5"/>
<value xsi:type="CE” code="J2.14.i" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1.87
codeSystenVersion="1, 0"/> ' : .
) <l— @Bay2.14. i &0 - BEdn 45 —>
{/cbservation .
{/outboundRelationship2>
¢/observation>
¢/ subject0f2>
{subject0f2 typeCode- SBI >
<ohservation classCode="0BS" moodCode="EVN™>
{id root= 1f927283—10bﬁ—4334—9d43~2925640fb18f e .
-~ <code codg="29" codeSystem="2. 16, 840. 1. 113883.3.989. 2. L. 1. 19" codeSystemVer51on— 1.1
d1splayName- reaction?/>
" leffectiveTime xsi:type="IVL_TS">
<high value= 7900901017/> -
<!— E.i.4: Date of Start of Reaction / Event w6 —
{/effectiveTime>
] <value xsi:type="CE™ code="E. i.2.1b" codeSystem="2. 16.840. 1. 113883, 6, 1637
codeSystemVersion="E.i.2.1a">
¢!— E.i.2.1a: MedDRA Version for Reaction / Event #6 —>
v ¢|—— E,i.2. 1b: Reaction / Event (MedDRA code) #6 —> '
{originalText language="E.i.1.1b">E. i.1. la</orlglnalText>
{l—= E.i.1 la: Reaction / Event as Reported by the Primary Source in Native Language 16 ——>
¢l— E il 1b: React1on / Event as Reported by the Primary Source Language #6 —>
<{/value>
<location typeCode— Loc™
{locatedEntity classCode="LOCE">
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="E. i.9" codeSystem="1.0.3166.1.2.2"/>
{I— E.i.9' Tdentification of the Country Where the Reaction / Event Occurred #8 —>
¢/locatedPlace> . ,
</locatedEntity>
¢flocation>
. <outboundRelationship2 typeCode— PERT">
{observation classCodé="0OBS” mnoodCode=" EVN™> .
Coode code="30" codeSystem="2. 16. 840. 1.113853.3.989,2.1.1. 19" codeSystemVersion=”1.1’
dzsplayName— “reactionForTranslation”/>
<value xsi:itype="ED™E. i. 1. 2<¢/value>
¢l— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation §6 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
{code code="37" codeSystemF 2.16.840, 1. 113883.3.989.2.1.1. 19" codeSystemVerslon— 1.17
dlsplayName— termH1ghllghtedByReporter Wi .
¢value xsi:type="CE” code="E.i.3.1" cudeSystem= 2.16.840.11113883.3.989.251.1.10

codeSystemVersion="1.0"/>
<= E.i.3.1:Tern Highlighted by the Reporter #6 —>
{/obsérvation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™> ’ .
{code code="34" cudeSysteur 2, 16. 840. 1. 113883. 3. 989 2 1.1.19" codeSystenVersion="1.1"
dlsplayName— "resultsInDeath”/> - )
<value xsi:type="BL" value— ‘true”/> .
<l E.i.3.2a} Results in Death #6 —> '
(/observat10n>
<¢/outhoundRelationship2>
{outboundRelationship2? typeCode="PERT™>
{ohservation classCode="085" moodCode="EVN"> .
{code code="21" codeSystem‘ 2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemYersion="1.1"
displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlavor NI/



<l— E.i.3.2b: Life Threatening #6 ——
</observation> - . -~
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">
{code code="33" codeSystew="2. 16. 840. 1. 113883. 3. 989. 2, 1. 1. 19” codeSystenVersion="1.1"
" displayName="requiresInpatientHospitalization”/>
{value xsi:type="BL" value="true”/>
<!— E.1i.3.2¢: Caused / Prolonged Hospitalisation #6 —3 .
{/observation®
(/outboundRelatlonshlpZ)
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS”" moodCode="EVN"> -
Ccode code="35" codeSystem="2. 16. 840, 1. 113883 3 989.2. L. 1 19" codeSystemVersion="1.17
- displayName="resultsInPersistentOrSignificantDisability”/> ‘
{value xei:type="BL" nillFlavor="NI"/>
<l— BE.{i.3.2d: Dlsabllng / Incapacitating #6 —>
{/observation®
</outboundRel ationship2>
<outboundRelationship? typeCode="FERT">
{observation classCode="0BS” moodCode="EVN">
<code code="12" codeSystem— 2.16.840.1. 113883. 3.989. 2. 1. 1. 19' codeSystemVersion="1.1"
dzsplayName— congenitalAnomalyBirthDefect”/>
<value xsitype="BL" nallFlavor="NI*/>
<!~~ E.1i.3.2e: Congenital Anomaly -/ Birth Defect #6 —»
{/observation¥ =
{/outboundRelationship2> i
{outboundRelationship2. typeCode="PERT"> o -
{observation classCode="0BS” woodCode="EVN"™> ’
<code code="28" codeSystem="2. 16. 840. 1. 113883 3.989.2.1. 1. 19" codeSystquer§i0n=”1.1'
d1sp1ayName— otherMedicallyImportantCondition”/> e .
{value xsi:type="BL" value="true"/>
¢l— E.i.3.2f: Other Medically Important Condition #6 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation ¢lassCode="0BS” moodCode="EVN"> . :
. {eode .code="27" codeSystem="2. 16.840. 1, 113883, 3,982, 2. 1. 1. 19° codeSystemVersion="1,1""
displayName="cutcome”/> ’ ) ) . .-
{value xsi:type="CE" code="E.i.7" codeSysfem="2.15.8?@.1.113883.3.989.2.1.1.11’
codeSystenVersion="10"/> ’
<1— E.i.7: Outcome of Reactlun / Evenit at the Time of Last Cbservation #6 —>
{/obhservation>
| &/outboundRelationship2>
. <outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN" be -
: {code code="24" codeSystem="2. 16. 840, 1. 113883 3.989.2.1.1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
{value xsi:type="BL" value="true”/>
¢I— E!i.8: Medical Confirmation by Healthcare Professional ¥6 -—)
</ohservation>
</outboundRelationship2>
<CouthaindRelationship? typeCode="PERT“>
<observation clessCode="0BS" moodCode="EVN">
. {code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989.5.1.3.2.1,10 codeSystemVerslon— 10"
displayName="3%50 - BER"/> L.
‘ . {valug xsi:type="CE” code="J2.14.1" codeSystem=”2.16.840.1.113883.3.989.5.1.3.2.1.8'
codeSystemVersion="1, 0"/> .
U, @@@Jz 14.1 Fin.- &531 #6 —>
</abservationy
(/outboundRelat1onsh1p2>
{/observation>
</subject0r2>
{subject0f2 typeCode="SB]">
{cbservation classCode="0BS" moodCode="EVN">
id root="el342969-38he—423f—bBbh-celdbe27948e” /> . .
{eode code="20"- codeSysten="2. 16.840. 1. 113883. 3,989.2,1,1. 198" podeSystemVersion=”1:1"
displayName="reaction”/> ) : T ’ \
{effectiveTime xsi:type="IVL_TS™>



<width value="24" unit="E.i.6b"/> )

¢!~ E.i.6a: Duration of -Reaction / Event (number) #7 —>

¢1— E.1i.6b: Duration’ of Reaction / Event (unit) #7 —
</effect1veT1me> ) -
¢value xsi:type="CE” code="E.1i.2.1b" codeSystem="2, 16. 840, 1. 113883.6. 163"

codeSystemVe131on— E.i.2.1a™> )

¢!— E.i.2.1a! MedDRA Version for Reaction / Event #7 —>

<I— E.i.2. 1b: Reaction / Event (MedDRA code) #7 -—>

CoriginalText language="E.1i. 1 Ib">E. i. 1. 1a</or1g1na1Text>

*(!— E.i.1.1a: Reaction / Event as Reported by the Prlmary Source in Natlve Language #7 —>

(!— E.i.1.1b:- Reactlon / Event as Reported by the Primary 'Source Language 7 —->
</value> ’ )
<location typeCode— Loc%>

{locatedEntity classCode=" LOCE">

{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="E.1.9" codeSystem="1.0,3166.1.2. 2%/

{l=-— E.i.9: Identlflcatlou of the Country Where the Reaction / Event Occurred #7 ——>

</locatedPlace>
{/locatedEntity>
{flocation>
'<outhoundRelat1onsh1p2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
displayName="reactionForTranslation”/>
<value xsi:type="ED™E. i 1.2<¢/value>

N <code code="30" codeSystem="2. 16, 840, 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"

- ¢l=— E.i. L. 2: Reaction / Event as Reported by the Prlmary Source for Translation #7 —>

{/observation> . -
‘(/outhoundRelat10nship2> B
<outboundRelationship2 typeCode="PERT">

{observation classCode="0BS" moodCode="EVN">

<code code="37" codeSystem=’2.15.840.1.113883.3.989.2.1.1;19” codeSystemVersion="1.1"

dlsplayName— "termiighlightedByReporter”™/> .
¢value zsi:type="CE” code="E.i. 3 1" cpdeSystem='2.16.840.1.113883.3.989.2.1.1.10"
codeSystemVersion="1, 07/>
<J— E.i.3.1:Term Highlighted by the Reporter #7 —>
{/cbservation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT >
{observation classCode="0BS” mocdCode="EVN">

<code code="34" codeSystem— 2.16.840.1.113883. 3. 989.2.1.1.19" codeSystemVer51on— .17

displayName="resultsInDeath”/>
<value xsi:type="BL" value="true”/>
+ £|—E.1i,3.2a: Results in Death #7 —>
{/observation>
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT™> ’ . ’ -
{observation classCode="0BS” mooddee—"EVN') )
dxsplayName— isLifeThreatening”/> "
¢value xsiitype="BL" nullFlavor="NI"/> '
¢!— E.i,3.2b: Life Threatening #7 —>
¢/observation)
{/outboundRelationship2> .
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">

{code code="21" codeSystem="2. 16.840. 1.113883.3.989. 2. 1. 1. 19" codeSystemVersion="1.1"

{eode code="33" codeSystem="2. 16. 840. 1. 113883.3.989.2.1.1. 19" codeSystemVe}sion='1.1’

disblayName=’requireéInpatlentHospltal1zat10n i
. " <value xsittype="BL" value="true"/>
{I—E.i. 3.2¢: Cansed / Prolonged Husp1tallsatlon #7 —>
{/observation>
{/outboundRelationship2>
. <outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">

¢code code="35" codeSystem="2. 16, 84Q 1.113883.3.989.2.1. 1,197 codeSystemVer51on— 1.17

displayName= ~resultsInPersistentOrSignificantDisability”/>
<value xsi:type="BL” nullFlavor="NI" 73
¢]— E.i.3.2d: Disabling / Incapacitating #7 —>
{/ohservation>
{/outboundRelationship2>



<outboundRelationship2 typeCode="PERT">
{observation c¢lassCode="0BS” moodCode="EVN"> )
{code code="12" codeSysten="2.16. 840.1. 113883.°3. 980. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefett”/>
Cvalue ¥siitype="BL” nullFlavor= NI”/)
<l— E.i.3, 2e: Congenital Anomaly / Birth Defect #7 —>»
¢/observation)
{/outboundRelationship2>»
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
{code code="26" codeSystem="2, 16.240. 1. 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="otherMedicallyImportantCondition”/>
{value xsi:type="BL" value="true”/> . .
{I— E.1.3.2f: Other Med1cally Important’ Condition #7 —>
{/cbservation}
</outboundRelationship2> .
{outboundRelationship2 typeCode="PERI™>
{observation classCode="0BS" moodCode="EVN*>
- T {code code="27" codeSystem=”2.16.84Q,1.113883.3:989:2.1.1.19'~code§ystemVersion='1fl’
" displayName="outcome”/> i . . ’ : _—
' . <value xsi:type="CE" code="E.i.7" codeSystem='2.16.840.1.113883.3 989.2.1.1.117
codeSystenVersion="1. 0" />
: d—EiT: Outcome of Reactlon / Event at the Time of Last 0bservat1on #7 -
{/observationy .
{/outboundRelationship2> ) . . -
<outboundRelationship2 typeCode="PERT™> .
{observation classCode="0BS”" moodCode="EVN">
{code code="24" codeSystem="" 2. 16. 840. 1 113883.3.989, 2,1, 1. 19" codeSystemVer51on— 1.17
dlsplayName— medlca1Conf1rmat1onBYHealthProf3551onal />
<value xsi:type="BL" valie="true >
¢l— E.i.8: Medical Cbnf1rmat10n by Healthcare Prof9551onal #7 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="11" codeSystem="2. 16.840.1 113883.3,989;5,1.3. 2 1. 10" codeSystenVersion="1, 0"

displayName="741 - BEA"/> . I . ' -

] <{value xsi:type="CE” code="]2.14.i" codeSystem="2. 16.840.1.-113883, 3,988, 5.1, 3.2. 1.8"
codeSystenVersion="1.07/> . . .
<l— @88J2.14. 1 F& - BEf #7 —

{/observation>
{/outboundRelationship2>
{/observation’
{/subject0f2> .
- {subject0f2 typeCode="SB]">
{chservation classCode="0BS” moodCode="EVN™>
<id rodt= al5be092—8070—426d—af04—686326344380'/)
{code code="29" codeSystem— 2. 16. 840. 1. 113883. 3.989.2.1.1. 19" codeSystenVersion="1, 1"
displayName=" reactlon Wil : : ’
CeffectiveTime xsi:type="SXPR_TS™>
<comp xsi:type="IVL_TS">
{low value="20090101"/>
<l— E.i.4: Date of Start of Reaction / Event #8 —»
{width value="24" unit="E.i.6b"/> -
<!— E.i.6a: Duration of Reagtion / Event (number) #8 —>
* {l~= E.i.6b! Duration of Reaction / Event (unit) #8 -->
{/comp>
© {eomp xsi:type="IVL_TS" operator="A")
<high,value="20101201"/>
<l— E. i, 5: Date uf End of Reaction / Event #8 —>
{/comp>
{/effectiveTime> .
<value xsi:type="CE” code=" E i.2.1b" codeSystem="2. 16. 840. 1. 113883, 6, 163"
codeSystenVersion="E.i. 2. 1a">
¢i— E.i.2.1a: MedDRA Version for Reaction / Event H >
<{1— E.i, 2 1b: Reaction / Event {MedDRA code} #8 —>
{originalText language="E.i.1.1b">E. i. 1. la/originalText>
<!— E.i.l.la: Reaction / Event as Reported by the Primary Source in Nat1ve Language fi8 —>
¢{!— E.i.1.1b: Reaction / Event as Reported by the Primary Source Lanpuage H#8 —>



/value>
location typeCode="LOC™> ~
{locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="E.i.9" codeSystem="1.0.3166.1.2.2"/>
{!— E.i.9: Identification of the Country Where'the Reactan / Event Occurred #8 —>
{/locatedPlace>
</locatedEntity>
{/location>
<outboundRelationship2 typeCode="PERT"> .
{observation classCode="CBS” moodCode="EVN">
{code code="30" codeSystem="2.16.840. 1. 113883.3.980.2.1.1.19" codeSystemVer51on— 117

displayNane="reactionForTranslation”/>

{value xsi:type="EDTJE,i.l.2¢/value> :
¢l== E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #8 ——>-
{/observation> ‘ - . :
(/outboundRelatlonshlpz)
(outboundRelatlunshlpZ typeCode=" PERT )
{observation classCode="0BS™ moodCode="EVN"> B L .
{code code=737" codeSystem='2.15.840.1.113883.3.989.2.1.1;19”'codeSystemVersinn='1.I' .

ldlsplayName« termnghl1ghtedByReporter”/>

codeSystemVersion="1. 0"/>

¢value xsi: type "CE” code="E. i.3.17 codeS}stem=’2llS.§40.1.1138q3.3.989.2.1.1.10”

{1— E.i.3.1:Term Highlighted by the Reporter 8
{/observation> . .
{/outboundRelationship2> .
<outboundRelationship2 typeCode="PERT">
{observation c¢lassCode="0BS" moodCode="EVN"> -
<code code="34" codeSystewr="2. 16,840, 1.113883. 3.989. 2. 1.1, 18" codeSystemVerslon— 1.17

dlsplayName— *resultsInDeath”/>

{value xsi:type="BL".value="true”/>
¢!— E.i.3.2a: Results in Death #8 —>
{/observation> '
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
<ohservation classCede="0BS" moodCode="EVN"™>
{code code="21" codeSystem="2. 16.840. 1..113883. 3.989.2. 1.1, 19" codeSystemVers1on— 1.17

d1splayName— 1sL1feThreaten1ng"/>

<value xsi'type="BL” nullFlavor="NI"/> -
¢!—— E.i.3.2b: Life Threatening #8 —>
{/observation>
{/outboundRelationship2> ]
{outboundRelationship? typeCode="PERT">
observation classCode="0BS" moodCode="EVN">.
<code code="33" codeSystem="2. 16. 840. 1 113883, 3. 989. 2 1.1.19" codeSystemVersron- 1.17

displayName= requlresInpat:entHnspltallzat1on Wl

<value xsi:type="BL” value="true”/> -
{l-— B.i.3.2¢! Caused / Prolonged H05p1talls&tlon #8 —> -

{/observation> .
{/outboundRelationship2> .

CoutboundRelationship2 typeCode="PERT">
{chservation elassCode="0BS” moodCode="EVN"™>
<code code="35" codeSystem="2. 16. 840. 1. 113883. 3, 989. 2 1.1.19" codeSystemVersion="1.1"

displayName="resultsInPersistentOrSignificantDisability o R
L

1

<value xsiitype="BL” mullFlavor="NI"/> .
¢!-— E.i.3.2d: Disabling / Incapacitating #8 w3
- ¢/observation? .
</outhoundRelationship2> ’ ] ) .
¢outboundRelationship? typeCode="PERT” >
<observation classCode="0BS" moodCode="EVN™>
{code code="12" codeSystem="2. 16.840. 1. 113883, 3.989. 2, 1. 1. 19" codeSystemVersion="1.1"

dlsplayName— congenltalAnomalyBlrthDefect />

_<value xsi:type="BL” nullFlavor="NI"/>
{l——"E.i.3.2e: Congenital Anomaly / Birth ‘Pefect #B —>
{/observation> - -
{/outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
. <gbservation classCode="0BS” moodCode="EVN"> :
<code code="26" codeSystem="2. 16.840. 1. 113883. 3,989, 2.1, 1. 19" codeSystemVersion="1.1"

e



displayName="otherMedicallyImportantCondition”/>
{value xsi:type="BL” value="true”/>
¢{1— E.i.3.2f: Other Medically. Important Condition #8 ~->
{/observationy
</outboundRelationship2¥
_<outboundRelationship2 typeCode="PERT">
{observation c¢lassCode="0B5" moodCode="EVN™>
<code code="27" codeSystem="2. 16, 840. 1. 113883. 3. 089. 2, 1. 1. 197 codeSystemVersion="1.1"
displayName="outcome™/> - - ’ ’ . : . -
, {value xsi:type=’CE"code=”E.i.T" codeSystem=’2.16.840.1.113883.3.‘989.2.1.1._11~
codeSystemVersion="1.0"/> ' ’ '
{1— E.i.7: Qutcome of Reaction / Event at the Time of Last Cbservation #8 ~->
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
" <observation classCode="0BS” moodCode="EVN">.
{code code="24" codeSystem="2.16.840.1.113883. 3.989.2.1.1.19" codeSystenVersion="1.1"
dlsplayName— medicalConfirmationByHea]thProfessional”/> :
{value xsi:type="BL” value="true >
¢l E.i.8: Medical Cunflrmatlon by Healthcare Profe351onal #8 —> -
¢/observation> .
{/outboundRelationship2>
<outbuundRelationship2 typeCode="PERT">
* <observation classCode="0BS” moodCode="EVN">
<code code="11" codeSystemF 2.16.840.1.113883.3.989.5.1.3.2, 1. 10”7 codeSystemVer31on— 1.0"
displayName="2%4%0 - BE4n"/>

+

) <value xs1 type— CE” code‘ J2 14,3 codeSystem= 2.16. 840, 1. 113883. 3. 989. 5. 1,3.2.1. 8"
codeSystemVersion="1. 0" /> - ) . -
: <1— 0@ey2.14. 1 ﬂiiﬂ BEx #8 —>
{/observation®
(/outboundRelat:onshlpZ)
{/observation>
{/subject0f2>
<subject0f2 typeCode="SBJ">
<organizer classCode="CATEGORY” moodCode="EVN"> '
{code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2, L. 1. 20" codeSystemVersion="1. 0
displayName=" testsAndProceduresRelevantToTheInvestigation”™/>
{component typeCode=" COMP >
(observation classCodes" 0BS” moodCode="EVN™>
{code code="F.r. 2. 2b" codeSystem— 2. 16. 840, 1. 113883, 6. 163 codeSystemVer31on- F.r. 2 2a">
<l== F.r.2.2a: MedDRA Version for Test Name #1 —>
{I— B.r.2.2h: Test Name (McdDRA code) #1 —
{originalText>F. 1. 2, 1</original Text>
Kl F.r.2.1: Test Name (free text) f1 ~=> B
(/code)
Ceffectivelime value=" 20090101 “f
<l~~ F.1.1: Test Date #1 -
{value xsi:type="IVL.FQ™>
{center value="10" unit="mg/d1"/>
¢lw~ F.7.3.2: Test Result (value / qual1f1er) #1 —
{— F.r.3.3: Test Result (unit) #1 —>
{/valued>
{interpretationCode code="F.r.3.1" codeSystem— 2,16, 840 1.113883.3.989.2.1.1, 12"
codeSystemVersion="1,0"/¥ ;
' ’ <{l-—— F.r.3.1: Test Result (code) #1 —>
{referenceRange typeCode="REFV">
{observationRange classCode="0BS" moodCode="EVN. CRT">
{value xsi:type="PR” value="40" unit="mg/dl”/>
{!— F.r.4: Normal Low Value 1 —>
{interpretationCode code="L" codeSystem="2. 16, 840, 1. 113883. 5. 83'/)
{/observationRange)
, {/referenceRange> - -
{referenceRange typeCode="REFV">
<observationRange classCode="0BS” moodCode="EVN. CRT >
<value xsi:type="FQ” value="110" unit="mg/dl”/>
<l=~ F.r.5: Normal High Value #1—>
{interpretationCode code=" H codeSystem="2. 16. 840. 1. 113883, 5. 83" />
{/cbservationRange>
. </referenceRange>



{outboundRelationship2? typeCode="FERT™> .
{observation classCode="0BS" moodCode="EVN™>
{code code="10" codeSysten="2. 16.840. 1. 113883, 3. 989. 2. 1. L. 19" codeSystemVersmn—- L1
di splayName="comment” /> )
" <value xsi:typ'e=’ED'>F. r. 6</value>
{!— F.r,6: Comments (free text) #l ~>
{/ohservationd
</outboundRelationship2>
“CoirthoundRelationship? typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN™> . .
{code code="25" codeSystem— 2, 16. 840. 1. 113883, 3.989. 2, 1. 1, 19" codeSystemVersion="1.1"
displayName= moreInformatlonAvallable />
{value xsi:type="BL” value="true”/>
- ¢{—F.z.7: More -Information Available #1 —>
{/observation? s
{/outboundRelationship2> . -
</observation> .
{/component>
{component typeCode— COMP >
. <observation classCode="0BS" moodCode="EVN™> S
{code code="F,r.2.2b" codeSystem=" 2. 16. 840. 1. 113683. 6. 163" . codeSystemVersion="F.r. 2. 2a™>
{l-- F.r.2.2a: MedDRA Version for Test Name #2 —> i
<J— F.1.2.2b' Test Nam¢ (MedDRA code) #2 —>
<originalText)F.r. 2. I</originalText>
¢J— F.r.2.1: Test Name (free text} #2 —>
_ {fcode>
- {effectiveTine value= 20090101"/)
<1-= F.r.1: Test Date #2 —
{value xsi:type="IVL_PQ™>
(low nullFlavor="NINF"/> .
. <high value="10" unit="mg/dl” inclusiyeé="false"/>
{/value>
<l—- F.r.3.2: Test Result (value / qualifier) #2 —>.
¢}— F.r.3.3: Test Result (unit} #2 —>
¢l— LT 10 mg/dl #2 —>
</observat10n>
{/componenty
{component typeCode="COMP">
Cobservation classCode="0B$" moodCode="EVN">
<code code="F. r. 2. 2b” codeSystem=" 2 16. 840. 1. 113883, 6 163”7 codeSystem‘!ersmn— F.xr. 2, 2a >
{l— F,1.2. 2a: MedDRA Version for Test Name #3 —>
¢!— F.r.2.2b: Test Name (MedDRA code) #3 —>
LoriginalTextOF. r. 2. 1{/originalText>
¢{|— F.r.2.1: Test Name (free text) ¥3 —>
{/code> ]
(effectiveTime value="200901017/>
¢l— F.1.1! Test Date #3' —>
<value xsi:type="IVL_PGQ™>
<low nullFlavor="NINF"/>
<high value="10" unit="mg/dl” inciusive=‘true”/>
</value> :
¢}— F.1.3.2! Test Result (value / qualifier) #3 —>
¢l—— F.r.3.3! Test Result (unit) #3 —> . . .
<}~ LE 10 mg/dl #3—> -
</observation> . . .
</component?
<component typeCode="COMP™>
<ubservation classCode="0BS” moodCode="EVN"> : )
{code code="F.T. 2 2b" codeSystem="2.16. B40. 1. 113883, 6. 163" codeSystemVersion="F.r.2.2a">
{l~ F.r.2.2a: MedDRA Version for Test Name #4 --> :
{l-— F.r.2.2b: Test Name (MedDRA code) H#4 —> .
{originalText>F. r. 2. 1</originalText>
{l—- F.r.2.1: Test Name (free text) #4 —>
</coded>
<effectiveTine value="20090101"/>
<l— F.r.1: Test Date #4 —>
{value xsiztype="IVL_PQ™>
<low value="10" unit="mg/dl” inclusive="false"/>
-<high nullFlavor="PINF"/> :



</value>
{— F.r. 3.2: Test Result (value / qualifier) #4 —
¢!—— F.r.3.3: Test Result (unit) #4 -=>
<I— 6T 10 mg/dl #4 —>
<fohservation> .
{/component> ) - .
{ecomponent typeCode="COMP">
{observation classCode="0BS" moodCode=" EVN > -
<cede code="F.r. 2. 2b% codeSystem— 2.16.840. 1. 113883, 6. 163" codeSystemVersion="F.r. 2. 2a">
<|— F.1.2.2a: MedDRA Version for Test Name #5 —> . ;
<l— F.1.2.2b: Test Name (MedDRA code) #5 ~>
<originalText)F. r, 2. 1</originalText)
«Kl— F.7.2.1: Test Neme (free text) #5 —>
{/coded
{effectiveTime value— 20090101”/)
<I— F.1.1: Test Date #5 —>
. <value xsi'type="IVL_PQ™>
{low value="10" unit="mg/d1l” inclusive="true”/>
<high nullFlavur— "PINF" />
</value>
{l— F.r.3.2: Test Résult (value / qua11f1er) #5 —>
{l=— F.r.3.3: Test Resnlt (unlt) #5 —> :
<1=——"GE 10 ng/dl #5 —>
</observation?
{/component>
{component typeCode- COMP™>
<observation classCode="0BS” moodCode="EYN" )
. {code code="F.r.2.2bh" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVer31on— F.r.2.2a%
- Kl— F.r.2.2a! MedDRA Version for Test Name #6 — ’
¢l— Fr.2.2b: Test Name (MedDRA code) #6 —>
CoriginalText)F. r. 2. 1<{/originalText> -
!—Fr2 1 Test Name (free text) #6 -—)
</code>
{effectiveTime value="20080101"/> -
{I— PB.r.1: Test Date #6 —>
Cvalue xsiltype="ED">F.r. 3.4</value>
<l— F.r:/3.4: Result Unstructured Data (free text} #6 —>
</observation>
{/component>
</organizer> ! -~
{/subject0f2> '
<subject0f2 typeCode="SB]™>
{organizer classCode="CATEGORY” moodCode="EVN"> .
<eode code="4" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 20" codeSystemVersion="1.0"
- displayName="drugInformation”/> .
{I— G.% Drug(s) Information (repeat as necessary) #1 —
{component typeCode="COMP”">
" <substanceAdministration classCode="SBADM” moodCode="EVN">
<id root="3c91bd4d5-e(39-4aTa-0c30-67671b0efed" />
{consumable typeCode="CSN™> ) .
<instanceCfKind classCode="INST">
<kindOfProduct classCode="MMAT” de¥erminerCodp='KIND”> . .
{code code="G. k. 2. 1. 1b” codeSystem="TBI-MPID” codeSystemVersion="G.k. 2. 1. 1a"/>
<{!— G.k. 2. 1. 1a:-MPID Version Date / Number #1 —>
CI— 6.k 2.1. 1b" Medicinal Predict Identifier (MPID) #1 —>
<name>G. k. 2. 2</pape>
¢1-~ 6. k. 2.2: Medicinal Product Name as Reported by the Primary Source #1 -
<asManufacturedProduct classCode="MANU"> ~ . -
<subjectOf typeCode="SB]™> N
{approval classCode="CNTRCT” moudCode— EVN™> ) ]
{id extension="G.k.3.1" root="2, 16.840. 1. 113883. 3. 989. 2. 1. 3. 4" />
<I== G.k.3.1: Authorisation / Application Mumber #1 —>
<helder typeCode="HLD"> -
<role classCode="HLD"»
<playingOrganization classCode="ORG” determinerCode="INSTANCE”>
" <name>G. k. 3. 3¢/name>
<l— G.k. 3.3: Name -of Holder / Applicant #1 -->
</playingOrganization>
{/role>



</holder>
{author typeCode="AUT™>
{territorialAutherity classCode="TERR">
(territory classCode="NAT" determinerCode="INSTANCE">
{code code="G.k.3.2" codeSyster="1.0.3166. 1:2.2"/>
“¢l-—- G, k. 3.2: Country of Authorlsatlon / Application #1 —>
{/territory>
¢/territorialAuthority>
{/author> s
<pertinentInfdrmation typeCode="PERT">
<policy classCode="POLICY” moodCode="EVN™> -
<code code="J2.5.k" codeSystem="2. 16. 840. 1. 113883. 3. 989, 5.1.3.2.1. 4"
codeSystenVersion="1.0"/> . ’
<I— @@aye. 5.k: —RAERASEOY RIEHE #1
{/policy> . .
{/pertinentInformation>
</approval>
<{/subject0f>
<subjectOf typeCode=" SBJ b
{characteristic classCode="0BS" moodCode="EVN">

<eode code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989.5.1.3.2.1;10'
codeSystemVersion="1.0" displayName="3f E%uu%ﬂ)#&ﬁ E5 5

(value xsiitype="CE” codé="J2.4.k" codeSystem="2. 16, 840. 1. 113883. 3. 989.5.1.3.2.1.3
codeSystenVersion="1.0"/> . .
- 2882 4 k: FEELSFORRES 1 —
{/characteristic> .
£/subject0f>
{/asManufacturedProduct>
<asSpecializedKind classCode="GEN">
{generalizedMaterialKind classCode="MAT" determinerCode="KIND">
{coded> _ ’
{originalText>]J2, 12¢/originalText>
<— eaJ2.12: HRBHRATLS —

{/code>
{/generalizedMaterialKind>
{/asSpecializedKind>
<ingredient classCode="ACTI"™>
{quantity>
<{numerator value="10" unit="G.k.2.3.r.3b"/>
{l== G.k.2.3.1. 3a; Strength (number) #1-1 —>
* <l— G.k.2.3.1.3b: Strength (unit) #1-1 —>
<denominator value="1 ”/) .
{/quantity> '
{ingredientSubstance claasCode— MMAT" determinerCode="KIND">
<code code="G.k.Z.3.1.2b" codeSysten="TBD-Substance” -
codeSystenVersion="G. k. 2.3.1.2a"/> ~
. <!— G.k.Z.3.r.2a: Substance / Specified Substance TermID Version Date / Number #1-1
¢}— G.k.2.3.1.2b: Substance / Specified Substance TermID #1-1 —>
<name>G, k. 2. 3. . 1{/name>

{1— 6. k. 2.3.r.1: Substance / Specified Substance Name #1-1 —>
</ingredientSubstance>

{/ingredient>
<{ingredient classCode="ACTI™>
_{guantity> ’
<numerator value="10" unit="G.k. 2.3.r.3b" /">
¢<l-- 6.k.2.3.1. 3a: Strength (number) #1-2 —>
<}— G k. 2.8.r.3b: Strength (unit) #1—2 —>
{denominator value="1"/>
{/quantity>
<1ngred1ent$ubstance classCode="MMAT" determinerCode="KIND™>
. ' {eode code="G. k. 2. 3.1. 2b” codeSystem="TBD-Substance”
codeSystenVersion="G. k. 2. 3. r. 2a"/> . i . .
. l— G.k.2.3.r.23: Substance / Specified Substance TermID Version Date' / Number #1-2
—>
I— G.k.2.3.r.2b Substance / Speclfled Substance TermID §1-2 —> ,
<name>G, k. 2, 3, r. 1{/name>

¢l— G.k.2.3.r.'1: Substance / Specified Substanée Name #1-2 —>
{/ingredientSubstance>



{/ingredient>
</kind0fProduct> ¢
* {subjectOf typeCode="SB]">
<productEvent classCode="ACT” moodCode="EVN"> . )
(cude code="1" codeSystem=’2.16.B40.l.113883"3.989.2.1.1.18” codeSystenVersion="1. 0
displayName="xetailSupply”/>
{perforimer typeCode= PRF’> .
<asdignedEntity classCode="ASSIGNED” >
{representedOrganization classCode="ORG" determinerCode="INSTANCE™>
<addr> .
<country>G. k. 2. 4</country>
<l— G.k.2.4: Identification of the Country Where the Drug Was Obtained #1. -—>
. <faddr>
</represented0rganization)
{/assignedEntity>
{/performer>
/productEvent>
</subjectpf)
{subjectOf typeCode="SBJ"> ]
<observationEvent ¢lassCode="0BS" moodCode="EVN™>

<code code="2" codeSystem="2. 16. 840, 1. 113883, 3.989,5.1.3.2.1.10" - i
codeSystemVers1on— 1. 0% displayName="—js FIEEEBDAFER"/>
{value xsi:type="CE" code="]2.6.k" codeSystem="2.16.840. 1. 113883. 3. 989.5,1.3.2.1.5

coquystemVer31on= .07/
L ’ I— @@@JZ 6. ks -—ﬂxfﬁﬁ§§§nu091\%ﬁ¥§i§ #1 ->
</observationEvent>
{/subject0f>
</instance0fKind>
</consumable>
" {outboundRelationshipl typeCode="SAS™> .
{pauseQuantity value="10" mﬂ*&h&L&ﬁ/) .
<!-- 6.k.9.i.3.1a: Time Interval between Beginning of Drug Adm1n1strat1on and Start of
Reaction / Event {number). Drug #1, Reaction #1 —> .
U—GkﬂdﬂdhTmehmnﬂbﬁwmﬂummmufMuAmmmuﬂmnmd&utﬁ
Reaction / Event (unit) Drug #I, Reaction #t ——
<actReference classCode="0BS™ moodCode="EYN" )
<id root=" 154ebB89-958b—45f2—302f—42d4d5f4657f />
{/actReference>
{/outboundRelationshipl>
{outhoundRelationshipl typeCode="SAE"»

<pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<I— G.k.9.1.3.2a: Time Interval between Last Dose of Drug aud Start of Reaction / Event
(numbeIJ Drug #1, Reaction #1 —> - -

<|—— G.%. 9.1.3.2b: Time Interval between lLast Dose of Drug and Start of Reaction / Event
(unit) Drug #1; React1on #1 —>
<actReference clagsCode="0BS" moodCode="EVN">
<id root="154eb889- 958b—45f2—302f—42d4d6f4657f />
{/actReference>
</outboundRelationshipl>
"{outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k.9. i.3.16"/>
<l 6.k.9.i.3.1a: Time Interval between Beglnnlng of Drug Adm1nlstrat1on and Start of
Reactien / Event (number) Drug #1, Reaction #2 —>
{!— G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event {unit) Drug #1, Reaction #2 —>
<actReference classCode="0BS" moodCode— EVN™>
<id root= Zbaa28d6-c9e8—4eEc—93eQ-5bBEOb3l4220’/>
{/ac¢tReference>
</outboundRelationshipl> .
<outboundRelationshipl tyngode=”SAE”)
<{pavseQuantity value="10" unit="G.%.9.1i.3.2b"/>

<l G.k.9.1.3.2a Time Interval between Last Dose of Drug and Start of React1on / Event
(nunber) Drug #1, Reaction #2 —>

. l== 6.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
{unit) Prug #1, Reaction #2 —> ]
<actReference ‘classCode="0BS" moodCode="EVN">
<id root="2baa28d6- 09e8~4eﬁc—9339 5b860b3142207 />
{/actReference>
{/outboundRelationchipl>



<outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
<J— .k 9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #3 —>
¢l— 6.k 9.i. 3. 1b: Time Interval between Beginning of Drug Admlnlstratlon and Start of
Reaction / Event (un1t) Drug #1, Reaction #3 —> .
<actReference classCode="0BS* moodCode=" EVN™>
<id root= 333626cb—9flb—4e38 8a0f-e0F£34430adE”/>
{/actReference>
</outboundRelationshipl>
CoutboundRelationshipl typeCodes"SAE™>

{pauseQuantity value="10" unit="G.k.9.i.3.2b6"/>

<J— G.k.9.4. 3. 2a: hmImumlMW%nMﬂDmedDmgmd&atﬁR%umn/&mt
(number) Drug #1, Reaction #3 —>

{l— 6.k.9.1.3.2b: Time Interval hetween Last Dose of Drug and Start of Reactlon./ Event

{unit) Drug #1 Reaction #3 —>
{actReference classCode="0BS" moodCode="EVN">
{id root= 3a8626cerf1b—4eaB—8aOf~e0ff34430adf e
{/actReference>
</0utboundRelat1onsh1pl>
" {outboundRelationshipl typeCode="SAS™>
<{pauseQuantity value="10" unit="G.k.9.i.3.1b7/>

U—ﬁkﬂ&j&aTmehwnﬂbu%mBmmmmomeAmmmuanmdﬁutﬁ
Reactlun / Event (aumber) Drug #1, Reaction #4 —->
{!— 6.k, 9,1i.3.1b: Time Interval between Beginning of Drug Administration and Start of

Reactlon / Event (unit) Drug #1, Reaction #4 —>
<actReference classCode="0BS” moodCode— EVN">
£id root="2c99840f-08b4-499c—B0ff-ddB415F4f8ab” /) .
{/actReference> . .
</outboundRelationshipl> ’
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
- 6.%.9.1.3. 2% Time Interval between Last Dose of Drug and Start of React1on / Event
(number) Drug #1, Reaction #4 —¥
<l— G.k.9.1.3.2b Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #4 —>

<actReference classCode="0B5" moodCude— EVN™> . ) - ' '
. . ' <id root="2689840f-08b4-499c-80Ff~AdB415F4£Ra5" />
¢/actReference>

</outboundRelationshipl>
<outhotundRelationshipl typeCode="SAS">
.{pauseQuantity value="10" uwnit="G.k.9.i.3.1b" />
{!— 6.k 9.i.3. 1a: Time Interval between Beginning of Drug Admihistration and Start of
Reaction / Event (number) Drug #1, Reaction #5 —>
¢!— 6.k 9.i.3. 1b: Time Interval between Beginning of Drug Administration and Start of
React1on / Event (unit} Drug #l, Reaction #3'—>
. ’ <actReference classCode="0BS" moodCode— EVN">
. <{id root= 1071064c—cf1074a3b—8301 34f9ddb7955d'/>
) {/actReference>
</outboundRelationshipl>
~ <outboundRelationshipl typeCode="SAE™>

{pauseQuantity value="10" unit="G.k.9.1.3.2h"/">
(J— 6.k 9.1.3.2a: Time Interval between Last Dose of Drug and.Start of Reaction / Event
(number) Drug #1, Reaction #5 —> .
¢l— 6. k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event

‘{funit) Drug #1, Reaction #y —>
. ¢actReference classCode="0BS” moedCode="EVN">
<id root="1071064c-cf10~4a3b-83c1-~34f9ddbTeabd” />
¢/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
. {l— G.k.9.1. 3, 1a: hmIMWMIMWthmmmgﬁDmngmnmnmamsmnnf
. Reaction / Event (number) Drug #1, Reaction #6 —>
U—ijJijTmehmnﬂbﬂme%mmmofthmmmuﬂmnmdﬁmtﬁ
Reaction / Event (unit). Drug #1, Reaction #6 —>
{actReference classCode="0B5" moodCode="EVN">
<id root=" 1f927283 10b6—4334—9d43—9925640fh18f'/>
{/actReference>



</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.%.9.1.3.2b"/>
- G.k.9.1.3.2a T1me Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1 Reaction #6 —> -
{I— G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, React1on s —>
. {actReference classCode="0BS" mocdCode="EVN™> .
{id root="1f927283-10b6-4334-9d43-e925640Fb18E" />
</actReference>
{/outboundRelationshipl> :
{outboundRelationshipl typeCode="SAS"> : - -
<pauseQuant1ty'vaIue— 107 wnit="G.k.9.i.3.1b"/> -
: ' ¢l— G.k.9.i.3.1a: Time Interval between Beginning of Drug’ Administration and Start of
-Reaction / Event (number) Drug #1, Reaction #7 —>
U"Gkﬂ&ﬁdbTmehmnﬂhﬂmeqmmmomeAhmwhumnmdﬁutﬁ
Reactlon A Event (unit) Drug #1, Reaction #7 —>
<actReference classCode="0BS” moodCode="EVN">
<id root="e0342969-38be—423f-bBbb—cel4bc279d8e" />
{/actReference> .
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>

{pauseQuantity value="10" wnit="6.k. 9.1.3.2b"/>

{l— G.k.9.1i. 3. 2a: ﬁmIMHWIManhﬂDmeﬁDmgmd&utﬁRﬁﬂmn/ﬁmt-
(number) Drug #1,- Reaction #7 —> . .

¢<l— 6.k 9 i 3.2b: Time Interval between Last Dose of Drug and Start of RBBCtan / Event.

(unit) . Drug #1, Reactzon #7 —> ‘ :
.LactReference classCode‘ 0BS” moodCode=" EVN">
<id root= 30342969-38b8"423f—b6bb—ce14bc279d8e’/>
{/actReference
</outboundRelationshipl> '
{outboundRelatiohshipl typeCode="SAS">
{pauseQuantity value="10" unit= “G. k. 9.1.3. 16"/ -
U—G&ﬂ&ﬂdaTmemmnﬂbﬁwaummmofhuA@mmuumnmdﬁutd
Reaction / Event {number} Drug #1, Reaction #8 —>
d— 6.k 9.1 3. 1b: Time Interval hetween Beginning of Drug Adm1n1strat10n and Start of
Reactlon / Event {unit) Drug #1, Reaction #B-—» -
<actReference classCode="0BS” moodCode="EVN™>
<id root="a15be092-8070-426d-af04-6863263443e0" /> -
{/actReference>
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAE" >
<{pauwseQuantity value="10" unit="6.k.9.i.3.2b"/>
, <l— 6.k.9.1.3 2a: T1me Intefval between Last Dose of Prug and Start of Reaction-/ Event
(number) Drug #1, Reaction #8 —>
(I~ 6.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reactlon / Event
{unit) Drug #1 Reaction #8 —> - . :
. actReference ¢lassCode="0BS” moodCode="EVN">
{id root= a15beO92—8070—426d-af04—686326344390’/)
{/actReference>
" ¢/outboundRelationshipl>
<outhoundRelationship2 typeCode="PERT*>
<ohservation classCode="0BS" moodCode="EVN®>
‘{code code="6" codeSystem= 2. 16. 840. 1, 113883, 3.988. 2. 1 1.197 codeSystemVe131on— .17
displayName="blinded”/> ..
{value xsi: type= "BL” value— true” S}
¢l-= 6.k 2.5 Investigational Product Blinded #1 *~>
{/observation>
(/uutboundRelatlonshlpZ)
<outboundRelationship? typeCode="COMP™>
¢l G.k.4.1! Dosage and Relevant Information (repeat as necessary) #1-1 —>
{substanceAdministiation classCode="SBADM" moodCode="EVN" )
<text>G. k. 4. r. 8¢/text>
<1—* G.k.4.1.8: Dosage Text #I-1 —>
effectiveTime x5i:type="SXPR_TS™>
{comp xsi:type="PIVL_TS"> i
- <period value="10" unit="G.k.4.1.3"/>
<le= G k.4.1. 2! Number of Units in the Interval #l-1 —>
{l— G.k.4.1.3: Definition of the Time Interval Unit #1-1 —>



<feomp>
<comp xsi:type="IVL_TS” operator="A">
<low value="20090101 >
{lem G, k 4.r.4: Date and Time of Start of Drug #1-1 —
<high value="20080101"/>
¢{J=- G.k. 4.r.5: Date and Time of Last Adm1n1strat10n f1-1 —>
{feompy "
<comp xsi:type="IVL_TS” operator="A">
{width value="4" unit="G.k 4. r.6b"/> .
{!— G.k.4.r.Ba: Duration of Drug Administration (number) #1-1 ——>
<l— G.k 4.r.6b: Duration of Drug Aduministration (unit) #1-1 —> N
{/comp? :
{/effectiveTime>
<routeCode code="G.k. 4. r.10.2b" codeSystem— 2.16. 840 1. 113883. 3. 989. 2 1.1.14"
codeSystemVer51on— G.k 4110 2a"»
- €l— G.k.4.r.10. 2a: Rnute of Administration TermID Version Date / Number #1-1 —>
<l— G.k 4.r.10. 2b: Route of Adminisiration TermID #1-1 -
{originalText}G. k. 4. r. 10, 1{/originalText>
€]— G.% 4.r.10.1: Route of Adm1n15trat1on (free text) #1-1 —->
{/routeCode
¢doseQuantity value="10" unit="G.k 4.r.1b"/>
<]l— G.k. 4.1.1a Dose (number) #1-1 —>
{1— G.k.4.r.1b: Dose {(unit} #1-1 —=>
{consumable typeCode="CSM">-
¢instanceOfKind cldssCode="INST">
{productInstanceInstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4. . 7</lotNumberText>
¢l— G.k.4.r.7: Batch / Lot Number #1-1 —>
’ </productInstanceInstance)
Lkind0fProduct classCode="MMAT” determ1nerCode- "KIND">
{fornCode code="G.k. 4.r.9.2b" codeSystem="TBD-DoseForn”

codeSystemVersion="G. k. 4.1.9. 2a"> .
¢<l—'G.%k. 4, 1. % 2a: Pharmaceutical Pose Form TermID Version Date / Number #1-1 —>
. <l— G.%.4.r.9 2b: Pharmaceutical Dose Form TermID #1-1 —>
_<originalText)G. k. 4.r.9. I{/originalText>
¢|— 6.k.4.7.9.1: Pharmaceutical Dose Form (free text) #1-1 —>
{/formCode>
{/kind0fProduct>
{/instance0fKind>
</consumable>

¢inboundRelationship. typeCode="REFR">
{observation classCode="0B5" moodCode="EVN">
{code code="28" codeSystem— 2. 16, 840. 1. 113883. 3. 989, 2. 1. 1, 19" codeSystemVerslon— 1.17
dlsplayName— “parentRoute0fAdministration”/>
<yalue xsi:type="CE” code="G. k. 4. 1. 11. 2b" codeSystem— 2,16, 840. 1. 113883. 3. 989. 2 L 1 147

codeSystemVersion="G.k%. 4. 1. 11.2a™>
- — 6.k 4.r. 11, 2a: Parent Route of Admlnlstrat1on TermID Version Date / Number #1-1
_..> ) T .
¢!=~ G. k. 4.r. 11.2b: Parent Route of Administration TermID #1-1 —>
<originalText>G. k. 4. r. 11. 1{/originalText>
¢l— G.k.4.r.11.1: Parent Route of Administration (free text) #1-1 —>
</value>
{/observation>
¢/inboundRelationship>
{/substanceAdministration * .
¢/outboundRelationship2>
<outboundRelat10nsh1p2 typeCode="COMP">
¢l=- G.Kk. 4.r: Dosage and Relevant Information (repeat as necessary) #1 -2 ==
<substanceAdm1nlstrat10n classCode="SBADM” moodCode="EVN">
. . {textG, k. 4. r.B<S/text>
<l— G.k. 4.1.8: Dosage Text #1-2 —>
<effectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="PIVL_TS">
(period value="10" unit="G.k.4.r.3°/>
{— 6.k.4.1r.2: Number of Units in the Interval #1-2 —> -
<!— G.k.4.r.3: Definition of the Time Interval Unit #1-2 —=>
{/comp>
{comp xsi:type="IVL_ TS operator— AT
Llow valde="200901017/> ’

-))



<!— G.k.4.r.4: Date and Time of Start of Drug #1-2 —>
<high value="20030101°/>
{l— G.k.4.1.5: Date and Time of Last Adm1n1stratlon #1-2 —
</comp>
{/effectiveTine>
<routeCode code="G. k. 4.r. 10. 2b” codeSystem— 2. 16, 840 1. 113883 3.989. 2. 1 1,147
.codeSystemVer51on— G.k.4.r 10, 2a™>
{l— G.k-4.7.10.2a: Route of Administration TermID Version Date / Number #1-2 —>
<! 6.k.'4.1.10.2b: Route of Administration TerdID #1-2 —>
<originalText>G. k.4.r.10.1</or1g1nalText> ]
{}— G.k.4.r,10.1: Route of Administration (free text) #1-2 —>
. </routeCode> )
{doseQuantity value="10" unit="G.k. 4.r. lb />
<l— G.k.4.1.1a Dose (number) #1-2 —>
<l— G.k 4.r.1b: Dose (unit) #1-2 —>
{consumable typeCode="CSH™> [
{instance0fKind cIlassCode="INST">
{productInstancelnstance classCode="MMAT® determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r. 7¢/lotNumberText>
{!-- G.k.4 r.7: Batch / Lot Number 1-2 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">

. {formCode code='G.k.4.r.9.2b” codeSysten="TBD-DoseForm”

codeSystemVersion="G. k. 4.1.9. 2a™> :

= G.k.4.r.9.2a Pharmaceutical Dose Form TermID Version Date / Number #1-2 —

{l~~ G.k. 4.7.9. 2b: Pharmaceutical Dose Form TermID #1-2 —>

<or1g1nalText>G.k.4.r.9.1</orlglnalText>

<!~ G.k.4.7.9.1: Pharmaceutical Dose Form (free text) #1-2 —>

{/formCode>
</kind0fProduct> '
</instanceOfKind>
</consumable>

- {inboundRelationship typeCode="REFR™> .
{observation classCode="0BS“ moodCode="EVN"}
: {code code="28" codeSystem— 2, 16 840.1.113883, 3. 989. 2. 1. 1. 19" codeSystenVersion="1. 1"
dlsplayName- parentRouteOfAdm1n1strﬂt1on />
: <value xsi:type="CE” code="G.k. 4.1 11 2b codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 14"

.codeSystemVerslon— G.k.4.r.11.28" >
<l— G.k.4.1. 11. 2a: Parent Route of Administration TermlID VersIon Date / Number #I1-2
_.> . . - - .
<!— G.k.4.7. 11.2b: Parent Route of Administration TermID #1-2 —>
{originalText>G. k. 4. r. 11. 1</originalText>
{!— G k.4.r.11.1: Parent Route of Admlnlstratlon (free text) #1-2 —
¢/valued
{/observation>
{/inboundRelationship>
</substanceAdministration>
</outhoundRelationship2>
<outboundRelationship2-typeCode="COMP">,
¢!— G.k.4.v: Dosage and Relevant Information (repeat as necessary) #1-3 «=>
{substanceAdninistration classCode="SBADM" moodCode— EVN™>
{text>G. k. 4. r. 8{/text>
<!— 6.k 4.1.8: Dosage Text #1-3 —>
<effectiveTime xsi:type="SXPR-TS™>
. {comp xsitype="PIVL.TS™>
<period value="10" unit="G.k. 4. r.3"/>
I~- G.k.4.1.2: Number of Units in the Interval #1-3 —>
<l— 6.k 4r.3: Deflnltlon of the Time Interval Unit #1-3 —>
{/comp>
<comp xsiitype="IVL_TS" operator="A">
{low value="20090101"/>
¢l—= G.k 4.r. 4! Date and Time of Start of Drug #1-3 —
" &width value="4" unit="G.k.4.r.6b"/>
<}~ G.k 4.r.6a: Duration of Drug Administration (number) #1-3 —)
{l— G.k.4.r. 6b: Duration of Drug Administration (unit) #1-3 —=>
{/comp>
{/effectiveTime>
<routeCode code="G.k. 4.r.10.2b" codeSystemn="2, 16. 840, 1, 113883,3.989.2,1.1. 14" '

codeSystemVerslun— G.k.4.r. 10.2a"> ] .



codeSystenVersion="G. k. 4.r. 9. 2a">

{l— G.%. 4.r.10,2a: Route of Administration TermID Version Date / Number #1-3 —>
. {l~= G k. 4.1.10.2b: Route.of Administration TermID #1-3 —>
<originalText>G. k. 4.1. 10. I<{/originalText> ]
{l-— G.k'4.r.10.1: Route of Administration (free text) #1-3 —>
. </routeCode>
- <doseQuantity value="10" uwnit="G.k. 4 r. 167/
¢{!— G.k.4.r.1a Dose (number) #1-3 -->
{l4~ G.k.4.1.1b7 Dose (unit) #1-3 —> ]
{consumable typeCode="CSH"> -
{instance0fKind classCode="INST"> K ’
{productInstanceInstance classCode="MMAT” determlnerCode- INSTANCE™>
{lotNumberText>G. k, 4. r. 7$/lotNumbexrText>
{l=~ G.k.4.1.7: Batch / Lot Number #1-3 —>
{/productInstanceInstance>
<kind0fProduct classCode="MMAT” determ1nerCode— KIND M
{formCode code=" G.k.é.;.Q.Zb codeSystem="TBD-DoseForm”

{1— G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-3 —>
<{1— G.k.4.r. 9. 2b: Pharmaceutical Dose Form TermID #1-3 -
<otiginalText)G. k. 4. r. 9, I<{/originalText> -
~ «l—'G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #1-3 —>
" {/fornCode>
</kind0fProduct>
¢/instance0fKind>
{/consumable> .
{inboundRelationship typeCode- REFR™> i . \

<observation classCode="0BS" moodCode— EVN™>,
{code code="28" codeSystem="2. 16. 840. 1. 113883. 3. 989 2.1.1. 197 codeSystemVer51on— 1.1

displayName="parentRouteOfAdministration”/>

codesystemVersion='G.k.4.r.11.2a’>

—>

<value xsi:type="CE” code="G.k.4.r, 1L 2b"7 codeSystem=”2.16.840.1.113883.3.939.2.1.1l14'
¢{!— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date /- Number #1-3

¢l— G.k. 4.1.11.2b: Parent Route of Administration TermID #1-3 —> !
<originalText>G. k. 4. r. 11. 1{/original Text> .
<}— G.k.4.1:11. 17 Parent Route of Administration (free text) #1-3 —>
{/value> - DR
¢fobservation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP">
<{l— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #l-4 ~>
{substanceAdministration classCode="SBADM” moodCude— EVN">
{text?G. k. 4. r. 8¢/ text>
¢I—='G.k 4.1.B: Dosage Text #1-4 —> !
"(effectiveTime xsi:type="SXPR_TS">
{comp xsi'type="PIVL_TS">
{period value="10" unit="G.k. 4.r.3°/>
(l— G.k.4.r.2: Number of Units in the Interval #1-4 —>

¢}— G.k 4. r.3: Definition of the Time Interval Unit #1-4 —>
<{/comp>

<comp xsi'type="IVL_TS" operator= '
Cwidth value="4" wnit="G. k. 4.r.6b"/>
¢l G.k. 4. r.Ba: Duration of Drug Administration (number)- #1—4 —>
{!— G.k 4.7.6b: Duration of Drug Administration (unit) #1-4
<high value="20090101"/>
{1— G.k.4.1.5: Date and Time of Last Admlnlstrat1on -4 —
{/comp>
{feffectiveTime>
<routeCode code=" G k. 4.r.10. 2b" codeSystem=" 2 16.840. 1. 113883, 3.989. 2. 1. 1. 147

codeSystenVersion="G. k. 4. r. 10. 2a™>

{l-- G.%. 4.1.10.2a: Route of Administration TermID Version Date / Number #1-4 —
{— G.k.4.1r.10.2b:_ Route.of Administration TermID #1-4 -—>
{originalText>G. k. 4. 1. 10. 1{/originalText>
<J-- 6.k 4.1.10.1: Route of Administration (free text) #1-4 —>

</routeCode>

{doseQuantity value="10" unit="G.k 4 r.1b"/>

<l— G.k.4.1.la Dose {number) #1-4 —>



LI— G.k 4.r.1b: Dose (unit) #1-4 ~->
{consumable typeCode="CSH"> -
KinstanceOfKind classCode="INST">
¢productInstanceInstance classCode="MMAT" determinerCode=" INSTANCE >
<lotNumberText>G. k, 4. r. 7{/1otNunberText>
{l— G.k.4.r.7: Batch / Lot Number #1-4 —->
</productInstanceInstance)
<kindOfProduct classCode="MMAT® determinerCode="" KIND >

{TormCode code="G.k. 4.r.9.2b" codeSysten="TBD-DoseForm”
codeSystenVersion="G.%. 4. r.9. 2a™> - ) . . )
: : <!~ G. k. 4.r.9.2a: Pharmaceutical Dose Fori TermiD Version Date / Number #i-4 —>

<!— 6.k.4.1.9.2b: Pharmaceutical Dose Form TermID #1-4 —>
<originalText>G. k. 4.r. 9. 1</or1g1na1Text>
<—6kdro.1: Pharmaceutlcal Dose Form {free text) 41- 4 -—>

{/formCode>

</kind0fProduct>
</instance(fKind>
{/consumable>

<inboundRelationship typeCode="REFR">
<observation elassCode="0BS” moodCqde="EVN™>
{code code="28" cndeSystem— 2.16.840.1.113883.3,989,2,1.1.19" codeSystemVerslon—- .17
displayName="parentRoute0fAdministration”/>
) <value xsi:type="(E" code=" G k.4.r. 11. 2b" codeSystem—- 2.16.840.1. 113883. 3. 989, 2, 1. . 147
codeSystenVersion="6. k. 4. 1. 1. 2a">
' ’ ) {!— G.k.4.r. 11, 2a: Parent Route of Administration TernID Version Date / Number #1—4
—>
) -<|— G. k.4, 1. 11.2b: Parent Route of Admlmstratmn TermID f1-4 ——)
{originalText>G. k. 4. r.11. 1</or1g1nal‘l'ext>
d— G k41 11 1: Parent Route of Administration (free text) #1—4 -
<fvalued
 </observation>
" </inboundRelationship>
{/substanceAdministrationd>
{/outboundRelationship2> -
<outboundRelationship2 typeCode="COMP™> )
{!— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-5 —>
{substanceAdministration classCode=". SBADM moodCode="EVN">
" <text>G. k. 4.1.8¢/text> _
<!-- G.k.4.r.8: Dosage Text #1-5 —>
{effectiveTime xsi:type="SXPR_TS">
Ccomp xsi:type="IVL_TS">
{low value="20090101"/> )
<{!— G.k.4.r.4: Date and Time of Start of Drug #1 5 —=>
<high- value="20090101"/>
¢l— G.k. 4.1 5 Date and Time of Last Admmstratmn #1-5 —>
{/comp>’ .
{comp xsi:type= IVL 18" operator="A">
<width value="4" wit="G.k. 4.1.6"/>
{!-- G.k.4.r.8a: Duration of Drug Administration (number) #1-5 —>
{I— G k4r 6b: Duration of Drug Admimstratmn (unit) #1-5 —
{/eonp? .
{feffectiveTime>
{routeCodé code="G.k. 4 r.10. 2b" codeSysten="2. 16. 840. 1. 113883.3.989, 2. 1. 1. 14
codeSystenVersion="6. k. 4.r. 10. 2a”>
- 6.k 4r 10 2a: Route of Admmlstratmn TermlID Verslon Date / Numher #1—5 -
<l—— G.k. 4.r.10.2b: Route of Administratipn TermID. #1-5 —>
{originalText>G, k. 4.r. 10. 1</or1g1nalText>
<!— G.k.4.r.10.1: Route of Admmstratmn (fres text) #1-5.—>
{/routeCode>
<doseQuantity value="10" umt* "G k. 4. r 167/
<l G.k.4.r.1a Dose {number) #1-5 -->
. {I~— G.k. 4.r.1b: Dose (unit) #1-5 —>
{consumable typeCode- TSH™>
<instance0fKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE">
-ClotNunberText>G. k. 4. r. 7¢/1otNunberTexty )
{I=- G.k.4.1.7: Batch / Lot Number #1-§ —>
¢/productInstanceInstance>
<kind0fProduct classCode="MMAT” determmerCode— KIND">
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codeSystemVersion="G.k. 4.r.9.2a"> . :

: : ¢l G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-5 —>
{l— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-5 —> .
{originalText>G. k. 4. r. 9. 1{/originalText>
{I— Gk 4r01: Pharmaceutical Dose Form (free text) #1-5 —>

{/fornCode>
</k1nd0fProduct>
{/instance0fKind>
¢/consumable> ’

{inboundRelationship typeCode— REFR">
{observation classCode="0BS" moodCode="EVN">
<eode code="28" codeSYstem— 2,16, 840,'1, 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
.displayName="" parentRouteOfAdm1n1stratlon W2
<value xsi:type="CE” code="G.k.4.r. 11, Zb codeSystem="2, 16, 840. 1, 113883 3.989,2. 1.1, 14
codeSystemVer51on— G.k 4.1.11. 26"
- {l— Gk 4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #1-5
—>
{!-- G.k. 4.r. 11, 2b: Parent Route of Administration FTermID #1-5 —>
{originalText>G. k.'4. r. 11 1(/or1g1nalText> .
<l— G.k.4.r.11.1: Parent Route of Aduinistration (free text) #1-5 —>
{fralue> . . -
{/observation>
{/inboundRelationship>
{/substanceAdministration> -
</outboundRelationship2>
LoutboundRelationship2 typeCode="COMP™>
¢l— G.k.4.1: Dosage and Relevant Information (repeat as necessary) #1—6 —
<substanceAdministration classCode="SBADM" moodCode=" EVN >
(text>G. k. 4. 1. 8¢/ textd
¢{l—- G.k.4.1.8: Dosage Text H#1-6 —>
{effectiveTime xsi:type='SXPR_IS’>
{comp - xsi:type="PIVL_TS">
<period value="10" unit="G.k.4.r.3"/>
{— Gk 4.r.2: Number of Units-in the Interval #1-6 —>
<!— G.k.4.1.3: Definition of the Time Interval Unit #1-6 —>
{/comp>
<comp xsi:type="IVL_TS” operator="A">
<low value="200901017/>
{l— G.k.4.1r.4: Date and Time of Start of Drug #1-6 —=>
{width value="4" unit="6, k. 4 r1.6b"/>
¢{|— G.k. 4.1.6a: Duration of Drug Administration (number) §#1-6 —>
: {I— G.k.4.1.6b: Duration. of Drug Administration (unit) #1-6 ~—=
- {/comp> ’ .
{comp xsi:type="IVL_TS” operator="A">
<high value="20090101"/> )
¢{1— G.k.4.1.5: Date and Time of Last Administration #1-6 ——
{/comp>
{/effectiveTime> -
<routeCode code="G. k. 4.r.10.2b" codeSystem‘ 2.16. 840. 1. 113883. 3. 989 2.1.1. 14
codeSystemVer51on— G. k. 4.1.10, 22"
<l— G.k.4.r. 10.2a: Route of Administratiocn TermID Version Date / Number #1 6 —>
¢l== G.k. 4 r.10. 2b: Route of Admlnlstratlon TernID #1 6 —>
<originalText>G. k. 4. 1. 10. 1¢/originalText>
¢1— G.k.4.1.10.1: Route of Administration (free text) #1-6 —
{/routeCode> . ] .
{duseQuantity value="10" unit="G. k. 4.r.1b"/>
=~ G.k.4.1. 1a Dose {(number} #i-1 —>
{1—.G.k.4.r. 1b: Dose (unit) #1-1 ——> ’
{consumable typeCode="CSM™>
<instanceOfKind classCode="INST">
{productInstanceInstance classCode="MMAT™ determinerCode="INSTANCE">
<lotNumberText>6. k. 4. r. 7¢/1otNumberText>
{1— G.k.4.r.7: Batch / Lot Number #1-1 —>
{/productInstancelnstance> :
- <kind0fProduct clasgsCode="MMAT" determinerCode="KIND">
{fornCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.r. 9. 2a™> ’ ) .
¢l— G.k.4.1. 9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-6 —>



<}~ 6.k 4.1.9, 2b: Pharmacentical Dose Form TermID #1-6 ~—
{originalText>G. k. 4. 1. 9. 1{/originalText>
<I-= G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #l-6 —>
</formCode>
</kind0fProduct>
{/instance0fKind>
{/consumabley
<{inboundRelationship typeCode=" REFR >
<observation classCode="0BS" moodCode="EVN"> . :
{code code="28" codeSystem— 2. 16. 840, 1. 113883 3.989.2.1. 1. 19 ‘codeSystemVersion="1, 1"
d1sp1ayName- parentRouteQfAdministration”/>
<value xsi:type="CE" code="G.k. 4.r.11.2h" codeSysten="2, 16. 840. 1. 113883, 3, 989.2. 1. 1. 14"
codeSystemVersion='G.k.4.r.11.2§"> . T : T
: <I— G.k.4.1711.2a: Parent Route of Administration TeralID Version Date / Number #1-G
__) . . . - T
’ <I= G.k.4.r.11.2b: Parent Route of Administration TermID #1-6 —>
{originalText>G.k, 4. 1. 1L 1</or1g1nalText>
{I— Gk4r11.1: Parent Route of Administration {(free text) #1-6 —>
</value> . -
{/observation> ' - o
{/inboundRelationship?
{/substanceAdministration
</outbuundRelat10nsh1p2) ) ]
(outboundRelatlonshlpZ typeCode="COMP"> . .
{!— G.k.4.r: Dosage and Relevant Information (repeat as necessary) H1-7 —
{substanceAdninistration. classCode="SBADM" moodCode="" EVN >
<text>G. k. 4. 1. B /textd
{I— G/k.4.1.8: Dosage Text #1-7 —>
ReffectiveTime xsi:type="SXPR_TS">
{comp %si:type="IVL_TS™>
<low value="20090101"/>
_ {l— G.k.4.r.4: Date and Time of Start of Drug #1-7 —>
<width value="4" umnit="G.k. 4.r.6b"/>
<l-- G.k.4.1.6a: Duration of Drug Administration (nuruber) #1-7 —
{l— G.k. 4.r.6b: Duration of Drug Administration (unit) #1-7 —>
</comp>,
<comp xsi:type="IVL_TS" operator="A">
<high value="200901017/> -
<{I— G.k.4.r.5: Date and Time of Last Administration #1-7 -
</comp>
{/effectiveTime> - : L.
<routeCode code="G.k. 4, 1.10. 2b" codeSystem=”2.16.840.1 113883.-3. 989, 2. 1. 1. 14~
codeSystemVersmn— G.k. 4.r.10.2a">
<l— G.k.4.1.10. 2a: Rouie of Administration TermlD Version Date / Number #1—7 —
<l-— 6.%.4.r.10. 2b: Route of Administration TermID #1-7 —>
<originalText>G. k. 4.r. 10, 1</original Text>
<!— G.k.4.r.10.1: Route of Administration (free text) #1—7 -
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r. 1"/
{l-- G.k.4.r.1a Dose (number) #1-7 —>
<{l— G.k. 4.r.1b! Dose {unit) #1-7. - -
{consumable typeCode="CSM">
<instanceOfkind classCode="INST™> .
{productInstancelnstance classCode="MMAT” determ1nerCode- INSTANCE™ >
<lotNumberText>G. k. 4. 1. 7</lotNunberText>
{l== G.k.4.r.7: Batch / Lot Number #1-7 —>
{/productInstanceInstanced
<kind0OfProduct classCode="MMAT" determinerCode="KIND")

.

- {formCode code="G.k.4.1.9.2b" codeSysten="TBD-DoseForm” -
codeSystenVersion="6. k. 4.r. 9. 2a™>
¢!~ G.k.4.r.9. 2a: Pharmaceutical Dose Form TermID Version.Date / Number #1-7 —>
<!— G.k.4.r.9.2b: Pharmaceutical Dose Form TermiD #1-7 —> .
CoriginalText>G. k. 4.r.9, 1</originalText> -t
{!— 6.k.4.r79.1: Pharmaceutical Dose Form (free text) #1-7 —>
{/formCode>
</kind0fProduct>
{/instance0fKind>
{/consumable>

-<inboundRelationship typeCode="REFR">



<observation classCode="0BS" moodCode="EVN">
{code code="28" codeSystem='2.16.84D.1.113883.3.989.2.1.1.19" codeSystemVersion="1, 17
displayName= parentRouteOfAdm1nJstrat1on Wi
<value xsiitype="CE” code="G.k. 4.r, 11. 2b codeSystem— 2. 16, 840. 1. 113883. 3.989.2. 1. 1. 14"
codeSystemVersion="6. k. 4. r. 11. 2a”>
. . <J— G.k.4.r.11.23: Parent Route of Administration TermID Version Date / Number #1-7
-2
¢<!— 6.k 4.7.11.2b: Parent Route of Administration TermID #1-7 ——>
<originalText>G. k. 4. r. 11. 1</original Text>
== G.k.4.1.11. 1: Parent Route of Administration (free text) #1-7 -
{fvaluey -
</observation>
{/inboundRelationship> ~
{/substanceAdministration>
{/outboundRelationship2> -
<outboundRelationship? typeCode=" SUMM >
{chservation classCode="0BS" moodCode="EVN">:
{code code="14" codeSystem— *2. 16. 840 1.113883.3.989. 2. 1. 1. 19" codeSystemVer31on— 1 1"
d1sp1ayName— cumulativeDoseToReaction™/> .
{value xsi:type="PQ" value="10" unit="G.k.5b"/>
«l-= G.k Ga: Cumlative Dose to First Reaction {mumber} #1 -=>
¢l— G.%.5b: Cumulative Dose to Flrst Reaction (unit) #1 —> -
{/observation> .
{/outboundRelationship2> - .
<outboundRelationship2 typeCode="PERT"> -
{ohservation classCede="0BS" moodCode="EVN">
{code code="16" codeSystem— 2, 16. 840, 1. 113883 3.989,2,1.1.19" codeSystemVer51on— 1 17
dlsplayName— "gestationPeriod”/>
<value xsi:type="PQ" value="10" unit="G.k.6b"/>
¢l— G.k.Ba: Gestation Period at Time of Exposure (number} §1 —>
" ¢l-~ G, k.6b: Gestation Period at Time of Expoture (unit) #1 —>
{/cbservation>
</outboundRelationshipn2> -
<{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="31" codeSystem— 2.16.840.1.113883. 3. 989 2.1.1. 19" codeSystemVersion="1.1"
displayName="recurrance0fReaction”™/>
{value xsirtype="CE" code="G.k.8.1.4" codeSystem— 2. 16, 840, 1. 113883 3. 989 2.1.1, 16"

codeSystenVersion="1. 0" />
¢l— G.k.9.1i.4: Did Reaction Recur on Re—administration? Drug #1, Reaction #1' -->
{outboundRelationshipl typeCode="REFR™>
{actReference classCode="0BS” moodCode="EVN">
{id root="154eb889-958h~45f2-a02f~42d4d6f465TF" />
{/actReference’
{/outboundRelationshipl>
- {/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT"> .
<observation classCode="0BS" moodCode="EVN™> . ’ .
{code code="31" codeSystem='2.15.B40.1.113883.3.989:2.1.1.19’ codeSystemVersion="1.1"
dlsplayName— "recurranceOfReaction”/>
‘{value xsi:type= CE code— G.%k9.i.4" codeSystem— 2.16. 840 1.113883.3.989. 2. 1. 1. 16"
podeSystemVersion='l.0”/)
¢!— G.k.9.3.4: Did Reaction Recur on Re—admlnlstratlun7 Drug #1, Reaction #2 ——)
- <outboundRelationshipl typeCode=" REFR">
<actReference classCode="08S" moodCode="EVN">
<id root="2baa28d6-c9eB-4ebc-93e9~-5b860b314220" />
{factReference>
{/outboundRelationshipl>
{/observation>
{/outboundRelationship2>
<outboundRelat10nsh1pZ typeCode=" REFR >
_<chservation classCode="0BS" moodCode="EVN"> )
<code code="9" codeSystem~"2.16. 840. 1. 113883.3.980. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="codedDrugInfornation™/> ’ S : -
. <value xsi:type=’CE” code="G. k. 10. " codeSystem="2.16.840.1.113883.3.989.2.1.1.17”
codeSystemVersion="1,0"/>
<!— 6.k 10.7: Additional Information on Drug (coded)(repeat as necessary) #1-1 —->
(/observat10n>



{/outboundRelationship2>
{outboundRelationship2 typeCode="REFR">
{observation classCode="0BS” moodCode="EVN™)>
{code code="%" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19* codeSystemVers1on~ L.1°
displayName=" codedDrugInformatlon />
{value xsi:type=" CE cnde- G k.10.1° codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1. 1. 17"
codeSystenVersion="1.0"/>
<l—G. k. 10 T Add1t1onal Information on Drug (coded) (repeat as necessary) #1-2 —>
</obsérvation>
</outboundRelationship2>
<outhouindRelationship? typeCode="REFR">
<observation classCode="0BS" moodCode="EVN™>
. {code code="2" codeSysten="2.'16. 840, I1.113883.3.989.2.1.1. 19" codeSystemVerslon‘ 1 17
displayNawe="additional Information” />
¢value xsi:type="ST">G.k. 11(/value>
<)— G.k.11: Additional Infnrmat1on on Drug. (free text) il —
(/observat1on>
</outhuundRelat10nsh1p2)
{inboundRelationship. typeCode=" RSON >
" <observation classCode="0BS” moodCode="EVN"> ) ' )
{code code="19" codeSysten="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName=’indication’/)
(value xsi: type= CE code="G. k. 7. r. 2b” codeSystem- 2. 16. 840 1. 113883, 6. 163
codeSystemVerslun— Gk 7.r.2a™> .
(I~= G.k.7.1.2a> MedDRA Version for Indication #1-1 —>°
<l— 6.k 7.1, 2b: Indication (MedDRA code) #1-1 —>
- <eriginalText>G.k. 7.r. I</originalText>
<I— G.k 7.r.1: Indication as Reported by the Pr1mary Source #1—1 -3
</value> . .
{performer typeCode="PRF">
{assignedEntity classCode="ASSIGNED™>
. <code code="3" codeSystem— 2, 16.840.1.113883, 2.989.2. 1. 1. 21” cndeSystemVer31on~ 1L 0
displayName="sourceReporter”/> - ,
i {/assignedEntity> -
{/performer>
{/chservation>
. ¢/inboundRelationship>
“¢inboundRelationship typeCode="RSON">
<observation classCode="0BS” moodCode="EVN" ) .
{code code="19" codeSystem="2. 16.840. 1. 113883.3.989.2.1,1.19" codeSYsteqursion=”1.l’
displayNameF”indibation’/)
<value xsi:type= CE code="G. k. 7. r. 2b" codeSystem— 2. 16, 840. 1. 113883, 6. 163"
codeSystemVer51on— G.k7.r.2a7>
(l—— G, k 7.r.2a: MedDRA Version for Indication #1-2 —P
{!— G.k.7.r.2b: Indication (MedDRA code) #H1-2 ~>
<originalText>G. k. 7, 1. 1{/originalText>
¢I— 6.k 7.%1: Indlcatlon as Reported by the Primary Source- #1-2 ——>
<{fvalue>
{performer typeCode="PRF™>
) {assignedEntity classCode="ASSIGNED"> .
. <{code code— 3" codeSystem="2. 16. 840. 1. 113883. 3 989, 2. 1. 1. 21 codeSystenVersion="1. 0~
displayName="sourceReporter™/7 - )
: </assignedEntity>
{/performer>
{/observation> .
</inboundRelationship>
{inboundRelationship typeCode="CAUS">
- Cact classCode="ACT” moodCode="EVN*>
. Scode code="6.k.8” codeSysten="2. 16. 840, 1. 113883, 3.989,2,1. 1. 15 codeSystemVersion=fl.0”/)'
<|—— G.k.8: Action(s) Taken with Drug #1 —>
. . U Sacty
. : </inboundRelationship> _
</substanceAdninistration? : .
{/component>
¢}=— 6.k Drug(s) Information (repeat as neceséary) #2 —>-
{component typeCode="COMP">
<substanceAdministration classCode="SBADM” muodCode— EVN">
<id root="¢8d6f5ce—3b3b—45¢7-92dd-69e06730c3a0” />
- {consumable typeCode="CSM">

x



<1nstanceOfK1nd classCode="INST” >
<kind0fProduct classCode="MMAT" determinerCode=" KIND >
¢code code="G.k. 2.1.2b" codeSystem="TBD-FhPID"" codeSystemVersion="6.k.2.1.2a"/>
<]— G.k.2.1.2a: PhPID Versiocn Date / Number #2 —>
¢]— G.%. 2.1.2b: Pharmaceutical Product Identifier (PhPID) #2 —>
{name>G. k. 2. 2¢{/name> . :
¢l== G. k. 2.2: Medicinal Product Name as Reported by the Prlmary Source #2 ~=>
{asManufacturedProduct classCode="MANU">
{subjectOf typeCode="SB]">
{approval . ¢lassCode="CNTRCT” mondCodea EVN™>
<id extension="G.k.3.1” root="2.16.840.1.113883.3.989.2.1.3.4"/>
¢{l-- G. k 3.1: Authorisation / Application Number #2 —>
<holder typeCode="HLD">
<role classCode="HLD"> . )
<playing0rganization classCode="ORG" determinerCode="INSTANCE">
<name>G. k. 3. 3¢/name -
¢!— Grk.3.3: Name of Holder / Applicant #2 —
{/playingOrganization> ’
- {/role>
{/holder>
<author typeCode="AUT">
territorialAuthority classCode="TERR">
{territory classCode="NAT"" determinerCode="INSTANCE">
{code code="G.k. 3.2" codeSysten="1,0.3166.1.2.27/>
¢!— 6.k 3.2: Country of Authorisation-/ Appllcat1on B2 —> .
</texr1tory>
{/territorialAuthority>
{/author>
(pert1nent1nformat10n typeCode="PERT">
- <policy classCode="POLICY” moodCode="EVN">
<code code="J2.5.k" codeSystem="2.16. 840. 1. 113883, 3.989.5.1.3.2. 1. 47
codeSysterVersion="1. 0" /> o - -
‘ I— 0872, 5.k: —BRAERRFO) AZES% #2 —
</policy>
¢/pertinentInformation>
{/approval>
{/subjectQf>
{subject0f typeCode— SBI™>
{characteristic classCode="0BS" moodCode="EVN">

: {code code="1" codeSystem="2. 16. 840. 1. 113883 3. 989.5.1.3.2.1.10
codeSystemVersxon— 1. 07 d1splayName—”%fE%nn%'@ﬁdﬂ.Eﬁ}”D
¢value xsiitype="CE” code="J2.4.k" codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.3"

codeSystemVersion="1.07/>
<l-- @eey2. 4. k: %?E%m%@aﬂtm&% #2 -
{/characteristic>
{/subject0f>
{/asManufatturedProduct>
{ingredient classCode="ACTI">

{quantity>
{numerator value="10" mﬂ-&k&&n%/)
“{I— G.k.2.3.r.3a’ Strength (number} #2-1 —>
¢!— G.k.2.3.7.3b: Strength (unit) #2-1 ——>
{denominator value="1"/>

{/guantity>

{ingredientSubstance classCode— MMAT” determinerCode="" KIND >

: . . (code code="G. k.2.3.1.2b" codeSystem="TBD-Substance”
codeSystemVersion="C.k. 2.3.1.2a" /> ’ :
¢l=- G.k.2.3.r.2a: Substance / Specified Substance TermID Version Date / Number #2-1
..-) -

_UﬂGkijJib&MﬁMe/&wﬂmd&mmmehmm#%l—>

<name>G. k2. 3. r. 1{/name>
' dﬂGijJJ.&mmmelﬁmﬁmdﬁmmmeMM#%1‘>
¢/ingredientSubstance>
{/ingredient>
<ingredient classCode="ACTI">

{quantity>
-{numerator value="10" unit="G.k. 2. 3.r, 3b" />
1= G.k.2.3.1.3a: Strength (number) §2-2 —>

<1— 6.k.2.3.1, 3b: Strength (unit) #2-2 —>



<denominator value="1 />

</quantity>
-<ingredientSubstance classCode— MMAT” determinerCode="KIND">
. "{code code="G.k.2.3.1.2b" codeSystem— TBD-Substance”
codeSystenVersion="G. k. 2. 3.r. 2a"/> '

{!— G.k.2.3.r. 2a: Substance / Specified Substance TermID Version Date/Mumber #2-2 —
>
<{!— G.k.2.3.r. 2b Substance / Spec1f1ed Substance TermID #2-2 —>
. <name>G. k. 2. 3. r. 1</name>
<I— G.k.2.3.1.1: Substance / Specified Substance Name #2-2 ->
{/ingredientSubstance>
{/ingredient>
</kindOfProduct>
{subjectOf typeCode="SB]">
. <productEvent classCode="ACT" moodCode="EVN" >
<code code=" 1 codeSystem— 2. 16, 840, I 113883 3. 989. 2 1.1.187 codeSystemVer51on— .07
displayName="retailSupply”/>
- <performer typeCodes"PRF” >
. <assignedEntity classCode="ASSIGNED">
{represéntedOrganization ¢lassCode="0RG" determlnerCode— INSTANCE”™>
{addr> |
. {country>G. k. 2. 4<{/country>
{1— 6.k.2.4: Identification of the Country Where the Drug Was Obtained H#2 —>
(/addr)
{/representedOrganization’
{/assignedEntity>
{/performer>. . :
{/productEvent>.
{/subject0f>
_' . {subjectOf typeCode‘ SBI”>
<observationEvent classCode="0BS" moodCode="EVN">

Qwew®~2cﬁﬁwﬁleﬁMDlH%%39%5JJJJJO
codeSystemVersion="1.0" dlsplayName —R R ERESOAERE />
<va1ue xs1:type="CE” code="J2.6.k" codeSystem="2. 16.840.1, 113883.3.989.5. 1. 3. 2. 1.5"

codeSystenVersion="1.0"/>
‘ <i—. 888J2. 6.k: —ﬂx}ﬁiz%ﬁo))@&% #2 —
{/observationEvent>
{/subjectOf>
</instanceOfKind>
{/consumable>
CoutboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.1.3.1b"/>
- <l— G.k.9.1.3.1a Time Interval between Beginning of Drug Admlnlstrat1on and Start of
Reaction / Event {(pumber).Drug #2, Reaction #1—> .
<l— 6.%.9.i.3.1b: Tine Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #1 —> + . . -
{actReference ¢lassCode="0BS" moodCode="EVN"> o
<id root="154ebB889-958b—45f2-a02f~42d4d6T4657E" />
" {/actReference> :
" {/outhoundRelationshipl>
{outboundRelationshipl typeCode=" SAE >
<pauseQuantity value="10" unit="6.k.9.i.3.2b"/>
{!— 6.k.9.1.3.2a: Time Intervel between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction #1 —>
. {I— 6.%.9.1i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction §1 —>
{actReference classCode— 0BS” moodCode="EVN">
<id root="154eb8B9- 958b—45f2-302f—42d4d6f4657f'/>
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="3SAS5">
" <pauseQuantity value="10" unit="G.k 9. i.3. Ib"/>
¢l— 6.k 9.1.3.1a! Tine Interval between Beg1nn1ng of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #2 —->
<l— G.k.9.i.3.1b: Time Interval between Beginning of Drug Adm1n1strat10n and Start of
Reaction / Event (unit) Drug #2, Reaction #2 —>
<actReference classCode="0BS" moodCode="EVN” pe
{id root= 2baa28d6—c9e8—4eﬁc"9339 5b860b3142207 />
{/actReference>



</outboundRelationshipl>
. {outboundRelationshipl typeCode="SAE™>

. <pauseQuantity value="10" wnit="G.k.9.i.3.2b7/>
N U"&k&L&h:ﬁmIMﬂWIMW%nMﬂDmeMDmgmd&utﬁR%ﬂhn/ﬁmt
(number) Drug #2, Reaction #2 —>
{I=- 6.k.9.1i.3.2b: Tlme Interval between Last Dose of Drug and Start of Reactlon / Event

(un1t) Drug #2, Reaction #2 —>
{actReference classCode="0B5" moodCode— EVN">
h <id root= 2baaZBd6—c9e8—4eﬁc—93e9—5b850b314220 /7
. {/actReference>
. {/outboundRelationshipl>
: {outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit= “G. k. 9.1. 3. 10"/>
. R e G.k.9.i. 3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reactlon / Event (number) Drug #2, Reaction #3 —>
<)— G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of .
React:un / Event {(unit) Drug #2, Reaction #3 —->
{actReference classCode=" OBS moodCode="EVN">
. ¢id root="3a8626cb—9f1b-4eal-8a0f-e0ff34430adf" />
¢/dctReference?
</outboundRelationshipl>
CoutboundRelationshipl- typeCode=" SAE >
. ¢pauseQuantity value="10" unit="G.k.9.i.3.2b"/> ' :
- G.k.9.1.3.2a Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Prug #2, Reaction #3 >
<I— 6.k9.i.3.2b: Time Interval betwaen Last Dose of Drug and Start of Reactlon /- Bvent
(unlt) Drug #2, Reaction #3 —> - .
{actReference classCode="0BS” mocdCode="EVN"> .
" <id root="3a8626cb-9f1b-4eal~8a0f-e0ff34430adf />
{/actReference> .
{/outhoundRelationshipl> -
{outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" wnit="G.k.9.i.3. 16"/>
{l— G.% 9 i.3.1a: Time Interval between Beginning of Drug Adm1n15trat10n and Start of
Reaction / Event (number) Drug #2, Reaction #4 —>
—6.%9.i.3 1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event {unit) Drug #2, Reaction #4 —>
<actReference classCode=" OBS moodCode="EVYN">
<id root="2e99840f-08b4-490¢c~B0ff-dd8415T4fBa5" />
{/actReference>
¢/outboundRelationshipl>
{outhoundRelationshipl typeCode="SAE™>
{pause@uantity value="10" unit="G.k.9.i.3.2b"/>

{l— G.k.9.i.3. 2a: hmIMHMIManhﬂDmeﬁDmgmd&mtﬁRwﬁmn/mmt
(number) Drug #2, Reaction H#4 —>
(F—&k&L&%:hmIMHMIMW%nmaneﬁDmgmd&utﬁRaﬁmﬂ/ﬁmt

. (unit) Drug #2, Reaction #4 —> -
<actReference classCode="0BS" moodCode="EVN"> -
<id root="2e99840f-08b4—499c—80FF-ddB415F4F8a5"/>
{factReference
- {/outboundRelationshipl>
<outhoundRelationshipl typeCode="SAS"> .
<pauseQuantity value="10" unit="G.k.9 i.3.1b />
¢I— 6.k.9.1i.3. 1a: Time Interval between Beglnnlng of Drug Adm1nlstrat10n and Start of
Reaction / Event (number) Drug #2, Reaction #5 —>
U#GkﬁJJJbTmemwwﬂbﬁmeummmofhuhhmmuumnmd&utd
Reaction / Event (unit) Drug #2, Reaction #5 —— .
<actReference classCode="0BS" moodCode="EVN"> )
<id root="1071064c—cf10-4a3b-83c1-34f0ddbTeald” /> o
{/actReference> . ’
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
(pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>

¢l— G.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) . Drug #2, Reaction #6 —>
<l— 6.k 9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event

(unit) Drug #2, Reaction #5 -~
<actReference classCode="0BS” moodCode="EVN">
{id root="1071064c-cf10-4a3b~83c1~34f9ddbTeabd” />



</actReference>
{/outboundRelationshipl>
<outboundRelationshipl' typeCode="SAS">
<{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
{I— 6. k.9.1. 3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #6 <=
<{1— G.k.9.1.3. b’ Time Interval between Beglnnlng of Drug Adm1n1strat1on and Start of
Reaction / Event (unit) Drug #2, Reaction #6 —>-
<actReference classCode=" OBS noodCode="EVN™>
<id root="1f927283~10b6-4334~0d43-925640Fb18F" /> .
{/actReference>
</outboundRelationshipl> -
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="C. k. 0.1i.3.2h e
<{1— 6.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reactlon / Event
(number) Drug #2, Reaction #6 —>
<l-- 6.k 9.4.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(un1t) Drug #2, React1on #6 —
{actReference classCode="0BS" muodCode— EVN". )
<id root=" 1f927283-10b6-4334-9:143—8925640fble />
{/actReference’
{/outboundRelationshipl>
<cutboundRelationshipl typeCode="SAS” "y
_<pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<l— 6.k 9.1.3. Ia: Time Interval between Beglnnlng of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #7 —» '
. <— G. k913 1b: hmIMleMan%mmmgﬁDmngmﬂmhmaMSmmof
Reaction / Event (unit) Drug #2, Reaction #7 > .
{actReference classCode="0BS" moodCode="EVN">
<id root= eO3429G9—38be—423f—b6bb—ce14b02?9d8e 23
{/actReference>
{/outbhoundRelatienshipl>
{outboundRelationshipl typeCode="SAE">"

<pauseQuantity vale="10" unit="G.k.9.i.3.2b%/>

{l— G. k9.1 3. 2a: hmImumlmwﬂnMﬂDmeﬂDmgmd&ﬂthwﬂmn/hmt
(number} Drug #2, Reaction #7 ——>

<l— G.k.9.1.3.2b Time Interval between Last Dose of Drug and Start of Reaction / Event

(unit) Drug #2, Reaction #7 —>
{actReference classCode="0BS” moodCode="EVN™>
{id root="20342969-3 Bbe-423f—b6bb-—cel4bc279d8&”/ >
</actReference)
. {/outboundRelationshipl>
<outboundRelationshipl typeCode="35AS" )
{pausefuantity value="10" unit="G. k. 9.1.3.1b"/> . :
<l— 6,k.9.1.3.1a: Time Interval between Beginning of Drug Administiration and Start of
Reaction / Event (number) Drug #2, Reaction #8 —> -
¢l 6. k.9.i3.1b: Time Interval between Beginnlng of Drug Admznlstratlon and Start of
Reaction / Event, (unit} Drug #2, Reaction #8 —->
LactReférence classCode="08S" moodCode— EVN” >
. <id root=" a15beO92—8070-426d—af04—686326344380 »
. {/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE"»

{pauseQuantity value="10" unit="G. k. 9.1i. 3. 2b" />
<l=- G k9.i.3.2a: Tine Interval between Last Dose of Drug and Start of Reaction / Event.-
(number) Drug #2, Reaction #8 —>

. {l— 6. k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #8 —> -
: {actReference classCode="0BS" moodCode="EVN">
<id root="al5hed92-8070-426d-af 0468632634430 />
{/actReference>
(/outboundRelatlonshlpl)
<outboundRelationship2 typeCode="PERT” >
{observation classCode="0BS” moodCode="EVN™>
{code code="6" codeSystem=" 2.16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="blinded”/> 3 .
{value xsi:tjpg='BL” value="true”/>
<I— G.k.2.5: Investigational Product Blinded #2 —>
{/observation>




{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP">
¢l— G.k.4.r : Dosage and Relevant Information (repeat as necessary) #2—1 —>
{substanceAdministration clasande- SBADM™ moodCode="EVN™>
{text)G. k. 4. r. 8<¢/text>
{!— G k.4.r.B: Dosage Text #2-1 —>.
{effactiveTime xsi:type="IVL_T5">
<low value="20090101"/>
"¢l-- G.k. 4.r.4% Date and Time of Start of Drug #2—1 —>
<high value="20080101"/> -
¢]—'G.k.4.1r.5: Date and Time of Last Admlmstratlon #2-1 —
{/effectiveTime>
{routeCode code="G.k.4.r1. 10 2b" codeSystem— 2, 16. 840, 1 113883, 3.989. 2. 1. 1. 14"
codeSystemVersion="" G k. 4.r, 10. 2a">
. «{l— G.%. 4.7.10.2a: Route of Administration TermID Version Date / Number #2-1 —>
¢|— G.k.4.r.10. 2b: Route of Adwinistration TermID #2-1 —
{originalText>G. k. 4. 1. 10. 1</originalText>
. <!— 6.k 4.1.10. 1: Route of Administration (free text) #2-1 -->
{/routeCode>
(doseQuantity value=" 10" unit="G.k. 4.1.1b"/> o
¢l— 6. k.4.1. 1a Dose (number} #2-1"-->
{!— G.k.4.1. 1b: Dose (unit) #2-1 —>
{consumable typeCode="CSM">
{instance0fKind classCode="INST">
<product1nstancelnstance classCode=" MMAT determinerCode="INSTANCE">
" QlotNumberText>6. k. 4, r. 7¢/1otNunberText>
¢l— G.k.4.r.7: Batch / Lot Number #2-1 —>
{/productInstancelnstance> .
- <kindOfProduct classCode="MMAT" determinerCode="KIND"> -
- {formCode code="G. k, 4.1, 9.2b" codeSystem="TBD-DoseForm” '
" codeSystemVersion="C.k. 4.r.9.2a">
. <= G.k.4.r.9, 2a: Pharmaceutical Dose Form TermID Version Date / Number f2-1 —>
¢]— G.k.4.1.9, 2b: Pharmaceutical Dose Form TermID #2-1 —>
{originalText)G. k. 4.1. 8. 1</originalText>
{l=- G:k. 4.1.9.1: Pharmaceutical Dose Form (free text) #2-1 —>
{/formCode>
</kind0fProduct>
</instanceOfKind>,
{/consumable>
<inboundRelationship typeCode="REFR">
{observation classCode="0BS" moodCode="EVN">
{code code="28" codeSystem="2. 16, 840, 1. 113883. 3. 989, 2. 1 1.19" codeSystemVersmn— .17
displayName= parentRouteOfAdmmstratmn 1
. <value xsi: type— "CE” code="G. k. 4. r.11. 2" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 11. 2a*> .
- <l— G. k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number $#2-1 .
-
. ¢l=~ G.k.4.r.1L.2b: Parent Route.of Administration TermID #2-1 —
<originalText>G. k. 4. r. 11. 1</original Text>
" - Gokodor.11. 11 Parent Route of Administration (free text) #2-1 —
</value>
{/observation>
{/inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<putboundRelationship? typeCode=" COMP >
v ¢! G,k 4, r: Dosage and Relevant Information (repeat as necessary) #2-2 —>
{substanceAdministration classCode="SBADM” loodCode— “EVN">
{text>G. k. 4. 1. 83{/textd
¢!= G.k.4.r.8: Dosage Text #2-2 — -
{effectiveTime xsi:type="IVL_TS™>
{low value="20080101"/>
¢l-— 6.k 4.r.4: Date and Time of Start of Drug #2-2 —
<width value="4" unit="G.k. 4 r.6b"/>
¢{l— G.k.4.1.6a Duration of Drug Administration (number) #2-2 —>
¢{|— G.k.4.r.6b: Duration of Drug Administration (unit) #2-2 —>
{/effectiveTime>
- (routeCode code="G. k. 4.r.10.2b° codeSystem="2. 16. 840 1.113883.3,989.2.1.1. 14
codeSystemVersion="C, k: 4.1..10, 22”5 .



<‘—- G.k.4.r.10. 2a: Route of Administration TermlID Version Date / Number #2-2 ——>
<d—- G.k.4.1.10, 2b: Route of Adninistration TermID #2-2 ~—>
{originalText>G. k. 4. r. 10. 1<{/originalText)
. == 6.k 4.r,10. 1: Route of Adm1n1strat10n (free text) H2-2 —>
{/routeCoded .
<doseluantity value="10" unit="G. k. 4.1. 16" />
<I— 6.k 4.r.la Dose (number) #2-2 —>
{!— Gk 4.r.1b: Dose (unit) #2-2 -=>
{consumable typeCode="CSM*>"
<instance0fKind classCode="INSI"> .
(productInstanceInstance classCode="MMAT” determinerCode="INSTANCE™>
<lotNumberText>G. k. 4, r. 7</1otNumberText)"
<J=- 6.k 4.7, 7: Batch / Lot Number #2-2 —>
{/productInstancelnstance> -
- <kind0OfProduct classCode="MMAT" determinerCode="KIND">

{formCode code="G.k.4.r.9.2b" codeSysten="TBI-DoseForm”
.codeSystenVersion="G. k.4 1. 9. 2a™> .
' - ' <l-- 6.k 4.1.9, 2a’ Pharmaceutical Dose Form TérmID Version Date / Number #2-2 ~->
{l— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-2 —>
{originalText>G. k. 4. 7. 9. 1</originalText>
<F—&kénalPMWuWMWIMwFum&memn)Mﬂ-ﬁ
</fornCode> :
</kind0fProduct>
{/instanceOfKind>
</consumable>

{inboundRelationship- typeCode="REFR™>
{observation classCode="DBS” mnodCode— EVN™>
. {code code="28" codeSysten="2, 16. 840 1.113883.3.989,2,1.1.197 codeSystemVers1on~ .17
dlsplayName— parentRouteUfAdm1n1strat1on />
<value xsi!type="CE" code=”G.k.4.i.11.2b' codeSystem=’2.16.840.1.113883.3.989.2.1;1.14'
codeSystenVersion="G.k. 4. 1. 11. 2a”> i ]
’ {}=~"G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-2-
s : A . .
1= G.k.4.1:-11-2b: Parent-Route of Adzinistration TermID #2-2. —5
<originalText>G. k.'4. r. 11. 1</originalText> .
-Gk 4r1l1.1: Parent Route of Administration (free text) #2—2 -
{/value> ’
. {/observation>
! </inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationshipZ typeCode="COMP"> .
<!— G.k.4.r: Dosage and Relevant Information (repeat as -necessary) #2-3 —> :
{substanceAdninistration classCode="SBADM” moodCode="EVN"> - !
<text?G. k. 4. . B(/text> .
<|—'6.k4.1.8: Dosage Text #2-3 —> -
{effectiveTime xsi:type="IVL_TS*>
<width value="4" unit="G.k. 4, r. 6b"/)
<!— G.k.4.r.6a: Duration of Drug Administration (number) #2-3 —>
¢!— G.k. 4.r. 6b: Duratien of Drug Adm1n15trat10n {unit) #2~-3 —>
<high value="200301017/>
!~ G.k. 4.1.5: Date and Time of Last Administration #2-3 —
{/effectiveTine> .
{routeCede code="G.k. 4.r.10.2b" codeSystem="2. 16. 840. 1, 113883. 3. 989. 2. 1. 1. 14"
codeSystemVerslon- G. k. 4.r. 10, 2a >
‘I~ Gk4r 10 2a: Route of Administration TermID Version Date / Number #2-3 ——>
<!=~ G.k. 4.r.10. 2b: Route of Administration TermID ¥2-3 —>
CoriginalText>G. k. 4. r. 10, 1{/originalText>
{I— G.k4.r10.1: Route of Adminlstrat1on (free text) #2—3 -
{/routeCode)
{doseQuantity value="10" unit="G.k.4.r. 1b"/>
« ¢!— G.k. 4.r. 1a Dose (number) #2-3 —>
¢{I— G.k.4.r.1b: Dose (unit) #2-3 —>
{consumable typeCode="CSM">
{instanceOfKind elassCode="INST™>"* -
<productInstancelnstance classCode="MHAT" determlnerCode- INSTANCE >
{lotNumberText>G. k. 4. r. 7¢/lotNumberText>
{l~- G.k.4.1.7: Batch / Lot Number #2-3 —
{/productInstanceInstance?



<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k. 4.r:9.2b" codeSystem="TBD-DoseForm”-

codeSystenVersion="G. k. 4. r. 9. 2a"> .
- {l— G.K.4.1.9.2a: Pharmaceutlcal Dose Form TermID Version Date / Number #2-3 ——)
. {!— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-3 —>
{originalText>G. k. 4.r. 9. 1<{/originalText>
¢J-- G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-3 —->
{/formCode>
</kind0fProduct>
{/instanceOfKind>
</consumable>

{inboundRelationship typeCode="REFR">
" {observaticn classCode="0B3" mocodCode="EVN™>
{code code="28" cudeSystem— 2,16.840. 1.113883.3.989. 2. 1. 1. 19 codeSystemVersion='1.1”
- displayName="] arentRouteOfAdm1n1stratzon “
. ' {value xsi:type="CE” code—,G.k.4.r.11 2b" codeSysten="" 2 16. B40. 1. 113883, 3. 989. 2. 1. 1 14"
codeSystemVersion=2G. k. 4.r. 11. 28>
o ' - p,k.4.r.11.23: Parent Route of Administration TermID Version Date / Number #2-3
_> . N . - . N .
¢1— G.k.4.7.11.2b: Parent Route of Administration TermID #2-3 -->
{originalText>G. k, 4.1, 11, 1(/or1g1na1Text)
¢{|— G.k.4.r.11.1: Parent Route of Administration. (free toxt) #2-3 —
{/value>
{/cbservation>
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode— coMp™y . “
{l—— G,k 4.r: Dosage and Relevant Information (repeat as necessary) #2-4 —»
<substanceAdministration classCode="SBADM” moodCode="EVN">
<text>G. k. 4. r. 8</text>
{l— G.k.4.r.8: Dosapge Text #2-4 —>
<effectiveTime xsi:type="SXPR_TS™> .
(comprsi:type="PIVL_TS'>
{period value="10" unit="G.k. 4.r.3"/>

¢1=~ G.k.4.7.2: Number of Units in the Interval #2-4 —>
<= G.k.4.r.3: Definition of the Time Interval Unit #2-4 —
</comp»

{comp xsi!type="IVL_TS". operator="A">
<low value="20090101"/>
 <l— G.k.4.r.4: Date and Time of Start of Drug #2-4 —>
{/comp>
{/effectiveTime>
{routeCode code="G.k. 4.T.10.2b" codeSystem="2. 16. 840. 1. 113883 3.989.2, 1. 1. 147
codeSystemVersion="G.k. 4. r. 10. 2a">
<!— G.k 4.1.10, 227 Route of Administration TermID Version Date / Number $#2-4.—
<{l—'G.%.4.1.10. 2b: Route of Administration TermID #2-4 —>
{originalText>G. k. 4. r. 10, 1<{foriginalText>
. ¢l— 6.k.4.1.10.1: Route of Administration (free text) #2-4 “->
</routeCode>
- doseQuantity value="10" unit="G.k.4.r.1b"/>
<{|— G.k.4.r.1a Dose (number) #2-4 —
¢l== G.k.4.1.1b: Dose (unit) #2-4 —>
{consumable typeCode="CSM*>
<instance0fKind classCode="INST™> B
<productInstancelnstahce classCode="MMAT” determinerCode="INSTANCE™>
{lotNomberText>G. k. 4. . 7</1otNunberText>
¢l— G.k.4.r.7: Batch / Lot Number #2-4 —>
* </productInstancelInstance>
- <kind0fProduct classCode="MMAT" determlnerCode— KIND >
<formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForan”

codeSystenVersion="G.k. 4. r.9.2a"> ‘
’ ¢l— G.%. 4.7.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-4 —>

<|— G.k.4.r.9.2b: Pharmaceutical Dose -Form TermID #2-4 —>
- - <originalText>G. k. 4.r. 9. 1¢{/originalText>
<F‘QK&LQLPMMquMIMRFMmHmemn)ﬂ4—¢
</formCode>
{/kindOfProduct>

</instance0fKind>



{/consumable : .
<inboundRelationship typeCode="REFR">
{observation classCodeé="0BS” moodCode="EVN"> :
{code code="28" codeSystem="2. 16, 840. 1. 113883. 3.989.2, 1. 1. 19" codeSystemVersion="1. 1"
d1splayName— parentRuuteUfAdm1nlstrat1on”/> : .

] <value xsi:type="CE" code=" G. k. 4.r. 11 2b” codeSystem="2. 16. 840, 1. 113883, 3.980.2. 1, 1; 14"
codeSystemVersion="G. % 4.r, 11, 2a"™> —
<l— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-4
—-;> . -

{!— G.k.4.1.11.2b: Parent Route of Administration TermID #2-4 —>
<originalText>G. k. 4, r, 1. 1<{/originalText> :
(!~ 6.k 4.7. 11, 1 Parent Route of Administration (free text) #2-4 —
{/value) . N
{/observation) .
 {/inboundRelationship> - . T i ‘
</substancefdmninistration> ] . .
</outboundRelationship2> . .
<outboundRelationship2 typeCode=" CDMP > : ’ . .
{l—G.k.4.1! Dosage and Relevant Information (repeat as necessary) #2-5 -—>
{substanceAdministration classCode="SBADM® moodCode="EVN">
{text>G. k. 4. r. 8</text> Lo
<!— G.k.4.r.8: Dosage Text #2-5 —> ’ i
{effectiveTime xsi:type="SXPR_TS">
{comp xsi:type="PIVL_TS">
-<period value="10" unit="G.k.4.r.3"/>
<l— 6.k 4.r 2 Number of Units in the Interval #2-5 —>
{I—6.k4r3: Deflnltlon of the Time Interval Unit #2-5 —~>
</comp>
{comp xsi:type="IVL_T§" operator— A"y
<high value=" 20090101 T/
. Kl— 6.k 4.1.5: Date and Tine of Last Adm1n1strat10n #2-5 —>
</comp>
{/effectiveTime>
! {routeCode code="G.k.4.r. 10.2b" codeSystem—-Z 16. B40; 1- 113883, 3.989. 2.1 1. 147
codeSystemVersion="G. k. 4. r. 10, 2a™>
<= G.k 4.r. 10 %a: Route of Administration TermID Version Date / Number #2-5 —>
<l— G.k.4.1.10.2b: Route of Administration TermID #2-5 —
{originalText>G. k. 4.r.10. 1<{/original Text>
¢{l— 6.k.4,7.10.1: 'Route of Administration (free text) #2-5 —»
¢/routeCode?
¢doseQuantity value="10" unit="G.k 4.r.1b" />
¢! G.k.4.1.1a Dose (number) H2-§ ~->
{I— G.k.4,r.1b: Dose (unit) #2-5 —>
<consumable typeCode="CSM™>
{instanceOfKind classCode="INSF">
<productInstanceInstance classCode="MMAT" determlnerCude— INSTANCE >
+. - <lotNumberText)G. k. 4. r. 7</LotNumberText>
{l— G.k.4.r.7: Batch / Lot Number #2- 5 -
</productInstancelnstance>
<kindOfProduct classCode="MMAT", determinerCode="KIND">

L

) ‘ {formCode code="G, k. 4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystenVersion="G. k. 4.r.9. 2a™>
; <h-&kin&2aFMmmwnmlMRFMmhmmVammDmelmmaﬁk5“>
<= G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #2-5 —>
] -originalText>G. k. 4. r. 9, 1</originalText>
U~ Gk 4r.09.1: %umwumﬂbwe%m(ﬁ%tuﬂ#}5“>
</formCode>
</kind0fProduct>
¢/instance0fKind>
{/consumabled .
{inboundRelationship typeCode="REFR")> - ’ .

{ohservation classCode="0BS” moodCode="EVN">
"Ccode code="28" codeSystem="2. 16. 840 1.113883.3,989,2,1. 1. 19" cndeSystemVer31on~ .1

displayName="parentRouteOfAdministration”/>

. : <value xsi:type=" CE” code=" G k. 4.1.1L. 2" codeSystem="2. 16. 840, 1. 113883, 3, 989. 2. 1. L. 14"
codeSystenVersion="G. k. 4. r. 11. 2a™
. <I— G.k. 4. 1.1} 22! Parent Route of Administration TermID Version Date / Number #2-5
—
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<originalText>G. k. 4. 1. 11. 1</original Text>
¢]—— 6.l 4.r.11. 1! Parent Route of Adm1n1strat10n (free text) #2-5 -
</fvalue> )
</observation?
</inboundRelationship>
{/substanceAdministration’
</outhoundRelationship2>
<outboundRelationship2 typeCode="COMP*>
<l— G.k.4.7r: Dosage a@nd Relevant Information (repeat as necessary) #2-6 —>
. <substanceAdministration classCode=" SBADM moodCode="EVN">
{text>G. k. 4. r. 8{/text>
<I— G.k.4.1. 8 Dosage Text #2-6 —
{effectiveTime xsi'tyﬁe—'SXPR_TS”)
<comp xsi:type="PIVL_TS™>
{perieod value="10" unit="G.k. 4. r. 3”/) i
{l-= G.k.4.1.2: Number of Units in the Interval #2-6 —>
== G.k. 4.r.3: Def1n1t1on of the Time Interval Unit #2-6 —>
</comp>
{comp zsi:type="IVL_TS” operator="A">
{width value="4" unit="G. k. 4.r.6b"/> :
{l— G.k.4:1.6a: Duration of Drug Administration (number) f2-6 —>
£l 6.k 4.1.6b: Duration of Drug Administration- (unit) #2-6 —->
{/comp>
{feffectiveTime>
. {routeCode code="G.k.4.r.10.2b" codeSystem="2. 16. 840. 1 113883 3.980.2,1.1.14"
codeSystemVersion="6. k. 4. r. 10, 2a">
<l— G.k.4.7.10. 2a: .Route of Adm1n1strat1on TernID Version Date / Nuzber #2-6 ~>
<l— G.k. 4,7.10. 2b: Route of Administration TermID #2-6 -->
{originalText?G. k. 4.r. 10, 1</originalTextd
=Gk 41.10.1: Route of Administration (free text) H2-6 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.1.1b"/>
<!— G.k.4.r. la Dose {number} #2-6 —>
{I— G. k. 4.r.1b: Dose {unit) §2-6 —>
(consumable typeCode="CSM">
<instance0ffind classCode="INST” )
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r, 7</lotNumberText>,
<I— G.k:4.1.7: Batch / Lot Number #2-6 —>
{/productInstancelnstance> ~
<kindOfProduct classCode="MMAT” determinerCode="KIND">

GMMMemhfﬁk&nl%”wﬁwﬂmfmmwn%m'
codeSystemVersion="6.k.4.r. 9. 2a™> .
: ¢{J— G.k.4.r.9. 2a: Pharmaceut1cal Dose Form TermID Version Date / Number #2 6 —>
- o <l— G.k 4.r. 9 2b: Pharmaceutical Dose Form TermID #2-6 —>
@nymﬂuﬂ&k&n&KhnpmHuﬂ
r {l— 6.k 4.r.8.1: Pharmaceutlcal Dose Form (free text) #2—6 —>

. </formCode>
</kindGfProduet>

{/instance0fKind>

</consumable> .

{inboundRelationship typeCode="REFR">
(observatlon classCode="0BS" moodCode="EVN™>
{code code="28" codeSystem="2. 16 840. 1. 113883, 3. 989 2.1. 1. 19" codeSystenVersion=" 1 17
displayName="parentRouteOfAdministration”/>
Cvalue xsi:type="CE” code="G.k. 4.r.11.2b" codeSystem=" 2.16.840:1.113883.3.989.2‘1.1.14

codeSystemVersion="6. k. 4. r. 11. 2a™> ] )
' {l>= G.k.4.1.11.2a: Parent Route of Administration TermID Version Date’/ Number #2-6
-
: == G. k. 4.7.11.2b: Parent Route of Administration TermID #2-6 —>
<originalText>G. k. 4. 1. 11, 1</originalText>
<!== G.k.4.r. 11 1: Parent Route of Administration (free text) H#2-6 —>
</value>
{/observation>
¢/inboundRelationship>
{/substanceAdministration>
<{/outboundRelatienship2>
<outboundRelationshipZ typeCode="COMP™>
¢{l— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-7 —>




{substanceAdministration classCode="SBADM” moodCode="EVN™>
{text>G k. 4. 1. 8¢/text>
- G.k 4.r.8: Dosage Text #2-7 —>
{effectiveTine xsi:type="PIVL_TS™>
{period value="10" unit="G.k 4.r.3"/">

{!=—= 6.k 4. 1. 2: Number of Units in the Interval H2-7 —>
=Gk 41 3: Deflnltlon of the Time Interval Unit #2-7 —>
</effectiveTime>

{routeCode code="G. k. 4.r.10.2b" codeSystem— 2.16.840,1,113883.3.989.2.1.1. 14"
codeSystemVerslonu G. k 4.r.10.2a™
. 1= G.ki4.1.10.2a: Route of Administration TermlD Version Date / Number #2-7 —>
<!~- 6.k 4.1.10.2b: Route of Administration TermID #2—7 -
<originalText>G. k. 4. r. 10. 1<{/originalText>
<]— 6.k.4.7.10.1: Route of Administration (free text) #2-7 —
{/routeCode>
{dosefuantity value="10" unit="G.k. 4. r. 1b’/>
<{l-- 6.k 4.1 12 Dose (number) #2-7 —>
I~ G.k.4.r.1b: Pose (unit) #2-7 —>
<consumable typeCode="C3M"> .
<instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode=" INSTANCE >
<lotNumberText>G k. 4. 7. 7¢/lotNumberText)> . - v
<!= 6.k 4.r.7: Batch / Lot Number fi2—7 —> -
</productInstanceInstance)
<kindOfProduct classCode="MMAT" determinerCode="KIND" )

- . {formCode code=" G.k.4.r,9.2b codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.r.9, 2a">" ' ’ ’

. {{— G.k.4.r.9. 2a: Pharmaceutical Dose Form TernID Version Date / Number #2-7 —
<l— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-7 —>
foriginalText>G. k. 4. r. 9, I1</originalText>
<l-—-'6.k.4.1.9.1: Pharmaceutical Dose Form (free text) #3-7 —>

</fornCode>
</kind0fProduct?
{/instance0fKind> .
{/consumable ’ o, .

(inboundRelatiouship typeCode="REFR"> -
'<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16. 840, 1.113883. 3,989. 2. 1. 1. 19" codeSystemVers1on— 1.17
dlsplayName— parentRouteOfAdmlnlstrat1on />
<value xsi:type="CE” code="G. k% 4 r. 11, Zb codeSystem="2, 16, 840. 1. 113883 3. 989 2, 1 1.14"

codeSystenVersion="G.k 4.r.11. 2a">
’ {I— 6.k 4.7.11.2a: Parent Route of Administration TermID Verslon Date / Number #2-7
—
<}— G.k.4.r.11.2b: Parent Route of Admlnlstratlon TernID #2-7 —>
<originalTextG. k. 4. 1. 1. 1</original Text>
"4l G k4.r 11t Plrent Route. of Administration (free text) #2-7 —>
</value>
</observation®
</inboundRelationship>
{/substanceAdministration?
- </outboundRelationship2>
‘ {outboundRelationship2 typeCode="COMP”>
* <I— G.k.4.r: Dosage and Relevant Information (repeat as necessary) §2-8 —>
{substanceAdministration classCode="SBADM” moodCode="EVN™>
{text>G. k. 4. r. 8¢/ text> p
<!~ G.k.4.r.8: Dosage Text #2-8 —>
{effectiveTime xsiltype="IVL_TS">
<low value="20080101"/>
<l— 6.k 4.r.4: Date and Time of Start of Drug #2-8 —>
{feffectiveTime>
" <routeCode code="G.k, 4.1. 10. 2b” codeSystem— 2, 16. 840. 1. 113883. 3. 980.2,1.1. 14”
codeSystemVersion="G. k. 4. 7. 10. 2a™>
<l— G.k.4.r.10. 2a: Route of Administration TermID Version Date / Number #2-8 —>
<= G. k.4.r.10.2b: Route of Administration TermID #2-8 —>
<originalText>G. k. 4. r. 10, 1<{/originalText>
<!~- 6.k.4.7.10.1: Route of Administration (free text) #2-8 -
</routeCode>
{doseQuantity value="10" unit="6.%. 4.r.1b"/>
{!=- G.k4.1. 12 Dose {(number} #2-8 —>



<!—— G.k. 4.1.1b: Dose (unit) #2-8 ——>
{consumable typeCode="CSM"™>
<instanceOfKind- classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. 1. 7¢/lotNumberText>
<!— G,k 4, r.7: Batch / Lot Number. #2—8 —>
{/productInstanceInstance>
' <kindOfProduct classCode="MMAT" determinerCode="KIND">

o {formCode code="G.k. 4. r.9.2b" codeSystem="TBD-DoseForm”™
codeSystemVersion="G. k. 4.r.9, 2a™> : . A . . )
¢!— G.k 4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-8 —>
{!— G.k.4.r.9.2b! Pharmeceutical Dose Form TermID #2-8 —>
<originalText>G. k. 4. r. 9. 1</originalText>
4l— G.k.4.1.9.1! Pharmaceutical Dose Form (free text) tiz-8 —)
{/formCode>
_ </kind0fProducty
{/instance0fKind>
¢/consumabled

{inboundRelationship typeCode="REFR">
{observation classCode="(BS" moodCode="EVN™>
{code code="28" codeSystem="2.16. 840. 1. 113883.3.980.2. 1. 1. 19" codeSystemVersion="1.1"
displayName= parentRouteOfAdrnlmstratmn 2 ]
{value xsi:type="CE” code- G.k. 4. 1. 11. 2b™ codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystenVersion="G. k. 4.r. 11 2a”> N '
e (I—. G, k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #2-8
.=
('— G k.4 r.11.2b: Parent Route of Administration TermID #2-8 —>
<originalText>G. k. 4 r.11. 1{/originalText>
<l— G.k. 4.7, 11, 1: Parent Route-of Administration (free text) #2-8 —>
</value> ) :
<{/cbservation>
¢/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2> -
CoutboundRelationship? typeCode="COMP” >
{}— G-k.4.1: Dosage and Relevant Information (repeat as necessary) #2-9 —)
{substanceAdministration classCode="SBADM” moodCode— EVN™>
<{text>G. k. 4. r. 8{/text>
<{!— G.k.4.1.B: Dosage Text #2—9 —>
CeffectiveTime xsi:type="IVL_TS">
<high yalue="20080101"/>
{l== G.k.4.1.5: Date and Time of Last Admmstratmn #2-9 —->
{/effectiveTime>
- {routeCode code="G. k. 4. 1. 10 26" codeSysten="2. 16. 840, 1. 113883, 3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4.r. 10. 2a">
{1— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number §2-9 —> |
{1-- G.k.4.1.10,2b: Route of Administration TermID #2-9 —>
{originalText>G. k. 4. r. 10 1</originalText>
¢!— G.k.4.r.10.1: Route of Administration {free text) #2-9 —
{/routeCode .
{doseQuantity value="10" unit="6.k. 4.r. lb’/> I -
¢{]— G.k.4.r. la Dose (number) #2-8 —>
<I— G.k.4.r.1b: Dose {unit) #2-9 —>
<consumable typeCode="CSH">
<instanceOfRind elassCode="INST™>
{productInstanceInstance classCode="MMAT”- determinerCode="INSTANCE™>
{lotNumberTextDG. k. 4. r. 7{/)otNumberText>
{!— G.k 4.1. 7: Batch / Lot Number #2-9 —>
{/productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode=" [(IND > .

¢

“{formCode code="€.k. 4.1.9:2b” codeSysten="TBD-DoseForn”
codeSystenVersion="6.k. 4.r. 9. 2a™> ’ : ) ] . )
a {!-- G.k. 4.1.9.2a! Pharmaceutical Dose Form TermlD Version Date / Number #2-9 —>

“¢l— G.k.4.7.9.2b: Pharmaceutical Dose Form TermID #2-9 —>
{originalText>G. k. 4.1.9. 1{/originalText>
{d— 6.k 4.1.9.1: Pharmaceut1ca1 Dose Form (free text) #2-9 —>

{/formCode> -

{/kindOfProduct>

</instance0fKind> o ,



{/consumable>
<inboundRelationship typeCode="REFR">
{observation classCode="0B5". moodCode— EVN">
{code code="28" codeSystem="2. 16, 840: 1. 113883. 3. 689. 2. 1. 1. 19" codeSystemVersion="1. 17
displayName=" parentRouteOfAdmlnlstrat1on”/>
’ <value xsi:type="CE" code="G. k 4.r 11, 2b” codeSystem— 2.16. 840. 1. 113883, 3. 980. 2. 1. 1. 14"
codeSystemVersion="6. k. 4. r. 11. 2a"> L
) {l== G.k.4.r.11.2a: Parent Route of Administration TermlD Version Date / Number §2-9
-
{!— G.k.4.1. 11.2b: Parent Route of Administration TermID #2-9 — i
SoriginalText>G. k. 4. r. 11, 1<{/originalText> -
== Gk 4r. 11 L: Parent Route of Administratien (free text) #2-9 —>
{/value>
{/observation)
<{/inboundRelationship>
{/substanceAdministration> )
' </outboundRelationship2> ,
{outboundRelationship? typeCode=" COMP™>
<!—'G. k.4 r: Dosage and Relevant Information (repesat as necessary) #2-10 —>
{substanceAdministration classCode— SBADM” moodCode— EVN >
T CtextdG. k. 4. r. 8¢/text>
<l— 6.%4.1. 8 Dosage Text #2—10 —
t ) {effectiveTime xsi:type="IVL_TS" 3
<width value="4" unit="G.k. 4.r.6b"/> .
<{!— 6.k 4. 6a: Duration of Drug Administration (number) #2-10 —> )
<{—— G. % 4 r.6b: Puration of Drug Adm1nlstrat1on {unit) #2—10 _—
{feffectiveTimed
{routeCode code="G. k 4.r. 10, Zb codeSystem— 2. 16. 840, l 113883.3.989. 2. 1.1, 14"
cheSystemVerslon~ Gl 4.r 10.2a"):
<I— G. k. 4.1.10. Za Route of Administration TermID Version Date / Number #2-10 —>
{I-- G.k.4.1.10. 2b: Route of Administration TermID H2-10 —-)
<originalText>G. k. 4.r. 10, 1</or1g1na1Text>
<{l— G.k.4.r.10,I: Route of Administration {(free text) #2-10 —
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r. 1b"/> ~
{!=-= G.k.4.1.1a Dose (number) #2-10 —)
<I— G.k.4.7.1b: Dose (unit) #2-10 —>
<consumable typeCade="CSM™> -
{instanceOfKind classCode="INST">
- {prodictInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G: k. 4. r, 7</1otNunberText>
{l-= G.k.4.1.7: Batch / Lot Number #2-10 —>
{/productInstancelnstance?
<kindOfProduct classCode="MMAT" determinerCode=”KIND’>

. _ <formCode code="G.k.4,r.9.2b" codeSystem="TBD-DoseForn” ’

codeSystenVersion="G. k. 4.r. 9. 2a™>
' : <!|— 6.k 4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-10 -

<!— G. k. 4.1r.9.2b: Pharmaceutical Dose Form TernlD #2-10 —>

<or1g1nalText>G.k.4.r.9.1</ur1g1na1Text>

d— G k4r8.17 %ﬂmmumﬂnme%m(ﬁwtuﬂﬁﬁm—ﬂ
{/formCode> 3
</kind0OfFroduct>
{/instance0fKind>
{/consumable}

<inboundRelaticnship typeCode— REFR">
{observation classCode="DBS” moodCode="EVN">
{code code=" 98" codeSystem— 2.16.840.1. 113883, 3,989.2. 1, 1. 19" codeSystemVersxonu 11"
displayName="] parentRouteOfAdmlnlstratlon Wos
: {value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2.16.840. 1. 113883.3,983.2.1,1. 14"
codeSystemVersion='G;k.4.r.11.23'> ) ) .
. ' {I— G.k.4.r.11.2a: Parent Route of Administration TerwID Version Date / Number #2-10
__) - ‘
- {I=- G.k.4.r.11.2b: Parent Route of Administration TermID #2-10 —>
{originalText>G. k. 4. r. 11. 1(/originalText>
<{I-- 6.k 4.1.11.1: Parent Route of Administraticn (free text) #2-10 —>
<{/value>
<fobservation®
.- . </inboundRelationship>
" {/substanceAdministration>



{/outboundRelationship2>
{outhoundRelationship2 typeCode="SUMM">
{observation classCode="0BS" moodCode="EVN"> iy
{code code="14" codeSystem="2. 16.840.1 113883.3.989.2.1.1.19” codeSystemVers1on— 1.1”
displayName="cumulativePoseToReaction”/>
{value xsi:type="PQ" value="10" unit="G. k. 5b"/> .
¢!-- G.k. 5a‘ Cumulative Dose to First Reaction {number) #2 —>
¢l—"G:k.5b: Cuomulative Dose to First Reaction (unit) #2 —>
- {/observation?
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT">
-{observation classCode="(0BS" moodCode="EVN">
{code code="16" codeSystem— 2.16, 840, 1, 113883, 3, 989.2, 1. 1. 197 codeSYstemVer31on— .17
displayName="gestationPeriod”/>
 <value xsi:type="PQ" value="10" unit="G.k. &b"/>

[ ) " ¢l— 6.k Ba: Gestation Period at Time of Exposure (number) #2 — -
a <!— G.k. 6b: Gestation Period at Time of Exposure (unlt) #2z —
. {/observation>

{/outboundRelationship2>
<outboundRelatidnship2 typeCode="PERT">
<observation classCode="0BS”" moodCode="EVN">
{eode code="31" codeSystem="2. 16. 840, 1. 113883 3.989,2.1. 1. 19 codeSystemVers1on— 1 1
dlsplayName- ~recurranceOfReaction”/> ;
) <value xsi:type="CE” code="G.k.9.i.4" codeSystem="2.16.840,1-113883.3.989.2,1.1,16"
codeSystemVersion="1. 0"/> - :
: {l— G.k, 9.i.4: Did Reaction Recur on Re—administration? Drug #2, Reaction #1 —
<outboundRe1atlunsh1p1 typeCode=" REFR”>
<actReference classCode="UBS” moodCode="EVN">
{id root=" 154ebB89—958b—45f2—a02f—42d4d5f4657f'/) o
{/actReference> :
~ - {/outboundRelationshipl>
{/observation>
~ ¢/outboundRelationship2>
{outboundRelationship2 typeCode="PERT"> .
{observation classCode="0BS" moodCode="EVN"> .
{code code="31" codeSystem— 2.16. 840, 1. 113883, 3. 989, 2. 1 1. 19 codeSystemVers1on— .17
d1splayName- recurrance(fReaction”/>
- {value xsi:type="CE" code="G.k.9.i.4" codeSystem— 2 16 840.1.113883. 3. 989 2.1.1.168%

.

- codeSystemVersion='1.0"/)

<|—— G.%.9.1.4: Did Reaction Recur on Re—adm1n1strat10n? Drug #2, Reaction #2 —>
<{outboundRelationshipl typeCode="REFR">
CactReference classCodef 0BS” moodCode="EVN"3
<id root="2baa28d6-c9e8-4e6c-9329-5b860b3142207/>
%factReference?
{/outboundRelationshipk>
¢/observation®
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR">
<cbservation classCode="085" moodCode="EVN™>
<code code="9" codeSystem="2. 16,840, 1, 113883, 3. 989. 2. 1. 1. 19 codeSystemVer51on— 1.1
displayName=" codedDrugInformat1on "/
{value xsi:type="CE~ code— G.k.10,r" codeSystem— 2.16.840,1.113883.3.989.2. 1. 1. 17
codeSystenVersion="1.0"/>
‘ ¢l~= 6. k. 10.r: Additional Informat1on on Drug (coded)(repeat as necessary) #2-1 =
{/observation>
{/outboundRelationship2>
{puthoundRelationship2 typeCode="REFR™>
{observation classCode="0BS™ moodCode="EVN™>
. <code code="89" codeSystem="2, 16, 840. 1\ 113883. 2,989,2.1. 1,197 codeSystemVer51on‘ .17
dlsplayName— codedDrugInformatlon a2l
wauxmthCEcM&leOrcMﬁw&erSMOlH%%SB%E&JJT
codeSystenVersions”1. 07/
) <l 6.k 10.r: Additional Information ‘on Drug {coded) (repeat as necessary) #2-2'—>
</observationd .
</outboundRelationship2>
{outboundRelationship2 typeCode="REFR">
{observation classCode="0BS" moodCode="EVN">
- {code code="2" codeSystem="2.16. 840. 1. 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="additicnal Information”/> ’




<value xsi:type="ST">C.k. 11</valuep
<l— G.k.11: Additional Information on Drug (free text) #2 -
</observation>
"{/outboundRelationship2>
{inboundRelationship typeCode="RSCN"> : .
{observation classCode="0BS” moodCode="EVN"> . -
. {code code="19" codeSystem=”2.16.84U.1.113883.3.989.2.1.1.19' codeSystemVersion="1.1"
displayName="indication”/> : ‘
<value xsi:type="CE” code=" G k.7.1.2b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVer51on— G.k.7.r.2a™ o :
{1 G.k. 7.1.227 MedDRA Version for Indication #2-1 —>
{I— 6.k 7.r.2b: Indication {(MedDRA.code) -#2-1 -~
{originalText>G. k. 7.T. 1</originalText>
d— 6k T.r.1: Indlcatlnn as Reported by the Primary Source §2- 1 —>
{fvalue>
{performer typeCode="PRF">
CassignedEntity classCode="ASSIGNED”> .
{code code="3" codeSystem— 2. 15. 840. 1. 113883, 3 989.2.1.1.217 codeSystémVersiqn=fl.O”

displayName="sourceReporter”/>
’ </assignedEntity>
</performer>
{/observation>
{/inboundRelationship>
{inboundRelationship typeCode="RSON">
<observation' classCode="0BS" moodCode="EVN">
- {code code="19" codeSystem="2. 16. 840. 1. 113883, 3. 989.2.1.1."19" codeSystemVersion="1.1"
displayName="indication”/>
<value xsi:type="CE" code— Gk 7.1 Zb' codeSystem="2. 16, 840, 1. 113883 6. 1637
codeSystemVersion="G. k. 7. 1. 2a™>
§F—&klnkrm@MVummfuIMannMQ-ﬁ
» ¢l 6.k 7.1.2b: Indication {MedDRA code) #2-2 —>
SoriginalText>G. k. 7. r. 1<{/originalText>
K- Gk 7. 1: Indication as Reported by the Pr1mary Source fi2-2 —>
- <{/value>
, <performer typeCode— PRF >-
{assignedEntity elassCode="ASSIGNED">
{code code="3", codeSystem— 2.16. 840, 1. 113833 3.989.2, 1 1. 217 codeSystenVersion="1. 0*
displayName="sourceReporter”/>
- {/assignedEntity>
" {/performer>
</observation>
{/inboundRelationship?
{inboundRelationship typeCode="CAUS™> .
<act classCode="ACT" moodCode="EVN"> N
{code code="6, k. 8" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2 1.1.15" codeSystemVerslon— 1.0°/>
{l-- 6. k.8: Action(s) Taken with Drug 2 ——>.
{fact>
{/inboundRelationship> ~
{/substanceAdministration’
</component>
{forganizer?
{/subject0f2>
<{subjectOf2 typeCode="SBI™>
{organizer classCode="CATEGURY™ -moodCode="E¥N">
' ] {code code="1" codeSystem‘ 2.16.840.1. 113883. 3.989. 5. 1. 3. 2, 1. 11” codeSystemVersion="1.0"
displayName="{&ER DEE" />
: {component typeCode— COMP™>
{observation classCode="0BS" moodCode="EVN"> :
<code code="7" codeSystem="2, 16, 840. 1. 113883. 3. 989.5.1.3.2.1.10 codeSystemVersion="1.0"
displayName="/5 tHE#" />
<vdlue zsi:type="INT" value="1"/>
o «l— @@aJ2.13.1. 11 EHEE # —
~ </observation>
</component>
{component typeCode="COMP">
{observation tlassCode="0BS" woodCode="EVN™>
: ) {code code="8" codeSystem="2.16. 840, 1. 113883, 3.989. 5. 1. 3. 2. L. 10" codeSystemVersion="1. ("
displayName="%ISI5H" /> :
{value xsi:type="ED">J2.13.r.2¢{/value}



<1— 08072.13.7.2: HRES 1 —
{/observation>
{/component?
<component typeCode="COMP™>
{observation classCode="0B$” moodCode="EVN">
: - <code code="9" codeSystem="2.16. 840, 1. 113883, 3.988. 5.1, 3. 2. L. 10" codeSystemVersion="1.07
-displayName="BAF48"/> )
: <valus xsiitype="CE" code="J2.13.1.3" codeSysten="2. 16. 840. 1. 113883.3.989.5.1.3.2.1.77
codeSystemVersion="1. 0" /> . .
) : {l— @@es2. 13.r.3: Eﬁ%*a #1 —> : - N
{/observation>
-{/component>
{component typeCode="COMP™>
" <observation classCode="0BS” moodCode="EVN">
(mucM&IOcﬁﬁmmw216ﬂ01H%%SQ%&JJJJJOcﬁﬁﬁwﬂumm—lo
dlsplayName—”ﬂﬁ“F@ﬁfﬁ]ﬂ)’ﬁ’m'b
) {value xzsiitype="BL” value="true”/>
‘ : <] @@a]2. 13. r. 4: &%qﬂmﬁ{ﬂoﬁ% #1 -
</observation>
{/component>
) {/organizer?
' {/subject0f2>
(subject0f2 typeCode— SBI">
<organizér classCode="CATEGORY” moodCode="EVYN">
.. . <code code="1" codeSystem="2. 16. 840. 1. 113883, 3. 989.5.1.3.2.1,1L cndeSystemVerslon- 1.0"
. displayName="75%: O#EZ" /> : .
(component typeCode="COMP™>
Cobservation classCode="0BS” moodCode="EVN">
o <code code="7" codeSystem="2. 16, 840. 1. 113883, 3. 989.5.1.3.2,1.10 codeSystenVersion="1. 0"
displayName="J8& HEI#" />
{value zsi:type="INT" value="1"/>
Kl— @8072.13.r. 17 BHHEIE 42 —>
{/observation>
(/compunent)
{compenent typeCode=" COMP >
{cbservation classCode="0BS" moodCode— EVNT>
<code code="8" codeSystem="2. 16, 840. 1. 113883, 3,989, 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
‘displayName="%REH"/> b .
¢value xsi:type="ED">J2.13.r.2¢/value>
¢)— @08J2.13.1.2: HBEHR #2 —
</observation>
{/component>
! {component typeCode="COMP™>
<observation classCode="0BS" moodCode="] EVN >
. {code code="9" codeSystem="2.16. 840. 1. 113883, 3. 989.5.1.3.2.1.10 codeSystemVer51on— 1.0"
displayName="B8%48"/>
{value xsi:type=’CE' code=’]2.}3.r.3’ codeSysten="2. 16. 840, 1. 113883. 3. 989.5.1.3.2. 1.77
codeSystemVersiom="1:0"/>. . n
’ : <l-— @eeyz, 13.r. 3: BARAE #2 —
{/observation> '
</component>
{component typeCode="COMP">
{observation classCode=" 0BS” moodCode="EVN™>
<code code="10" codeSystem="2, 16. 840, 1. 113883. 3. 989.5.1.3.2.1.10 codeSystemVer31ona 1.07
displayName="123E5 OEFOHFE"/>
<value xsi:type="BL” value="false”/>
<|— @@aJ2. 13. 1. 41 BEFDEFIOFE #2 -
{/observation>
{/component>
{/organizer>
{/subject0f2>
</primaryRole> _
{/subjectl>
{component typeCode="COMP™>
{causalityAssessment classCode="0BS" moodCode="EYN">
¢eode code="20" codeSystem="2. 16. 840, 1, 113883, 3.989. 2. L. 1 19" codeSystemVer51on- 1 1"
displayName="interventlonCharacterlzatlon’/)
{value xsi:type="CE” code— G.k. 1" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2, 1. 1. 13"
codeSystemVer31on— 1 o7/ .



{l—~ G.k 1: Characterisation of Drug Role Drug #1 —>
(subject2’ typeCode="SUBJ">
{productUseReference classCode="SBADM™ moodCode="EVN">
<id root='3091b4d5-e039—437&—9c30-67671b0&£9e4”/> -
</productUseReference)
{/subject2>
{/causalityAssessment?
{/component>
{component typeCode— COMP >
{causalityAssessment classCode="OES” muodCode— EYN™ ) :
. {code code="20" codeSystem="2. 16. 840. 1. 113883 3.989.2.1,1. 197 codeSystemVersion=’1.1'
displayName=" 1ntervent10nCharacter1zatlon /> .
{value xsi:type= CE code— 6.k, 17 codeSystem="2. 16. 840. 1 113883, 3. 939 2.1.1.13"
codeSystemVers1on— 1.0°/> . -
. . <I-- 6.k 1: Characterisation of Drug Role Drug #2 —>
(subject2 typeCode="SUBJ">
{productUseReference classCode="SBADM” moodCode— EVN™>
<id root="68d6f5ce—3b3b~45¢7-92dd-60e06730¢3a0" /> :
</productUseReference’
{/subject2>
{/causalityAssessment}
{/component>
<component typeCode="COMP">
(causal1tyAssessment classCode="0BS” moodCode="EVN"> .
<code code="" 39" codeSystem="2. 16. 840, 1. 113883. 3. 989, 2, 1. 1. 19” codeSystenVersion="1, 1”7
displayName="causality” />
{value xsiitype="ST">6. k. 9.1i. 2. r. 3¢/valued
L= 6.k 9.1.2. 1. 3: Result of Assessment Drug #1, React1on #1 Assessment 1 =-->
<methodCode>
<Mwmﬂknm¢ﬂdejqwmmﬂhn>
{l— 6.k 9.i.2.1.2: Method of Assessment Drug #I, Reaction #1, Assessment Hl —
{/methodCode>
<author typeCode="AUT"> ]
{assignedEntity classCode="ASSIGNED"> -
<code> - .
<originalText?G. k. 9. i. 2. 1. 1</originalText> -
U~ 6.k 9.1.2.7.1: Source of Assessment Drug. #1 Reaction #1, Assessment #1 —>
Lfcode> :
{/assignedEntity>’
{/author>
{subjectl typeCode="SUBJ™>
<adverseEffectReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b-45f2-a02f-42d4d6F4657E"/>
{/adverseEffectReference>
</subjectl>
{subject? typeCode="SUBJ">
{productlUseReference classCode="SBADM” mcodCode="EYN">
{id root="3c91b4d5-2039-4a7a-9c30-67671b0ef9%e4” />
{/productUseReference> - y
{/subject2> .o : ' -
{/causalityAssessment>
{/component>
<{component tYpeCode— COMP™>
{causalityAssessment classCode="0BS” moodCode— EVN™>
<code code="39" codeSystem="2. 16, 840. I. 113883, 3. 989. 2. 1. 1, 19" codeSystenVersion="1. 1",
displayName="causality”/> N .
wuuxmtw&Skaﬁijﬁqmm@
{1—6.k.9,1i.2;7.3: Result.of Assessment Drug #1, Réaction #2, Assessment #1 -

-

CmethodCode>

(or1g1na1Text)G.k.9.i.2.r.2</or1g1nalText>

<|——G.k.9.1.2.r.2- Method of Assessment Drug #1, React1on #2, Assessment #1 —>
</methodCode>

<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED">

Lcoder
{originalText>G. k. 9.1. 2. r. 1</original Text?
{l— 6.k 9.i.2.r. 17 Source of Assessment Drug #1, Reactzon #2, Assessment H1 ~>

. /code> i . *
(/aSSLgnedEnt1ty>



</author>
¢subject] typeCode="SUBJ™>
<adverseEffectReference classtode="0BS™ moodCode="EVN">
<id ront=’2baa28d6—c9e8—4eﬁc-9399—5]:85013314220"/)\
{/adverseEffectReference>
{/subjectl>
. {subject? typeCode="SUBJ">
{productllseReference classCode="SBADM" moodCode="EVN">
<id root="3c91b4d5-e039-4a7a~9c30-67671b0ef9ed”/>"
{/productUseReference> -
{/subject2>
</causalityAssessment>
</component>
{component typeCode="COMP*>
<causalityAssessment classCode="0BS” moodCode="EVN">
<code code="39" codeSystem="2. 16. 840. 1. 113883 3 989, 2.1.1. 19" codeSystemVersion="1.1"
displayName=" causallty />
{yalue xsi: type- ~sT >G.k.9.1.2.r.3</va1ue)
<!-G.k.9.1.2.1. 3! Result of Assessment Drug #2, Reaction #2 Assessment #1 —>
<methodCode>
mnmmﬂﬂﬁ&k&L&nKhnmmHﬂﬁ
¢1—G.k.9.1.2.7.2: Method of Assessment Drug #2, Reaction #2, Assessment #1 —>
</nethodCode> )
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED™>
<code>
; . “<originalText>G. k. 9. i. 2. r.-1¢/original Text)
LB G.k.9.i.2.r 1! Source of Assessment Drug #2, Reaction #2, Assessment #1 —>.
{/code> . .,
{/assignedEntity> .
{/author> .
{subjectl typeCode="SUBJ">
LadverseEffectReference classCode="1 DBS moodCode="EYN">
. <id root="2baa28d6-cIeB~ 4eﬁc—93e9—5b8605314220 />
{/adverseEffectReference>
{/subjectl>
<subject2 typeCode="SUBJ">
{productlseReference classCode="SBADM" moodCode="EVN"> .
. Xid root= "68d6f5ce—3b3b—45c7-92dd-69e06730c329”7 />
</productUseReference)
- {/subject2>
{/causalityAssessment>
{/component>
{component typeCode="COMP"> ]
{causalityAssessment classCode="0BS” moodCode="EVN">
<code code="39" codeSystem="2. 16 840, 1. 113883 3,989,2.1,1. 19" codeSystemVersion=”1.lf
dlsplayName~ causality”/> . ’ .
Cvalue xsi:type="ST™>G. k. 9.i.2.r.3</value>
J—G. % 9.4.2.7.3: Result of Assessment Drug #2, Reaction #2, Assessment #2 —>
{methodCode> ,
<originalText>G. k. 9. i. 2. 1. 2¢/originalText>
{1—G. k. 9.i.2.r.2: Method of Assessment Drug #2, Reaction #2 Assessment #2 —_—
{/methodCode>
<author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED™>
<code>
<or1g1na1Text>G.k.9.1.2.r.1</or1g1na1Text)
{I-—6.k9.i.2.1.1: Source of Assessment Drug #2, Reaction #2, Assessment #2 —>
{/code> '
{/assignedEntity>
{/author>
{subjectl typeCode=" SUBJ b
. adverseEffectReference classCode="0BS” moodCode="EVN™>
<id root="2baa28d6-cYe8-4e6c-9329-5b860b3142207 />
{/adverseEffectReference>
{/subjectl>
{subject? typeCode="SUBJ">
<{productlseReference classCode="SBADM” moodCode— EVN™>
{id root="68d6{5ce—3b3b-45c7-92dd-69¢06730c3a9" />



<{/productUseReference>
{/subject2>
<{/causalityAssessment>
</component>
{componentl typeCode=" COMP >
¢observationEvent classCode="0BS” maodCode="EVN"> . .
{code code="10" codeSystem— 2.16, 840.1.113883. 3,989, 2. 1. 1. 19”7 codeSystemVerslon— L1”
displayName="comment” />
: {value xsi:type= ~ED* >H 2</value)
<{!— H.2: Reporter’ s Comments — .
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED™>
<code code="3" codeSystem="2, 16. 840. 1. 113883, 3, 980, 2. 1 1,217 codeSystamVers1un— 1.07
displayName="sourceReporter”/>
{/assignedEntity>
{/author>
{/ohservationEvent>
<{/component]>
{componentl typeCode="COMP”> )
{observationEvent classCode="0BS" moudCode— EVN">
<code code="15" codeSysten="2, 16. 840 1.113883. 3. 989 2.1.1,19" codeSystemVersion="1.1"
displayName="diagnosis”"/> _ . -
. ¢value xsit ttype="CE” code="H. 3.r. 1b” codeSystem— 2. 16, 840, 1. 113883. 6. 163"
codeSystemVers1on— W 3.1.1a" /5
<!— H.3.r.1a: MedDRA Version for Sendér’s Diagnosis / Syndrome and / or Recla551f1cat10n of Reaction /
Event #1 —> |
<!-- M. 3.r.1b" Sender's Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA -
code} #1 —> '
: {atthor typeCode="AUT">
A <assignedEntity classCode="ASSIGNED™> . .
i {code code="1" codeSysten="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 21" codeSystemVersion="1.0"
displayName="sender”/> co .
(/ass1gnedEnt1ty>
* {/fauthor>
</cbservationEvent>
</component1>
{componentl typeCode="COMP™>
{observationEvent classCode="0B5" moodCode="] EVN >
. {code code="15" codeSystem— 2.16.840. 1. 113883 3.989.2.1.1. 19" codeSystemVers1on— 117
displayName="diagnosis”/>
{value xsi:type="CE" code="H. 3.r. 1b" codeSystem— 2. 16 840, 1. 113883. b. 163
codeSystenVersion="i. 3. 1. 1a"/>
<{!=- H.3.r.1a: MedDRA Versien for Sender s Diagnosis / Syndrome and / or Reclassification of React1on /
Event #2 —> -
: ¢} H.3.r.1b: Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event {HedDRA
code) .#2 - -
{author typeCode="AUT">
<assignedEntity classCode="ASSIGNED™>
<code code="1" codeSystem="2. 16. 840. 1 113883.3.989.2. 1. 1. 21 codeSystemVers1on— 1. 0
dlsplayName— sender”/>
{/assignedEntity>
¢/author>
{/observationEvent>
{/component1>
R <componentl typeCode="COMP™>
, {observationEvent classCode="0BS" moodCode— EW™> | . ;
{¢ode code="10" codeSystem="2.16. 840.1.113683.3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment”/>
{value xsi:type="ED">H. 4</valued -
<I-- H.4: Sender’ s Comments —>
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
. . <codé code="1" codeSystem="2. 16. 840. 1. 113883.°3, 989, 2. 1. 1. 21" codeSystemVersion="1.07
displayName="sender”/> . . !
. {/assignedEntity>
{/author>
{/observationEvent>
{/componentl>
<componentl typeCode="COMP">



{observationEvent classCode="0BS” moodCode="EVN">

{code code="3" codeSystem=”2.16.840.1.113883‘3.989.5:1.3;2.1.10'

FETIHTDI2A BN
Cyalue xsi: type- “ED" )JZ 7. 2¢/value>
<!— @gajz, 7.2: %xTLﬁ'é*ézx%/ F=
{/obsgrvationEvent>
{/component]>
. componentl typeCode="COMP"™>
CohservationEvent classCode="0BS” moodCode="EYN">

BREOBREE" />
{value xsi:type="ED">J2. 9</value>
-- g@eT2. 9: BREOMEFE -
{/observationEvent>
{/component1>
<componentl typeCode="COMP™>
<observationEvent classCode="0BS" moodCode="EVN">

. <code code="5" codeSystem- 2.16.840. 1. 113883, 3. 989.5.1.3.2.1.10
LB ORI/
’ Cvalue xsi:type="] ED">J2.10</value>
<I— eearz. 10: 4HOB/E —
‘X/observationEvent>
<{/componentl>
{componentl typeCode="COMP">
{observationEvent classCode="0BS" moodCode="EVN"> :
<code code="6" codeSYstem=72.16.840:l.113833.3.989.5.1.3.2.1.10’
%@‘Hﬂ.@%*ﬁ%’/) . :
{value xsi:type="ED">]2, 11<{/value’
<|— @eajz. 11: ToiheSEEE —
{/observationEvent>
.. &/componentl>
{componentl typeCode="COMP™>
<observationEvent classCode="0BS" moodCode="EVN™>
- - {code code="12" codeSystem="2. 16. 840. 1. 113883, 3,989. 5. 1.3.2.1. 10"
BERETOEL"S . )
<value xsi:type="ED">]J2.16</value>
<1-- ©0872,16: HEMREDER —
{/observationEvent>
</componentl>
. {componentl typeCode="COMP">
<observationEvent. classCode="0BS" moodCode— EVN">
{code code="13" codeSystem="" 2 16, 840..1. 113883. 3. 989.5.1. 3. 2. 1. 10"
wWELS . ' o
(value xsi:type="ED">J2. 19</va1ue>
<[— geajz, 197 HEH1 —
{/observationEvent>
{/component1>
{componentl typeCode— coMp”>
{observationBvent classCode="0B5" moodCode=" EVN b
. . <code code="14" codeSystem="2. 16. 840 1, 113883, 3, 989, 5. 1. 3.2 1L 10
s 2"/ :
<value xsiitype="ED >12.20</value>
. <l— eeayz, 20: £z —
</observationEvent>
{/componentl>
{component] typeCode="COMP™>
{observationEvent classCode="0BS" moodCode="EVN">
‘ {code code="15" codeSystem?”Z.16.840.1.113883:3.989.5.1;3.2.1.10'
#Z37/ - : :
<{value xsi:type="ED">]J2.21<{/value>
<!— geayz.21: FE3I —
{/observationEvent>
</component1>
{componentl typeCode~ COMP™> ]
CobservationEvent classCode="0BS” moodCode="EVN">
<code code="16" codeSystem="2. 16. 840. 1. 113883. 3. 989.5.1.3. 2. 1. 107
HEZE 4"/

{value. xsi:type="ED">J2. 22<{/value
<l— egajz. 22: =4 —>

@Mem®—4cMﬁnWWZlBMO1H%%39@£J$iJJO

codeSystemVersion="1. 0

codeSy;temVersion=”l.0ﬁ displayName="

codeSystemVersion="1, 0" displayName="

»

displayName="

codeSystenVersion="1. 0" displayName="

codeSystemVersion="1, 0" displayName="

codeSystenVersion="1. 0" displayNameé'-

>

codeSystenVersion="1.¢" displayName="

codESQStemVersiun='1.0' displayName="

codeSystemVersion="1. 0" displayName="



</observationEvent>

{/component1>
{/adverseEventAssessment>
{/component> o
{componeht typeCode="COMP“>
‘ {observationEvent classCode="0BS" moodCode="] EVN™>

{code code="1" codeSystem="2.16. 840. 1. 113883 '3.989.2, 1. 1. 19" codeSystemVersion="1. 1"
d1splayName— add1t1onalDocumentsAva1lab1e f2
¥ ¢value xsi: type="BL" value="true”/>
<I—— C.1.6.1: Are Add1t1ona1 Documents Available? —>
{/observationEvent>
{/component) ,
{component typeCode=" COMP >
{observationEvent classCode="0BS" moodCode="EVAN"> - o
<code code="23" codeSyster="2. 16. 840. 1. 113883. 3.989. 2, 1. 1. 19" codeSystemVersion="1;1"
displayName="localCriteriaForExpedited”/> :
{value xsi:type="BL” value="true”/> ..
<}= C.1.7: Does This Case Fulfil the-Local Criteria for ah Exped1ted Report? —>-
{/ebservationEvent>
</component>
{component typeCode=" COMP )
{observationBvent classCode="0BS" mooande— EWN™>
{code code="36" codeSystem="2. 16.840. 1. 113883. 3. 980, 2.1.1.19" codeSystemVersion="1. 1
displayName="summaryAndComment”/>
<value xsi:type="ED” language="H.S5.r. Ib™>H. 5.r. 1ad/valued
{I— H.5.r. la: Case Sumipary-and Reporter’s Comments Text #1 —>
<— H.5.r.1b: Case Summary and Reporter’s Comments Language #1 —>
<author typeCode="AUT">
{assignedEntity clasande— ASSIGNED™> )
{code code="2" codeSystem="2, 16. 840: 1. 113883 3. 989 2.1.1. 21 codeSystemVersion="1, 0"
dlsplayName— reporter s
</ass1gnedEnt1ty>
</author>
{/chservationEvent>
{/component>
{component typeCode="COMP”").
<observationEvent classCode="0BS” moodCode="EVN™>
<code code="36" codeSystem="2. 16. 840. 1, 113883. 3. 989. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="summaryAndComment”/>
<value xsi:type="ED” language="H.5.r. Ib">H, 5. r. 1a¢/value> )
{l— H.5.r.1a: Case Summary and Reporter’s Comments Text #2 —>
{I— H.5.r. 1b: Case Summary and Reportér’s Comments Language #2 —
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED™>
{code code="2" codeSysten="2. 16, 840, 1. 113883, 3. 989, 2. 1. 1: 21 codeSystemVersion=" l 0"
displayName="reporter”/> .
{/assignedEntity}
{/author>®
{/observationEvent> ) )
{/component> ° . .
<outboundRelationship typeCode="SPRT">
{relatedInvestigation classCode="INVSTG” moodCode= EVN >
{code code="1" codeSystem="2.16.840. 1 113883, 3.989. = 1. 1. 22" codeSystemVer51on— 1.0°
displayName="initialReport”/>
<{subject0f2 typeCode="SUB]"> _
{controlActBvent classCode=~"CACT” moodCode="EVN">
{author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED™>
{code code="C, 1.8.2" codeSystem="2. 16. 840, 1. 113883. 3. 989 2.1.1.% codeSystemVers1on- 1.0/
<l— C.1.8.2: First Sender of This Case —>-
{/assignedEntity>
{/author>
{/controlActEvent>
{/subject0f2>
{/relatedInvestigation>
</outboundRelationship>
{outboundRelationship typeCode="SPRT">
<relatedInvestigation classCode="INVSTG” moodCode- EVN™>
<code nullFlavor="NA"/>



{subject0f2 typeCode="SUBJ">
{controldctEvent classCode="CACT” moodCode="EVN">
<id extension="C.1.10.1" root="2.16. 840. 1. 113883. 3. 989.2.1. 3, 2"/>
{}— G.1.10.r: Identification Mumber of the Report Which Is Linked to This Report (repeat as necessary)
#1 —> ' . -
{/controlActEvent>
{/subject0f2>
{/relatedInvestigation>
</outhoundRelationship>
{outhoundRelationship typeCode="SPRT">
<relatedInvestigation classCode=" INVSTG moodCode— EVN™>
“¢eode nullFlaver="NA"/>
(subJectOfZ typeCode="SUB] ">
{controlActEvent classCode="CACT” moodCode=" EVN >
{id extension="C.1.10.r" root="2. 16.840. 1, 113883.3.989.2.1.3.2"/>
<l-- C.1.10.r: Identification Number of the Report Whlch Is Linked to th1s Report (repeat as necessary)
#2 —>
</controlActEvent>
{/subject0f2>
R {/relatedInvestigation>
{/outboundRelationship>
' CoutboundRelationship typeCode— SPRT™>
{priorityNumber value="1"/>
<!—C.2.r.5: Primary Source for Regulatory Purposes fl —>
{relatedInvestigation classCode="INVSTG” moodCode="EVN™> ) B
{code code="2" codeSystem="2, 16, 840. 1. 113883. 3. 989. 2, 1. 1. 22" codeSystemVersion="1. 0"
displayName="sourceReport”/> ' T : .
{stubject0f2 typeCode="SUR]"> -
' {contrelActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT">
<assignedEntity classCode— ASSIGNED >
<addr> .
{streetiAddressLine>C. 2. 1. 2 3</streetAddressL1ne>
<!— C.2.r.2.3: Reporter’s Street #l —>
{eity>C. 2.1. 2. 4</city>
* {l~= C.2.1.2.4: Reporter's City #1 -
{state)C, 2. 1. 2. 5¢/stated
<]—C.2.r.2.5: Reporter’' s State or Province #1 —>
_ {postalCode>C, 2. 1. 2. 6¢/postalCode>
<]— €, 2.r.2.6: Reporter's Posteode #1 —>
</addr>
{telecom value="tel:C. 2.1.2.7"/> .
¢!=— C.2.1.2.7: Reporter’s Telephone #1 —>
<assignedPerson classCode="PSN" determinerCode="INSTANCE” >

<named
<{prefix»C.2.r. 1. 1</pref1x) : N
I—C.2.r, 1.1 Reporter’s Title #1 —~>

<given>C. 2.1. 1. 2{/given>
<!-—- C.2.r.1.2: Reporter’s Given Name #1 —>
{given>L, 2. r. 1. 3</given> o
{!l-—- C.2.r.1.3: Reporter' s Middle Name #1 —>
{family>C. 2. r. 1. 4</family>
{l= C.2.1r.1.4: Reporter’ s Family Neame 1 —>
{/name>
(asQua11f1edEnt1ty classCode="QUAL">
{code code="C.2.r.4" codeSystem="Z. 16, 840. L 113883. 3.989.2.1. 1. 67 codeSystemVersion="1.0"/>"
<l— C.2.r.4: Qualification 81 —> :
</asQualifiedEntity>

{asLocatedEntity classCode="LOCE">

<location classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="C.2.1.3” codeSysten="1.0, 3166. 1. 2.2"/>
{— C.2,1.3' Reporter’s Country Code HI -=>

{/location> )

{/asLocatedEntity> - ’ ' ’ .
{/assignedPerson> : .
<representedOrganization classCode="ORG” determinerCode="INSTANCE">

<name>C. 2. r. 2. 2{/name>

<!-- €. 2.1.2.27 Reporter’s Department #1 ~=> |

{assignedEntity classCode="ASSIGNED™>



LrepresentedOrganization classCode="0RG” determimerCode="INSTANCE">
<name>C. 2. r. 2. 1{/nane>
<l— C.2.r,2.1: Reporter's Organisation 1 ——>
</representedirganization?
{/assignedEntity>
{/represented0rganization) -
{/assignedEntity>
{/author>
{/controlActEvent)
</subject0f2>
{/relatedInvestigation>
</outboundRelationship>
"CoutboundRelationship typeCode="SPRT"> .
<relatedInvestigation classCode="INVSTG* moodCode="EVN"> '
{code code="2" codeSystem="2. 16, 840. 1. 113883. 3. 989 2.1.1.22" codeSystenVersion="1. 0"
displayName="sourceReport”/> . .
<{subjectQf2 typeCode="SUB]">
<controlActEvent classCode="CACT" moodCode‘ BEVN">
" " <author typeCode="AUT">
<assignedEntity classCode=" ASSIGNED™>
<addr>
{streetAddressLine>C. 2.r. 2. 3(/streetAddressL1ne)
<l— C.2.r.2.3: Reporter’s Street #2 - :
<city>C. 2. 1. 2. 4</city>
<I— C.2.r, 2.4 Reporter’s City #2 —
{statedC. 2. 1. 2. 5¢/stated
<[ C.2.r.2.5: Reporter’s State or Province #2 > _
<postalCode>C. 2. r. 2. 6{/postalCode>
<J—c2r2.8: Reporter s Postcode #2 =-=>
{/addr>
<telecom value="tel:C.2.x. 2. 7"/>
{I-= C.2:1.2.'T: Reporter’ s Telephone #2 —> .
{assignedPerson classCode="PSN™ determinerCode=" INSTANCE >
<hame>
<prefix>C. 2. 1. 1. 1{/prefix> .
<1— C 2.1.1.1: Reporter's Title #2 -
<given>C. 2. r. 1. 2{/given>
<I-- C.2.r.1.2: Reporter's Given Name #2 —>
- Lgiven>C, 2. 1. 1. 3{/givend
- <l=— C.2.1r.1.3: Reporter’ s Middle Name #2 —>
© Lfamily>C.Z.r. 1. 4/Fanily>
<{l=~ C.2.7.1,4: Reporter’s Family Name #2 -—>
{/name>
<asQualifiedEntity classCode—'QUAL >

<code code="C.2.r, 4" codeSystem="2. 16, 840. 1. 112883. 3. 989, 2, 1. 1. 6" codeSystemVersion="1.0"/>

|~ C.2.r.4: Qualification #2 —>
</asQuallf1edEnt1ty)
<asLocatedEntity classCode="LOCE"> .
<location classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="C.2.r.3" codeSysten="1.0.3166.1.2.2°/>
{l=~ C.2.r.3: Reporter’ s Country Code #2 —>
{/location>
{/asLocatedEntity>
{/assignedPerson> - ’
{representedirganization classCode— ORG determinerCode=" INSTANCE >
<name>C. 2. r. 2, 2{/name> .
{!— C.2.r.2.2: Reporter’ s Department §2 —> '
{assipnedEntity classCode="ASSIGNED"> o
<representedOrganization classCode="0RG” determinerCode="INSTANCE™>
<name>C. 2. r. 2. 1{/name> .
<l-= C.2.r. 2,1 Reporter’s Organisation #2 —>
{/representeddrganization’
{/assignedEntity> -
</represented0rgan1zat10n> ) R
‘{/assignedEntity>
{/author>
{/controlActEvent?
{/subject0f2>
{/relatedInvestigation



- Ln

{/outboundRelationship>
{subjectOfl typeCode="SUBJ]">
<controlActEvent classCode="CACT” moodCode="EVN">
<author fypeCode="AUT"Y
{assignedEntity classCode="ASSIGNED™>
<code code="C.3.1° codeSystem="2. 16. 840. 1. 113883, 3. 989. 2 1.1.77 .codeSystemVersion="1. 0" />
{l-=-C.3.1: Sender Type ——) .
addr>,
<streetAddressL1ne>C 3.4, 1<fstreetAddressL1ne>
{}— C.3.4.1: Sender’ s Street Address >
{eity>C. 3. 4, 2¢/city>
§le= C.3.4.2: Sender’s City —>
{state>C. 3. 4. 3{/stated
{l=~C.3.4.3: Sender’s State or Province —>
{postalCode>C. 3. 4. 4¢/postalCode>
<{l— C.3.4.4: Sender’ s Postcode —>
{/addr>
<telecom value="tel:C.3.4.6"/>
¢l— C.3.4.6: Sender’ s Telephone —>
{télecom value="Tax:C.3.4.7"/>
<{I— €.3.4.7: Sender’s Fax -2
Ctelecom value="mailto:C.3.4.87/>
{1— €.3.4.8: Sender’s E-mail Address —>
<assignedPerson classCode— PSN” determ1nerCode— INSTANCE™>
<{name>
<pref11)C.3.3.2</prefix> )
<]— €.3.3.2: Sender's Title —
{given>C. 3. 3. 3</given> *
¢l~= £.8.3.3: Sender’s Given Name =~
{given>C. 3. 3. 4{/given>
I~ C.3.3.4: Sender's Middle Name —> -
<{family>C. 3. 3, 5</family>
€1—'C. 3.3.5: Sender's Family Name —>
. </name> . ’ . -
¢asLocatedEntity classCode="LOCE™> . '
: <location classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="C.3.4.5" codeSystem="1.0.3166,1.2, 2"/>
{l— . 3.4.5: Sender’s Country Code —->
{/location> . .
</asLocatedEnt1ty> N
{/assignedPerson> - ’ ' - ’
{represented0rganization classCode="0RG" determlnerCode- INSTANCE »
<name>C. 3. 3. 1{/name> .
<!— C.3.3.1: Sender's Department —>
<assignedEntity classCode="ASSIGNED™>
{representedOrganization classCode="ORG" determinerCode=" INSTANCE >
" {namedC. 3. 2¢/name>
{l— C.3.2: Sender’s Organisation —>
¢/representedOrganization® "
{/assignedEntity>
{/represented0rganization> -
<{/assignedBEntity>
{/author>
<primaryinformationRecipient typeCnde— PRCE™>
{assignedBntity classCode="ASSIGNED™> e
<assignedPerson classCode="PSN” determinerCode=" INSTANCE >
{name>
<prefixyJa 18, 2¢/prefixd
<!— 08@J2.18.2: E{EH . FEE
“¢Family>J2, 18. 3¢/family>
¢!— 00@]2.18. 3: Z{FH ¥
{given>J2. 18. 4{/given> .
<l-- @0AJ2.18.4: EEL £ — . ’

Y

“</name>

{/assignedPerson>

{representedOrganization classCode=’0RG' determinerCode="TINSTANCE™>
<name}J2. 18. 1{/name> -

<l— 0@8J2.18. 1 FFH ML —

{/representedOdrganization>



{/assignedEntity>
{/primaryInformationRecipient)
</controlActBvent)
</subject0f1> ) i .
¢subjectOfl typeCode="SUB]"> .
{controlActEvent classCode="CACT" moodCode="EVN">

<id asslgn1ngAuthor1tyName— € 1.9.1.r. 1" extension="C.1.9. 1.r. 2" reot="2. 16. 840. 1. 113883. 3. 089. 2. 1. 3.375
{I—C L9.1Lr1: Source(s) of the Case Identifier (repeat as necessary) #1 —>
¢<l— C.1.9.1.r 2 Case Identlfler(s) #1 >
</controlictEvent>
</subjectOfi>

{subjectOfl typeCode="" SUBJ > ) )
{controlActEvent classCode="CACT” moodCode="EYN">

<id assigningAuthorityName="C.1.9.1.r.1" extension=" C.1.9.1.r.2 root="2.16. 840. 1. 113883, 3.989.2.1.3.3"/>
d— € 1.9.1.1. 1! Source(s) of the Case Identifier (repeat as necessary) #2 —>
<{}— C.1.9.1.1.2 Case Identifier (s) #2 —

- 4/controlActEvent> . .

{/subject0f1> ot

{subject0f2. typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 23" codeSystemVersion='1.0'
displayName="1ichReportType”/> ’ .
{value xsiitype="CE" code="C.1.3" codeSystem— 2.16.840,1.113883. 3. 989, 2. 1. 1. 2" codeSystenmVersion="1.0"/> -
¢l— C.1.3 Type of Report —> .
</investigationCharacteristic)
{/subject0f2> .
{subject(f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN™>
<code code="2" codeSystem="2. 16. 840. 1, 113883, 3, 989. 2.1 1. 23~ codeSystemVerslon— 1.0
displayName="otherCaselds”/>
- {value xsi:type="BL” value="true />
<1— C.1.8.1 Other Case Identifiers in Prev1nus Transmlss1ons -—>
</1nvest1gatlonCharacter1st1c>
{/subjectOf2>
{subjectOf2 typeCode="SUB]"> - :
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2 1.1. 23" codeSystemVersion=" Lo”
displayName="nullificationAnendrentCode”/>
<value xsi:type="CE” code="C.1,11.1" codeSystem="2. 16. 840. 1. 113883 3.989.2.1.1.57 codeSystemVers1on- .07,
<{J— C.1.11.1: Report Nullification / Amendment —>
{/investigationCharacteristic)-
{/subject0f2>
(subjectDf2 typeCode— SUBJ">
<1nvest1gat10nCharacterlst1c classCode="0BS" moodCode="EVN" >
{code code="4" codeSystem="2.16.840: 1. 113883. 3. 980, 2. 1. 1. 23* codeSystemVers1on— 1. 0
dlsplayNa-e- nullificationAmendmentReason”/>
<value xsi:type="CE™>
CoriginalText>C. 1. 11, 2</originalText>
<{}— €.1.11.2: Reason for Nullification /' Amendment —->
{/valued -
{/investigationCharacteristic>
<{/subjectOf2>
{subject0f2 typeCode="SUBJ">
(1nvest1gat1onCharacter13t1c classCode="0BS" mondCode— EWN™>

{code code="1" codeSystem=" 2.16.840.1.113883.3.989.5.1.3.2.1.12’ codeSystemVersion="1. 0" displayName="8%5!]
H5E (@Ea8 S
<value xsi:type="CE” code="]2. 1a? codeSystem— 2. 186, 840. 1 113883 3. 989.5.1.3.2.1.1

codeSystemVersion="1. 0“/>
<I— 988J2. la: ERBIES (MELE) —

{/investigationCharacteristic)

{/subject0f2> )
{subjectOf2 typeCode="SUBJ"> ,
(investigationCharacteristie classCode="0BS" moodCode=" BVN"> ’
{code code="2" codeSysten="2. 16.840.1.113883,3.0989.5.1.3.2.1.127 codeSystemVers1on— 1.07 dlsplayName~’$ﬁ‘h
eEAS.

{value xsi:type="TS" value="20130107"/>
<l— @eeJ2.2.1: BMEEEA —
{/investigationCharacteristicy
{/subject0f2>

.



<{subject0f2 typeCode="SUBJ">
¢investigationCharacteristic classCodé="0BS" moodCode="EVN™>
{code code="3" codeSystem— 2.16.840.1.113883. 3. 989.5.1.3.2.1.12 codeSystenVersion="1.0" displayName="4f1%
BEERIETAaAL M .
<value xsi:type="ED">J2. 2. 2¢/valued
<l— @eajz. 2. 2: ﬂ’*ﬁﬁakﬁé?ésx ¥k
.- {/investigationCharacteristic>
{/subject0f2>
--{subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="08S" moodCode="EVN">
<code code="4" codeSystem="2. 16.840. 1. 113883, 3.980.5,1.3. 2. 1. 12" codeSystemVersion="1.0" displayName="B[IFF
WEZTI ) ) ; ' '
<yalue xsi:type="CE” code="J2.3" codeSystem="2.16,840.1. 113883.3.989.5.1.3.2.1.2" codeSystemVersion="1.0"/>
<|— geaJ2. 3: AIERR&E 7SS —> :
{/investigationCharacteristic>
{/subject0f2>
<subJect0f2 typeCode— SUBJ">
{investigationCharacteristic classCode="0BS" moodCode="EVN"> i ’ . :
<code code="5" codeSystem="2.16.840.1.113883. 3.989.5.1.3.2. 1,127 codeSystemVersion='l.0"displayName='$E§§

o Ly S b

{value xsi:type="CE" code="J2.8.1" w@&ﬂm—2w8wllm%31%&5L&ZLF
codeSystemVer51on— .07/ .
<)— @@eJz.8.1: BEHNBANTTS —
¢/investigationCharacteristic> |
</subject0f2>
' <subjectOf2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN"> . .
! <code code="6" codeSystem="2. 16. 840. 1. 113883.3.989.5.1.3.2.1. 12" codeSystemVersion="1.0" displayName="3%
#HBA OB/ . C
<value xsi:type="ED">J2.8.2<{/value’>
<l— @geJ2.8.2: WMEMBAOES —>
</1nvest1gatlonCharacter1stlc)
</subject0f2>
¢/investigationEvent>
{/subject?
{/controlActProcess>
</PORR_INO48016UV>
¢1— Message #I —>
¢{l— Message #2 —>
. <1— PORR_INC49016UV —>
<1— /PORR_INO4Q016UV —>
{]— Message #2 —>
<receiver typeCode="RCV"»
{device classCode="DEV” determinerCode="INSTANCE™>
¢id extension="N.1.4” root="2. 16.840. 1. 113883, 3, 989.2.1.3, 14"/>
¢]— N.1.4: Batch Receiver Identifier —>
{/device>
{/receiver>
<sender typeCode="SND'">
{device classCode="DEV" determinerCode=" INSTANCE > .
<id extension="N.1.3” root="2.16.840.1.113883,3.989.2.1.5.18"/> . . )
¢l—— N.1.3: Batch Sender Identifier ——>
{/device> .
{/sender> ) . '
<{/MCCI_IN200100UV01>



